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1.1

(data)
(numerical data) (non-numerical data)

(data element)
(data item)

(data structure)
(logical structure)



B020401Q1
B02040102
B02040103
B02040104
11
D (se)
2 (linear) (sequence)
©) (tree)
(4) (graph)
12

@ (b)

© (C))

1 2
@ (b) © (d)

(linear structure)
(non-linear structure) e
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(storage structure)

¢ )

(sequential) (linked)
(contiguous)

(20, a1, @, &) 100
2 1 3@
1 3
Loc(a) 102 2k 11
1 1 &
(node) 1 3(b) (20, &, @, )
(successor)
(link)
10
%
1
A first
10 [ | | | |
3 a 3
N ||||||||||_i_
3
@ ®
1 3
(3 (b)
(b) ( )

(index) (hash)



(operation) (algorithm)
1.2

(abstraction)

(data abstraction)

(procedual abstraction)

(encapsulation)

(information hiding)
(module)
(interface)
(functions) (blackbox)
(client)

(array) (structure) C
int list[5] 5 0O 4
struct student{

int student_id;

char name[20];

char sex;

int age;



(data type)
(
int
32768 32767 + * [ O < > <= >= == |I=
= 1 4 int ( )
int
32768 32767
* %
!
16
1 4 C int
( )
ADT(abstract data type)
C int int
C++ (class) C
(specification)

(implementation)



1.3
11
ADT
ADT ADT ADT
C (function prototype)
(precondition) (postcondition)
C
C
Complex
Complex ADT Complex ADT 1 1
Complex )
X y (Comp) (Add) (Sub)  (Mul) (Div)
ADT1 1 Complex{
xy) X y

a(a a) b=(by by

Complex Comp(float x float y)
: xy)
Complex Add(Complex a Complex b)

(ag+by  apthy)
Complex Sub(Complex a Complex b)

(b &by
Complex Mul(Complex a Complex b)



(agbi-aph,  abi+ahy)
Complex Div(Complex a Complex b)
b 0

((adby+aphy)/(by+0,))  (aghy-auby)/(by*+by?))

}
(  ADT)
C C
C ( )
C
C
()
C
C Complex typedef Complex
Complex  complex complex
ADT
Add
ADT 11

11 Complex
#include <stdio.h>
#include <stdlib.h>
typedef struct complex
{
float x, v;
}Complex;
Complex Comp(float x float y)

{
Complex c;
C.X=X; CY=Y;
return c;
}
Complex Add (Complex a Complex b)
{
Complex c;

c.x=ax+b.x;



c.y=ay+b.y;
return c;

ADT
1 2 1 2 void PrintComplex(Complex a)
ADT1 1
1 2
void PrintComplex(Complex a)
{
printf("ax=%f, a.y=%f \n", a.x, a.y);
}
void main( )
{
Complex a, b, c;
a=Comp(1.0f, 2.0f); b=Comp(3.0f, 4.0f);
c=Add(a, b);
PrintComplex(a); PrintComplex(b);
PrintComplex(c);

ADT

(genericADT)
ADT

1.4

14.1

(algorithm)

D (input)

@) (outpur)

(3) (definite)
4 (effective)

5) (terminate)



C
(D] (correctness)
2 (simplicity)
3 (robustness)

4 (effeciency)

1.4.2
(time complexity)
(instance)
(characteristics)
(size) ( )
100
10 000
( )
( ) (priori analysis)

(posterori testing)

(program step)
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n
count++
n( )
1 3
float Sum(float list[] int n)
{
float tempsum=0.0;
count ++;
for (int i=0; i<n; i++ ){
count ++
tempsum += list[i];
count ++;
}
count ++;
count ++;
return tempsum;
}
1 4
1 4
float RSum(float list[] int n)
{
count ++;
if (n){
count ++; I*
return RSum(list, n—1)+list[n—1];
}
count++;
return O
}
n=0
if return 2
return
RSum T(n)

2 (n=0)
W= th-1 (>0

list

2n

/*

1* for

RSum

/*

(

1 3)
count

/*

for

/*

return

I* if

return

return

(1

*/

*/

*/

*/

*/



T(n) 2+T(n 1)
2+2+T(n 2)
2+2+2+T(n  3)

2+n+T(0)
2%nt2
1 4 count++
1 4 2+ 12 13 2+n+3
return tempsum;
return RSum(list, n  1)+listfn  1];
1.4.3
f(n) o) n C N
n=> ny f(n)< cg(n) f(nN)=0O(g(n)) 0] (bit-Oh notation)
O O(g(n)
g(n)
T(n)= 36n° + 25 n® + 2.8
T(n)=0(n°) T(n)=0(n% T(n)=3.6n>+25n?+2.8
0] (asymptotic
compl exity) o
f(N=amn™+an " +--+anta m f(nN)=0(n™)
ne=1 N> no
f(n)= ann™am 1" M ranta
< Janin™Ham 1n™ - +Hagn+agl
< (lanttlam af/nt---+aghn™ + fagn™)n™
< (lanl+lam al+---+eagl+lao)n™
C=laml+lam 1l - +lal+[aol
O(1) O(logzn) O(n) O(nlbn)™ O(M?») O(n’)
o)
1 3 1 4 o(n) o(2n 3)=0(n)
® 1bn logon
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O(2n+2)=0(n)

( )
1 3 tempsum+=list[i]
n O(n)
15 nxn
T(n)=2n*+3n’*+2n+1 1 3
cli][j]+=a[i] [k]*blK][] n’
o(n’)
15
for(i=0; i<n; i++) * n+tl */
for(j=0; j<n; j++){ 1% n(n+1) */
dilfil=o; Pn? %
for(k=0; k<n; k++) 1 n(n+1) */
cli][jl+=ali][k]«b[K][il; o
}
144
n
(best case) (worst
case)
n/2
(average case)
15
1.45
(space complexity)
D (fixed space requirement)
2 (variable space requirement)

100 10
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ADT

ADT

int

N M < IO O© ™~

L I B B B B B |

ADT

ADT

1 10

ADT

1

ADT

ADT1 1 Complex

12
13
14
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19



14

(1) i=1; k=0;
do{
K=K+10xi; i++;
} while(i<=n-1)
(2) i=1; x=0;
dof
X++; 1=2xi;
} whilei<n;
(3) for(inti=1; i<=n; i++)
for(int j=1; j<=i; j++)
for (int k=1; k<=j; k++)  x++;
(4) x=n; y=0;
while(x>=(y+1)«(y+1)) y++;
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C
ADT
4 ADT ADT C
2.1
2.1.1
(structure) C
( record) (collection)
struct student
{
char name[20];
char sex;
int age;
}
struct student
struct student studA; studA “ w
strepy(studA.name, "Wang'"); I */

studA.age=19;
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studA.sex="M";

ANSI C

C
Student

typedef struct student

{
char name[20];
char sex;
int age;
} Student
student

2.1.2

(union)

union u_tag {
intival;
float fval;
char chval;

union u_tag

struct {

char name[20];

int flags;

int utype;

union {
intival;
float fval;
char chval;

Student studA;

typedef

int Student

Struct

unionu taga b;
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Hu;
} symtab [maxsize];
ival symtab[i].u.iva
typedef

typedef union u_tag {

intiva;

float fval;

char chval;
} Constval

2.2

(array)

(static data structures)

(dynamic data structures)

()
(index) (field name)

2.2.1
(one-dimensional array)
int onel5]; 5

int ong[5]={0, 1, 2, 3, 4};

for (i=0; i<5; i++) ondi]=i;

n a Loc(g[0])

K i ai] Loc(e[i])
Loc(a[i])= Loc(a[0])+i*k 0<i n

2.2.2

(two-dimensional array)

(CY

(row mgjor order) (column major order) Pascal Basc C C++
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Fortran
m n amj[n] k a[0][0]
Loc(a[0][0]) a][j] Loc(di][j])
Loc(a[i][il)=Loc(a[Q][O])+(i*n+j)xk  O<i m;0<j n 2 2
Loc(a[0][0]) (base address)
(random access storage structure)
2 1 a
a[0] [0] T a[0] [O] T
a[0] [1] o a[1] [0] o
a[0] [n 1] a[m 1] [O]
a[1] [0] alO0] [1]
a[l1][1] a[1] [1]
1 1
a[l][n 1] i a[m 1][1] i
alm 1] [0] T a0 [n 1] T
am 1] [1] m 1 a1] [n 1] 01
am 1] [n 1] l am 1] [n 1] l
@ (b)
2 1
@ (b)
a 3 4
static int a[3][4]={{1}, {0, 6}, {0, O, 11} };
0 a
@ 0 0 oO»
96 0 0
M 0 11 Of
a
typedef a

typedef int atype[ 3][4];
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aypea={{1} {0 6 {0 0 11}};

typedef int atypel[4];
typedef atypel atype2[3];
atype2a={{1} {0 6} {0 0 11}};

2.2.3
n a
m M m, k ( )
alig][iz]  [inl

Loc(@ig][iz] [in])=Loc(a[0] [O])+
(Iiempxmgx  *MytizxMgxMyx  *My+ +ip Myt *K

n-1 n
Loc(a[0] [0 i * i)k 2 3
oc(a[0] [])+((JZ(IJ k|:J_Lmk))+l) 2 3
C
5 a a 3] 4d7]
2.3
( ) C
C
2.3.1
1

C (pointer) (link) (reference) C
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[
inti,*pi;

c

operator)&

2

C

(

int*p &

(1)
(2)

inti, *pi;
pi=&i;

i=5;
printf("%d
*pi=10;
printf("%d "

)

*(at+3)=7;, *(pt3)=7;

J*
I* i

I* i

254

(address

pi */
)pi *1
5%/
*/
10*/
10*/

NULL
pi

g0

a1]

a2]

a3

a4

—0°C
pi
T
(dereferencing operator) *
/*
/*
i);
I* pi
*pi);
5 10
NULL
2 2
i
pi &i 254
pi i
pi i
pi i
2 2
C
a int a>5;
int *p=&a[0]; 2 3
a[0]
a3]=7;
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5
*(p+ti) 0 1 2 3 4
*(oneti) 2 3 4 5 6

f 2

2 1
int one[5]=(0, 1, 2, 3, 4};
void f( int xp, int n)
{
inti;
printf("\n« (p+H) ");
for (i=0; i<n; i++){
printf("%d
* (pH)+=2;

" x (pH));

}
void main()
{
inti;
f(one, 5);
printf("\nx (one+i) \n");
for (i=0; i<5; i++)

printf("%d ", % (oneti));

struct node{
int Data;
struct node* Link;

Link struct node

main f f

main one

one
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(self-referential structure)

struct node *p

typedef struct node * Nodeptr;

typedef struct node{
int Data;
Nodeptr Link;
}Node;
Node(node )
Nodeptr
4,
C (static variable)
C static
C static

(dynamic memory allocation)

typedef

(dynamic variable)

C (heap)
C malloc  free
p=(Node*)mall oc(si zeof (Node));
if 1IS_FULL(p)){
fprintf(stderr, "The memeny is full\n");
exit(1);
}
IS FULL(p) #define 1S_FULL(ptr) (!(ptr)) stderr
exit(1); Node
p p sizeof Node
malloc NULL
free(p)
free p
2 2 2 4a y p ¢
y 126 malloc
C p free y
free free y ( 2 4(b))
2 4



2 2
void main()
{
char c='q;
char xp=&c;
int sxy;
y=(int *)malloc(sizeof(int));
+*y=10;
printf("\n%d, %c", %y, *p);

scanf("%c", &¢);

}
y
pl:l char *p; :l int*y;
243
c charc ’a; | 126—'——| | y (int *)malloc(sizeof(
243
o[Zo} L a] o ae [m5}{ 0] -
@
y
?? free(y);
(b)
2 4
C
NULL
2 4 y free(y)
y y
y
2.3.2
(3
(singly linked list)
Element
Link 2 5@ 2 5(c) n (Bo,a1, ,@n1)
first
NULL A
2 5(b) NULL 2 5

Link
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first

| Elemeni Link | @1

€
first

O a[g- a [ rAs [

2 5
@ (b) (©

typedef struct node{

T Element;

struct node* Link;
} Node;

Node( node) Element
Link
T
ADT
ADT C++ Ada

C T typedef
T int Entry

typedef struct entry{
int Key;
char Data;
}Entry;
typedef T Entry;

(1) T* InputElement();

(2) void PrintElement(T €)
e



e 2 3
T
InputElement  PrintElement
2 3
typedef int T;
T* InputElement()
{
static T g
scanf("%d", &a);
return &a;
}
void PrintElement(T x)
{
printf("%d ", X);
}
InputElement NewNode
2 4
NewNode NewNodel InputElement
NewNode2 X
NewNode NewNodel NewNode2
T
2 4

#define IS_FULL(ptr) (!(ptr))
Node* NewNode()

{
Node* p=(Node*)malloc(sizeof(Node));
if (IS_FULL(p)X{
fprintf(stderr, "The memery is full\n"); exit(1);
}
p->Link=NULL;
return p;
}
Node* NewNodel()
{

Node* p=(Node*)malloc(sizeof(Node));
if (IS_FULL(p)X{

fprintf(stderr, "The memery is full\n"); exit(1);
}

p->Element=+* InputElement();
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p->Link=NULL;
return p;
}
Node* NewNode2(T x)
{
Node* p=(Node*)malloc(sizeof(Node));
if (IS_FULL(p)){
fprintf(stderr, "The memery is full\n"); exit(1);
}
p->Element=x;
p->Link=NULL;
return p;
}
2.
List
typedef Node* List;
List Node
List Node*
3.
( P )
g->Link=p->Link; p->Link=q;
2 6
q g->Link p->Link p->Link q q
. =

L

@

@ (b)
2 7 p
free(p)

(predecessor)

BuildList while

2 5(c) first

(b)

g->Link=p->Link
*q *p

NewNode2



2

NewNodel p

r 2 8
( r ) *P tolower

ctype.h

. ; o->Link p->Link q(? P(?.—‘—L‘
AT AL

@

(3@ (b)
2 5
List BuildList( )

{
Nodex p, *r=NULL, *first=NULL; char c;
printf("Another element?y/n");
while ((c= getchar()) == \n);
while (tolower(c)!="n’){
p=NewNodel();
if(first!=NULL) r->Link=p; else first=p;
r=p;
printf("Another element?y/n");
while ((c= getchar()) == \n);
}
return first;

}

SCay %rl@% » [ - | & [+

@ (b)

r->Link p r p
©

@ (b) P (9
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5
2 6 PrintElement
PrintElement
2 6
void PrintList(List first)
{
printf("\nThe list contains: \n");
for (; first; first=first->Link)
PrintElement(first->Element);
printf("\n\n");
}
6.
free
NULL
(garbage)
2 7
2 7
void Clear(List * first)
{
Node * p=*first;
while (*first){
p=(*first)->Link;
free(*first);
*first=p;
}
}
first List List
Nodex Listr
List* Nodex
List Ist=NULL
NULL 2 903 ( 2 9b)
Clear Clear(&Ist); C
“ st "
first  Clear (xfirst)
first  *first first Ist *first Ist
2 9() Clear while *first NULL

Ist NULL



&, oL

®

Ist

*firs a, |-—|——| a, |~—|—>

first ©
2 9 Clear
@ (b) (©)
void Clear(List first); Clear(Ist); Ist
first Ist first
Clear first
first NULL mai n( 2 8 Ist
NULL
Ist
first List
7. main
2 8 main
(driver) (debug)
(test)
2 8 main
void main()
{
List Ist;
Ist=BuildList();
PrintList(Ist);
Clear(&Ist);
PrintList(Ist);
}
2.3.3
Entry
2 10

2 10(a) 2 10(b)
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first

ST,

(@)

first

O o [ ol

®

@ (b)

234

(singly circular linked list)
NULL

first

Cal

@

e iy s N e ol

(b)

2 1
@ (b)

first

@

N E NN N N ey

(b)

@ (b)
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2.3.5
(doubly
linked list)
Element LLink RLink Element
RLink LLink
RLink
LLink ( )
2 13 LLink
LLink
LLink
first
@
first
| e fa] == = [aa]
(b)
2 13
(€Y (b)
typedef struct dnode{
T Element;
struct dnodex RLink =*LLink;
} DNode;
LLink
2 14 P *q 2 15 P

g->LLink=p->Llink g->RLink=p; p->LLink->RLink=q p->LLink=q;
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p->LLink->RLink=p->Rlink p->RLink->LLink=p->LLink; free(p);

@

(b)

)

ADT ADT
ADT 4 ADT
ADT C
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1

12

13

14

15

16

17

M

@

Cc

2
NewDate
A[mI[n[p] n m p Loc(A[O][O][0]) 134
Loc(A[i][1K])
Copy
NewArray MaxSize
A
A
A
( )
€) C
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EBES

(queue)

LIFO(Last-In-First-Out)
FIFO (First-In-First-Out)

3.1
3.1.1 ADT
« )
(top) (bottom)
S(ao, &, & 1) % an 1
on 1
Push
EyE e ' e
StackTop Pog
¢ )
31
ADT3 1 CreateStack

ADT3 1 Stack{

)

)

(stack)



(ag, @, & 1) axStack

void CreateStack(Stack s int maxsize);

BOOL IsEmpty(Stack s)

: TRUE FALSE
BOOL IsFull(Stack s)
: TRUE FALSE
void Push(Stack s, T x)
Overflow X
void Pop(Stack *s)
Underflow
void StackTop(Stack s, T+ X)
Underflow X
}
3.1.2
(sequential stack) 3 2
C MaxStack | 1
#define MaxSize 50
#define FALSE O
#define TRUE 1 " TP
typedef int BOOL;
typedef int T; 1 a
typedef struct stack{
int Top, MaxStack; °L 3
T Elements[MaxSize]; Flements
} gark 32
Stack Top MaxStack
MaxSize Elements
BOOL
3 1 ADT3 1
Top 1 MaxStack maxsize MaxSize
(++s>Top) X
(s->Elementq ++s->Top]=x) (s>Top—;)
S S Stackx* Stack

main
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Stackx*
& PrintStack(Stack s)
PrintElement(x) 232
3 1
void CreateStack(Stack *s, int maxsize)
{
s>Top= 1,
s->MaxStack=maxsi z€e;
}
BOOL ISEmpty(Stack s)

{
return s.Top<0;

}
BOOL IsFull (Stack s)

{
return s.Top>=s.MaxStack  1;

}

void Push(Stackx s, T x)

{
if (IsFull(x9)) printf("Overflow");
else s->Elementg[++s->Top]=X;

}

void Pop(Stack* )

{
if (ISEmpty(xs)) printf("Underflow");
else s>Top—;

}

void StackTop(Stack s, T+ X)

{
if (ISEmpty(s)) printf("Underflow");
€else »x=s.Elements[s.Top];

}

void main(void)

Stack s; Tx;
CreateStack(&s, 10); I 10
Push(&s, 10); Push(&s, 15); /% 10
PrintStack(s); Ix

x=+ InputElement();

~

* Input Element



Push(&s, x); [+ X */
PrintStack(s); % */
Pop(&s); Pop(&s); I+ xl
if(ISEmpty(s)) printf("ls empty."); Ix */
else printf("ls not empty.");
PrintStack(s); [* */
}
3.1.3
(linked stack)
3 3 Top an 1
Node
Stack
typedef struct node{
T Element;
struct nodex Link;
} Node;
typedef struct stack{
Nodex Top;
} Stack;
Top
| Elemeni Link | ( 9—4{
@ ®
Top
O [ {a: -
© i
3 3
@ (b) (©
3 2
Push NewNode2( 2 4
*P ( p->Link=s->Top;
s->Top=p;) Pop p Top
( s->Top=p->Link;) *p( free(p);)
free p *p

MaxStack
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3 2
void Push(Stack *s, T x)
{
Nodex p=NewNode2(x);
p->Link=s->Top; s->Top=p;
}
void Pop(Stack *s)
{
Node * p=s->Top;
s->Top=p->Link;
free(p);
}
( ) ADT3 1Stack
3.2
3.2.1 ADT
(rear) (front)
Q=(ao, @, & 1) 3 a1
8, &1 & a
( 34
Serve Append
ST — 3 a4, ()
Front Rear
C ) ¢ )
3 4
ADT3 2

ADT3 2 Queue{

(a0, @, & 1) MaxQueue



void CreateQueue(Queue =g, int maxsize);

BOOL IsEmpty(Queue q)

: TRUE FALSE
BOOL IsFull(Queue )
: TRUE FALSE
void Append(Queue xq, T X)
Overflow X
void Serve(Queue *Q)
Underflow
void QueueFront(Queue g, T x)
Underflow X
}
3.2.2
(sequential queue) 3 5
C o 1 2 MaxQueue 1
(afal [ - & - | |
typedef struct queue{
int Front Rear, MaxQueue; Front Rear
T Elements[MaxSize]; 3 5
} Queue
Front Rear Front Rear
MaxQueue MaxSize Elments
Front Rear 1 3 6(a)
for Front Rear
Rear Rear
3 6(b) 20 30 40 S0
Rear 50 Front
Front 20 30 40
3 6(c) 60 3 6(d)
Rear

Front Rear Front
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O 1 2 3 4 MaxQueue 1 O 1 2 3 4 MaxQueue

LT EIEEEE

? ? ?

f,r f r
@ (b)
O 1 2 3 4 MaxQueue 1 O 1 2 3 4 MaxQueue
HEREN HEREE!
P b
f r f r
(©) (d)
3 6
@ (b) 20 30 40 50
(© 20 30 40 (d) 60
3 7
3
4
2 - f
-~ r
0

3 7
@ (b) 20 30 40 50
(© 20 30 40 (d) 60 70



%

Front Rear 0
( )
Front=(Front+1) % MaxQueue
Rear=(Rear+1) % MaxQueue

Front  Rear
Front==Rear (Rear+1) % MaxQueue==Front
Front==Rear
MaxQueue
0
3 3 ADT3 2
3 3
void CreateQueue(Queue =g, int maxsize)

{
g->Front=g->Rear=0;
g->MaxQueue=maxsi z€;

}
BOOL IsEmpty(Queue q)
{
return g.Front==q.Rear;
}
BOOL IsFull(Queue q)
{
return (g.Rear+1) % g.MaxQueue==q.Front;
}
void Append(Queuex g, T X)
{
if (IsFull(xq)) printf("Overflow");
el se g->Element[g->Rear=(g->Rear+1)%q->M axQueuge]=x;
}
void Serve(Queuer Q)
{
if (ISEmpty(*q))printf("Underflow");
else g->Front=(g->Front+1)% g->MaxQueue;
}
void QueueFront(Queue g, T x)
{

if (ISEmpty(q)) printf("Underflow");
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el se »x=q.Elements[(qg.Front+1)% g.MaxQueue];

}
3.2.3
Front
Rear 3 8
Front Rear
Rear
Front
O [FH a [F=a [+
(b) -
3 8
@ (b)
(linked queue)
typedef struct queue{
Nodex Front, «Rear;
} Queue;
3.3*
(expression evalution)
a-b+c/d c(xty) FORTRAN Formula Trangl ator(
)
3.3.1
(binary
operator) atb (infix expression)

(unary operator) [++ a C
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(ternary operator)

C
*
axblc
I
)
3.3.2
expression) (reverse Polish form)
a+b) t tc+(  t+c)
3 2
3 2
( token)
A
@ A “# #
@ A A
® A Y
A( )

@ A A

3 1
7
* 1, % 6
+, 5
<, <=, >, >= 4
==, I= 3
&& 2
Il 1
(postfix
abxc+ ab*(
3 2
arbtc abxct
axbl/c abxc/
ax b cx dx ex f abx cedxfx
at(bxc+d)/e abexd+e/+
al(b c)+d«e abc /dex+
13 )H 113 ”
A
" (H
A
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A A
0
( )
isp(in-stack precedence) icp(incoming precedence) 3 3
0 8 0 3
al(b-c)+d+e abc-/dex+
3 3
(isp) (icp)
! 7 7
* 1, % 6 6
+, 5 5
<, <=, >, >= 4 4
==, I= 3 3
&& 2 2
I 1 1
( 0 8
# 0 0
3 4
# #
a a # a
/ icp (1)>isp(#), T I#| a
( icp (()>isp(7), " ( (/#| a
b b (/#| ab
icp (" )>isp((), “(/#] @b
c c —(/# abc
) )y o= (/# abc—
“ | # abc
+ icp (H)<isp(), T # abc—/
iop (+)>isp(#), *+ +# | abo]
d d +# abc/d
* icp (*)>isp(+), *’ «+# | abc/d
e e * +# abc—/de
# * +# abc—/dex
+' # abc—/dex+
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InfixToPostfix
isp icp
InfixToPostfix
Infix ToPostfix

main

isdigit
ch ch

ch

3 4
#include <ctype.h>
#include "stack.h"
#define ExpSize 30
int isp(char c)
{ I c */
int priority;
switch(c)
{
case '(": priority=0; break;
case '+
case '~ priority=5; break;
case .
case '/ priority=6; break;
case #: priority=0; break;
}
return priority;
}
int icp(char c)
{ I« c
int priority;
switch(c)
{
case (" priority=8; break;

case '+

s “H
( ch)
isalpha

ch

[*

*/

for (

ctype.h

ch
13 #H

*/
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case '~ priority=5; break;
case
case '/ priority=6; break;
case #: priority=0; break;
}
return priority;
}
void InfixToPostfix(char exp[])
{
Stack s;inti; char ch,y;
CreateStack(& s, StackSize);
Push(&s, #);
printf("\nThe Postfix expressionis: ");
for(i=0, ch=exp[i]; ch!="#; i++, ch=exp[i]){
if (isdigit(ch) || isalpha(ch)) printf("%c", ch);
eseif (ch==))

[%
[%

[%

for (StackTop(s, &Y), Pop(&s); y!=("; StackTop(s, &Y), Pop(&S))

printf("%c", y); [
else{

for (StackTop(s, &Y); icp(ch)<=isp(y); Pop(&s), StackTop(s, &Y))

printf("%c", y); I y

Push(&s, ch); [*

}
while (HISEmpty(s){ %

StackTop(s, &Y); Pop(&s);
if (y\=#) printf("%c", y);

}

void main()

{
char exp[ExpSiZel={'a, 7, (, b, =, ¢, )\, d, '€, #);
InfixToPostfix(exp);

3.3.3

*/

ch«/

*/

icp(ch)>isp(y) */
ch */

*/



5 abc /dex+ (@=6 b=4 c=2 d=3 e=2)
3 5
6 6 6
4 4 46
2 2 246
- 2 4-2 2 26
/ 2 6 6/2 3 3
3 3 33
2 2 233
* 2 3 3x2 6 63
+ 6 3 3+6 9 9
3 5
+ * DoOperation C C
opl op2
“ Missing operand’ C
op2 <c> opl <c> c
Eva exp C
C DoOperation C
exp main
Eva Clear(s)
void Clear(Stack * )
3 5
void DoOperation(char ¢, Stack *s)
{ I <c> c opl op2
op2 <c>opl */
BOOL result=TRUE; int op1, op2;
if (HISEmpty(*s)}{
StackTop(+s, &opl); Pop(s); I+ opl «/
}
else{
result=FALSE; printf("\n Missing operand!");
}
if (HISEmpty(*s)}{
StackTop(*s, &0p2); Pop(s); I+ op2 */
}

else{
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result=FALSE; printf("\n Missing operand!");
}
if(result)
switch (c){ [ op2 <c> opl
case '+ Push(s, op2+opl); break;
case " Push(s, op2—opl); break;
case " Push(s, op2+opl); break;
case /" if (op1==0.0){
printf("\nDivided by 0!"); Clear(s);
}
€else Push(s, op2/opl);
break;
}
else Clear(s);
}
void Eval(char exp[])
{
char c;int op;inti; Stack s;
CreateStack(&s, Size);
for(i=0, c=expl[i]; c!="#; i++, c=exp[i]){
switch(c) {
case '+
case -
case ',
case /"DoOperation(c, &s); break;
default: Push(&s, ¢-'0); break;

}
if (NIsEmpty(s)) {
StackTop(s, &op);
printf("\n The result is: %d\n", op);

}

void main()

{
char exp[ExpSize]={'6', ‘4,2, =, ', '3, 2, %", '+, #};
Eval (exp);

*/



Stack
Stack C
void void
typedef void+ T, void
Stack C++ ADT C++ (template)
O(n) n
3.4*
3.4.1
(recursive)
1.
/R =0 K =1 3 1
%:h =R thR, (h>1)
A.De.Moivre
L h_~h
F,=— (" -¢") 3 2
"5

(p:%(1+\/§) =1.618 033 98---, fp:1—(p:%(1—\/§):—0.618 033 98- --

Fn
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3 6
long Fib( long n)
{
if(n<=1) return n;
elsereturn Fib(n 2)+Fib(n 1);
}

Fib(n) Fib(n 1) Fib(n 2)
P Qx) P (calling function)
Q (called function) P Q@) Q
a (actual parameter) X (formal parameter)
P P
3.
5 6
3.4.2
1.
(system stack)
(activation
record) (stack frame)
( ) main
al 3 9@a) 3 9(b) al
(recursive tree) Fib main
Fib(4) Fib(4) 3 10
Fib(4) Fib(2) Fib(3) Fib(2) Fib(0) Fib(1)
Fib(0) Fib(1) Fib(2)



<—fp
a
Fib(4)
Fib(2) Fib(3)
= fp
lﬁ main Fib(0) Fib(l) Fibl) Fib(2)
@ (b) Fib(0) Fib(1)
39 3 10 Fib(4)
(@) main (b) al
(tail recursion)
(iteration function)
3 7 RPrintArray n O
n+l list
printf("%d ", list[n]);
RPrintArray (list, ——n);
list[n] listin 1], , list[Q]
(list[n], listfn 1], , list[Q]) 3 8
PrintArray
3 7 n nnl1l
-n while
3 7
void RPrintArray(int list[], int n)
{
if(n>=0){

printf("%d ", list[n]); ;
RPrintArray(list, —n);
}
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3 8 3 7
void PrintArray(int list[], int n)
{
while (n>=0){

printf("%d ", list[n]);

-n;

}
}
3.5*
ADT
main ( )
(menu-driven demonstration program)
3 9
GetCommand DoCommand  main GetCommand
DoCommand
main o} while
( ) q
o} DoCommand
DoCommand
ADT 3 9
ADT
3 9

#include "queue.h"
char GetCommand(void);
void DoCommand(char, Queue *);
void main(void)
{
Queue q;
CreateQueue(&q, 20);
while (TRUE)
DoCommand(GetCommand(), &0);

}
char GetCommand(void)



char command;
printf("\n\t[1]:Append \t[D]:Serve\t[ R]:QueueFront\n"
"\t[E]:ISEmpty\t[F]:1sFul I\t[ P]:QueuePrint\n"
"\t[H]:Help\t[Q]:Quit\n"
"Select command and press <Enter>:");
while (TRUE) {
while ((command = getchar()) == \n);
command = tol ower(command);
if (command ==""|| command =="d’ || command == " ||
command == €' || command ==f’ || command ==’ ||
command ==q)) {
while (getchar() !'=1\n);
return command;
}
printf("Please enter avalid command or H for help:");
}
}
void DoCommand(char command, Queue *q)
{
TxX;
switch(command)
{
case i
if(IsFull(xq)) printf("Sorry, sisfull.");
ese{
printf("Enter new key(s) to insert");
x=x InputElement();
Append(a, x);
}
break;
case d”
if (ISEmpty(*q)) printf("Sorry, sis empty.");
else Serve(q);
break;
% case */
case q:
printf("Stack demonstration finished.\n");
exit(0);
}
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LIFO FIFO
3.3 34
ADT
3
31 A B C D E ( )
Push  Pop
(1) A,B,C,D,E (2 A,C,E,B,D (3 C,A,B,D,E (4) E,D,C,B,
A
3 2 void PrintStack(Stack s)
3 3
3 4 A ( ) (+ * /)
3 5 n
3 6 3 5 Dstack ADT3 1
3 7 10
3 8 ADT 3 1
Push(s, 'a); Push(s,’d); PrintStack(s); Pop(s); PrintStack(s);
3 9 void PrintQueue(Queue q)
3 10 ADT 3 2
void PrintQueue(Queue q)
3 11 2 12 ADT 3 2
Append  Serve o)
3 12

(1) (atb)xc+d/(et+f)
(2) (atbh)*(cxdte) axc
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3 13
(1) bxd o)+a

(2) atb«(c d) ef
3 14

(1) 532%3+3/+
(2 123-4+ 51
315

(1) A
(2) A n
3 16
x A
3 17 3.5

%3 %
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LS

4.1
— (list)
4.1.1 ADT
n(= 0) & @& an 1 (0 & an 1)
n n=0
a i i=0 1 n 1 a Q41 i+
& 2
n 1
4 1
4 1
02041201 86
02041202 94
02041203 79
02041204 69
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( ADT4 1) ADT
ADT 4 1List{
(@, & 1) MaxList
void CreateList(List *Ist int maxisize)
BOOL IsEmpty(List Ist)
: TRUE FALSE
BOOL IsFull(List Ist)
: TRUE FALSE
int Size(List Ist)
BOOL Insert(List xIst, int pos, T x)
0< pos< n pos pos
X pos TRUE FALSE
BOOL Remove(List *Ist, int pos, T+ X)
O< pos n pos *X
pos TRUE FALSE
BOOL Retrieve(List Ist, int pos, T+ X)
O< pos n pos *X
TRUE FALSE
BOOL Replace(List *Ist, int pos, T x)
0< pos n pos X TRUE
FALSE
void Clear(List *Ist)
}
4.1.2
k a0
Loc(ao), 3 Loc(a)

Loc(a)=Loc(ag)+i*k

4 1
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N I P A P

0 1 pos MaxList
4 1 (n=Size)
C
typedef struct list{
int Size, MaxList;
T Elements[MaxSize];
} List
List Size MaxList
Elements 4 1
Size 0 MaxList
maxsize MaxSize
Insert Remove Retrieve
4 2 pos X Insert
n pos X [pos, n 1]
ah 1 Apos
X pos Size 1 TRUE
pos [0, n] FALSE
x
0] 1 pos/ MaxList
(o la ] o] o] | -] |
4 2
n i
n i O<ign n+1
1/(n+1)
1 n
A —;m(n")—z
4 3 Remove *X pos
n pos Gpos
[postl, n 1] Bpos+1
an 1 Sze 1 TRUE

pos  [0,n 1] FALSE



|st->MaxList=maxsize;
}
BOOL IsEmpty(List Ist)
{
return Ist.Size==0;
}
BOOL IsFull(List Ist)
{
return Ist.Size==Ist. MaxList;

}
void Clear(List «Ist)

{
|st->Size=0;

BOOL Insert(List *Ist, int pos, T x)
{

inti;

if (IsFull(=Ist)){

4 59
X
0] 1 pos MaxList
lalal [aw| o] | -] |
4 3
n i n i 1
O<i n n
n-1 n
1 . 1 . _h-1
Ap =Y —-0M-i-)=Y —(n-i)=——
0=y LO-imh=F )=
Insert
Remove O(n)
Retrieve
pos *x=|st.Element pos] o)
4 1
void CreateList(List Ist, int maxsize)
{
|st->Size=0;
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}

printf("Overflow"); return FALSE;
}
if ( pos<0||pos>Ist->Size){
printf("Out of Bounds"); return FALSE;
}
for (i=lst->Size-1; i>=pos; i--)
| st->Elements[i+1]=Ist->Elementd]i];
| st->Elements|[pos]=x;
|st->Sizet+;
return TRUE;

BOOL Remove(List *Ist, int pos, T+ X)

{

}

inti;
if (ISEmpty(xIst))}{
printf("Underflow"); return FALSE;
}
if (pos<0 || pos>=lst->Size){
printf("Out of Bounds"); return FALSE;
}
*x=lst->Elements[pos];
for (i=pos+1; i<lst->Size; i++)
| st->Elementd]i-1]=Ist->Elementd[i];
|st->Size—;
return TRUE;

BOOL Retrieve(List Ist, int pos, T+ X)

{

}

if (pos<0 || pos> Ist.Size({
printf("Out of Bounds"); return FALSE;

}
*x=|st.Elements[pos]; return TRUE;

BOOL Replace(List *Ist, int pos, T x)

{

if (pos<0 || pos>=lst->Size){
printf("Out of Bounds"); return FALSE;
}



|st->Elements[pos]=x; return TRUE;

}
4.1.3
2
42 ( )
4 4
First
@
First
O o [ o [ [
(b )
4 4
(€Y (b)
C
typedef struct node{
T Element;
struct nodex Link;
} Node;
typedef struct list{
Node » First;
int Size;
} List;
List Size Size 0 Size
First
(heap)
4 2
Insert Remove  Retrieve
set_pos
pos
Nodex set_pos(List Ist, int pos)
pos 0< pos Ist.Size

pos
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set_pos ( 4 2
o} pos 1 pos 1
pos q
4 2 set pos
Nodex set_pos(List Ist, int pos)
{
inti;
Node =*g=lst.First;
for (i=0; i<pos; i++) g=g->Link;
return g;
}
set_pos Insert Remove
4 5 pos X Insert

P Link Ist First; P Link q
Ist First p; q Link p
@
4 5
(@ pos==0  (b) pos>0
Insert
NewNode2 *P
(4 5a) Set_pos
( *q ) *p
Insert set pos Insert
4 3 Insert

BOOL Insert(List xIst, int pos, T x)
{
Nodex p, »g=lst->First;
if (pos<0 || pos>Ist->Size{
printf("Out of Bounds"); return FALSE;

}
p=NewNode2(x);

q
g ¢->Link

pos

Retrieve

Link ;

®

(

q

4

Ist.First

q

5(b))

3

)
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if (pos==0){
p->Link=lst->First;
Ist->First=p;
}
else{
=set_pos(xIst, pos  1);
p->Link=g->Link;
g->Link=p;
}
|st->Sizet+;
return TRUE;
}
set_pos Remove 4 6 pos
r—T T T T T T T T a
¢ PP
Ist Firg } }
t 1
G a | a [ A | Pl B [ |
Ist First Ist First Link; p g LinkQ Link p Link;
@ ®
4 6
(@ pos==0  (b) pos>0
pos
pos pos O (4 6@a)
set_pos pos 1 q p *q
Apos g->Link=p->Link *P
Remove set_pos Remove 4 4
4 4 Remove
BOOL Remove(List *Ist, int pos, T+ X)
{

Nodexq, *p=Ist->First;
if (IsEmpty(*Ist){
printf("Underflow"); return FALSE;
}
if ( pos<0||pos>=lst->Size){
printf("Out of Bounds"); return FALSE;

}
if (pos==0) Ist->First=Ist->First->Link;
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ese{
g=set_pos(xIst, pos  1);
p=g->Link;
g->Link=p->Link;

}

free(p);

|st->Size—;

return TRUE;

4 5 Retrieve

4 5 Retrieve
BOOL Replace(List *Ist, int pos, T x)

{
Nodex p;

if (pos< 0 || pos >=lst->Size){
printf("Out of Bounds"); return FALSE;

}
p=set_pos(xlst, pos);
p->Element=x;

return TRUE;

ADT4 1

4.1.4

( set_pos)
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4.2*

42.1 ADT

(polynomial)
p(X)=3x**  8x%+6x%+2
coef- x®P  coef exp

ADT4 2
ADT4 2 Polynomial{

g € <g, >
p(X) =apx® +a;x% +---+a,x*

void CreatePolynomial (Polynomial =Ist)

void AddTerms(Polynomial * Ist)

*|st

*|st
void PrintPolynomial (Polynomial Ist)
Ist

void PolyAdd (Polynomial A, Polynomial *B)

A *B *B
void PolyMulti (Polynomial A, Polynomial = B)

A *B *B

4.2.2

ADT4 2

coef exp

Term=<coef,
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exp> Term
typedef struct term{
int Coef, Exp;
} Term;
typedef Term T;
typedef struct node{
T Element;
struct nodex Link;
} Node;

Node Element T Term
T) Coef Exp Link

Exp 1

(typedef Term

S T -E - e -

p(x)=3x™  8x5+6x%+2
4 7

Polynomial
typedef struct polynomial{
Node » First;
} Polynomial;
4 6
CreatePolynomial
) Coef 1 Link
NewNode2 2 4
4 6
void CreatePolynomial (Polynomial =Ist)

{

0 Exp

TX;

x.Coef=0; x.Exp=1;
|st->First=NewNode2(x);
Ist->First->Link=Ist->First;

4.2.3

AddTerms



PrintPolynomial M 8xP+6x%+2

3XM4  BXN8+HEXN2+2

N
w

InputElement  PrintElement
4 7 T Tem
PrintElement
4 7 Term
Tx InputElement()
{
static T g
printf("\nEnter a term (Coef, Exp).\n");
scanf("%d %d", &a.Coef, &a.Exp);
return &g;
}
void PrintElement(T x)
{
if(x.Coef!=0){
printf("%d", x.Coef);
switch(X.Exp){
case O:break;
case L:printf("X"); break;
default:printf("X~%d", x.Exp); break;

}
}

Term(
InputElement

4 8 4 9 AddTerms  PrintPolynomial

AddTerms NewNodel( 2 9
InputElement )

q
o} while
PrintPolynomial PrintElement

113 +H

4 8 AddTerms
void AddTerms(Polynomial * Ist)

char c; Noder p, *g=Ist->First;
printf("\nAdd terms into a polynomial .\n");
printf("\nAnocther term?y/n");

*p(NewNodel

T
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while ((c= getchar()) == \n);

while (tolower(c)!="n’){
p=NewNodel();
p->Link=g->Link;
a->Link=p; g=p;
printf("Another term?y/n");
while ((c= getchar()) == \n);

}
4 9 PrintPolynomial

void PrintPolynomial (Polynomial Ist)
{
BOOL IsFirst=TRUE;
Nodex p=lst.First->Link;
printf("\nThe Polynomial is: \n");
for (; p!=lIst.First; p=p->Link){
if (lIsFirst && p->Element.Coef>0) printf("+");
IsFirst=FALSE;
PrintElement(p->Element);

}
printf("\n");

4.2.4

p(x) a(x)
ax)  p(x) a(x) —a(x)+ p(x)
d=atb a b d

O ENC OEEEOE,

a)

R NEC HCC OO KEC

(b)

o T TR A o[-

)

4 8
(@) 3x™  8x3+6x%+2; (b) 2x%+4x®  6x% (o) 3xM+2x  4xB+2

P q p()  ax)
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ol *q
p->Element.Exp q g->Element.Exp
(D] p->Element.Exp==0->Element.Exp
g->Element.Coef=g->Element.Coef+p->Element. Coef
g->Element.Coef==0 a(x) *Q
p P g al
2 p->Element.Exp>g->Element.Exp *P
*q ql q p
3 p->Element.Exp<g->Element.Exp o}
gl q p
4 10 PolyAdd

while *B

4 10 PolyAdd
int exp_comp(T x, Ty)
{
if (x.Exp==y.Exp) return O;
elseif (X.Exp>y.Exp) return 1;
elsereturn —1;
}
void PolyAdd (Polynomial A, Polynomial *B)
{
Noder g, *ql, *g2, *p; T X;
p=A.First->Link; g1=B->First; g=ql->Link;
while (p->Element.Exp>=0)
{
switch(exp_comp(p->Element, g->Element)){
case —1: ql=q; g=g->Link; break;
case 0:
g->Element.Coef=g->Element.Coef+p->Element.Coef;
if (g->Element.Coef==0){
02=q; q1->Link=g->Link; g=g->Link;

free(q2);

p=p->Link;
}
else{

gl=q; g=g->Link; p=p->Link;
}

break;

*r

exp_comp
p->Element.Exp <0
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case 1
x.Coef=p->Element.Coef; x.Exp=p->Element.Exp;
g2=NewNode2(x);
g2->Link=q; q1->Link=02; q1=q2;

p=p->Link; break;
}
}
}
4.3
2.2 ( )
22
C
(
)
(index)i (value) v (pain)<i, v> Index
{0,1, ,n 1}

{(0.0), (0, 1) } ( i0Index)

T v T

CreateArray
Retrieve  Store CreateArray Retrieve
A i Sore A i
X ADT4 3
ADT 4 3Arrayf
i \% <i, v> n Index
T
void CreateArray(Array =A, int n)
: n
BOOL Retrieve(Array A Indexi Tx x)
idIndex *X i TRUE

FALSE
BOOL Store(Array <A, Index i, T x)
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4
idIndex i X *A
TRUE FALSE
}
k
[ia][iz]  [iu] [0, n 1] Index
22 ADT4 3
C
Array C
4.4
441
(matrix) nx n A a=a;
(0<i, jsn 1) A n ( )
( ) n (triangular matrix)
num=n(n+1)/2 b[num]
) 3 (i) b
k
Og +1) | . .
g2 ¢ ¢ =0 4 1)
THG+D o
55 F Q)|
4 9 1
M -
Qo Ay
Q“I 1.0% 1.1.“ Q"I 1,n 1
@
0] 1 2 3 num 1
|800|310|811|azo| |ar11.0| "'|a‘r11.nj|

®

@ (b)
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C 0 i J
O<i,jgsn 1
4.4.2*
nxn A (
k ) (band matrix)
4 10

K
/—%
B O 11 2 3 0 o o |
4 2 1013 0 O
k 5 12 7 6 8 0
0 20 17 9 11 15
\ 0 0 6 14 21
0

1
0O 0O 2 18 3

L O - - —
@ (b)
4 10
(@ (b) k=2
A i j>k j ik a=0 i ik aj
2%k 1
n (n k D*n k 1=(n k(n k 1) n
(n K(n k D=n2k+1) kk 1)
4 10(a) 2k+1
2k+1 n(2k+1) kk 1) n(2k+1)
2k+1 (2k+1)(n  2)+2(k+1)= n(2k+1)
2k k(k 1)
t
Loc(ai)  Loc(ag)+t(2k+1)(i 1) 0 isn 1 4 2
Loc(ai+1isn)  LoOC(ay)+t(2k+1) 0 i<n 1 4 3
Loc(aj) Loc(ai)+t( i) O<i,jsn 1 4 4
Loc(aco)
4 1 4 10(b)
100 5

115 210
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4
00| 11 45| 12 19| 6
05| 2 50| 7 95| 1
10| 3 55| 6 200 | 14
115 60| 8 205| 21
20| 4 65| 20 210
25| 2 70| 17 215| 2
130| 10 75| 9 220 | 18
135 13 180 11 225| 3
40| 5 85| 15
4 11 4 10(b) (t=5)
45.1 ADT
5%
(sparse matrix)
ADT4 4
SparseMatrix

ADT 4 4 SparseMatrix{

void CreateMatrix(SparseMatrix =M, int rows, int cols)

: rowsxcols
void Clear(SparseMatrix * M)

SparseMatrix Transpose(SparseMatrix a)
a

SparseMatrix Madd(SparseMatrix a, SparseMatrix b)
a b

SparseMatrix MMulti(SparseMatrix a, SparseMatrix b)
a b
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45.2
a;j (triple)<i, j, v>, i
\'%
4 12 A
i j O<i j£n
(0] 1 2
0 0 0 15
— _ 1 0] 3 22
15 0 0 22 0 15 > o 5 15
0O 11 3 0 O O 3 1 1 11
O 0O 0O 6 O O 4 1 > 3
O 0O 0O O o o 5 > 3 6
99 0O 0O O O O 6 4 o o1
B O O 28 O O 04 7 5 > 28
@ (b)
4 12
@ A (b) A
C
#define MaxSize 101 [ */
typedef int T;
typedef struct termy
int Row, Cal;
T Vaue;
} Term;
typedef struct triples{
int Rows, Cols, NonZeros;
Term Elements]MaxSize];
}Triples;
typedef Triples SparseMatrix;
Term Triples Triples Rows

Cols Nonzeros

Elements
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Amxn
&
Loc(ay)=i*ntj
(Czisn 1,0cjsn 1 4 5 0 0 15
1 3 22
aj 2 5 15
3 7 11
4 8 3
4 13 4 12(a)
5 15 6
A
6 24 91
&
7 32 28
<i, >
4 13 4 12(3 A
&
O(lbn) 7
4.5.3
Amxn anm
for (int i=0; i<m; i++)
for (int j=0; j<n; j++) B[][I]=ALL];
Al[] B[j1[i] O(mx n)
Anmxn A A
4 14(b) 4 12 A
B A
B :
A B ( 4 14(a)
B A B (4 14b)
o) O(tlbt) t
( 1 )
A n A 0 B
0 i A i1 B i1 B
O(n+t) t
n k[n] (n ) A
B k[2] A 2 B

B 2 B 3 4 14(b)
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[0} 1 2 [0} 1 2
[0} [0} [0} 15 [0} [0} [0} 15
1 3 [0} 22 1 [0} 4 91
2| 5|0 15 2] 1| 1|11
3] 1| 1|11 3| 2| 1| 3
4 2 1 3 4 2 5 28
5 3 2 6 5 3 [0} 22
6 [0} 4 91 6 3 2 6
7| 2| 5| 28 7| 5| 0 15
@ (b)
4 14
@ 4 12(b) A (b) A
k num A
num(i] A i B i
num
for (i=0; i<cals; i++) num[i]=0; %
for (i=0; i<nonzeros; i++) num[a.Elementdi].Col]++;
num k
k[0]=0
Kil=Ki-T+numi-1  @sion)
k[0]=0 B 0 0
1 B k[O] num[Q]
k[i]=k[i 1]+num[i 1]
k[0]=0;
for (i=1; i<cols; i++) k[i]=k[i ~ 1]+num[i 1];
4 12(b) A num Kk 4 15

coo 0| 1|2|3|4|5

numf[col] 2| 1| 2| 2| 0| 1

kfcol] | O| 2| 3| 5| 7| 7

4 15 num Kk

k A

for (i=0; i<nonzeros; i++){
j=k[a.Elementd[i].Col]++;
b.Elements]j].Row=a.Elements]i].Coal;

nums/

(4 6



7

b.Elementg]j].Col=a.Elementd]i].Row;
b.Elementg]j].Value=a.Elementd]i].Value;

}
a b A B
4 11
4 11
Triples Transpose(Triples a)
{
Triplesb;
int num[MAX_COL], KIMAX_COL], i, j, cols=a.Cols, nonzeros=a.NonZeros;
b.Rows=a.Cols; b.Cols=a.Rows; b.NonZeros=a.NonZeros;
if (nonzeros>0){
for (i=0; i<cals; i++) num[i]=0;
for (i=0; i<nonzeros; i++) num[a.Elementdi].Col]++;
k[0]=0;
for (i=1; i<cols; i++) k[i]=k[i 1]+num[i 1];
for (i=0; i<nonzeros; i++){
j=k[a.Elementd[i].Col]++;
b.Elements]j].Row=a.Elementg][i].Coal;
b.Elementg]j].Col=a.Elementd]i].Row;
b.Elementg]j].Value=a.Elementd]i].Value;
}
}
return b;
}
O(Cols+NonZeros)
num Kk
A i K[i] A
i) B
k num

for (i=0; i<cols; i++) k[i]=0;

for (i=0; i<nonzeros; i++) k[a.Elementd[i].Col]++;
y=0;

for (i=0; i<cals; i++){

x=K[i]; K[i]=y; y=y+X;

4.5.4*

A B A mxn

nxp
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mxp

AB

4 7

P)

m, 0< j

O< i

O N =€ «

- O «

O « «H€ O

)
o o ]
O « «
L B B |
- O «
o «€ O
N O
[
m
My ~ ~ 1

4

8 0 7 5

0O 1 0 1 1

AB

4 3 2 5 3

i1 0 2 1 2

16

ONWLTAAdATONDMANAN
ONMTAMTOANMTETONMST
COO0OO0OHAHdANNNNNMM®M®M
N =T d d N A A AN
ONHONOHNGHWN
coHANNM®M® T
MmN N®A
ONHOHN
OO dNNM
[a) 5 g
& &
m -
< O
O
O
© o
<
6 =
— k=] O o
< <
- a)
~ X _
— —_ o T 0O o o
<
O <
@ < <

(b) ©

16

@

17

Clop,

tho

A (b

@
©

dll

Omp
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4
4 12 MMulti
C d D
totala totalb  totald ab d
X 'y 0 1
a b b
a A 0 b C 0
D doo a
b C 1 A
Cog
D
p p B
4 12

#define compare(x, y) (((x)<(y)) ?~1:((x)==(y))?0:1)
Triples MMulti(Triples a, Triples b)
{
inti,j, column,
totala=a.NonZeros, totalb=b.NonZeros, totald=0,
rows_a=a.Rows, cols a=a.Cals, cols_b=b.Rows,
row_begin=0, row=a.Elements[0].Row, sum=0;
Triplesd;
if (cols_al=b.Cols) {
printf(stderr, "Incompatible matrices\n");
exit(1);
}
d.Rows=a.Rows; d.Cols=b.Cals;
a.Elementg[totala+1].Row=rows &
b.Elementg[totalb+1].Row=cols_b;
b.Elements[total b+1].Col =0;
for (i=0; i<totala; ) {
column=b.Elements[1].Row;
for (j=0; j<totalb+1; {
if (aElementd[i].Row!=row ) {
if (sum!=0){
d.Elements[totald].Row=row;
d.Elementg[total d].Col=column;
d.Elements[total d++].Value=sum;
}
sum=0; i=row_begin;

for (; b.Elements]j].Row==column; j++);

d compare
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column=b.Elements[j].Row;
}
else
if (b.Elements[j].Row!=column) {
if (sum!=0){
d.Elementg[totald].Row=row;
d.Elementg[total d].Col=column;
d.Elementg[total d++].Val ue=sum;
}
sum=0; i=row_begin;
column=b.Elements[j].Row;
}
else switch (compare(a.Elementd]i].Col, b.Elements[j].Cal)){
case-1: i++; break;
case 0 : sum+=(a.Elementgd[i++].Valuex b.Elementg[j++].Value);
break;
casel:j++
}
}
for (; aElementd[i].Row==row; i++) ;
row_begin=i; row=a.Elements]i].Row;

}
d.NonZeros=total d;
return d;
}
455
( (fill
1

(Right) (Down) 4 18(b)

in))
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Element
Right Down

Down

Next)

(Right

Teem( 4 18(9)

mx n

Right

Down)

Element

Next

Row, Col, Val uia Down| Right

Down| Right

@ (b)

4 18
@ (Element); (b)

typedef enum{ H,E} TegField;
typedef  struct term {
int Row, Cal;
T value;
}Term;
typedef struct mnode {
struct mnode * Right, *Down;
TagField Tag;
union {
struct mnode * Next;
Term Element;
Y
}MNode;

MNode Tag
U Next Tag E Element
E

D E Element

©

(©

Tag=H

Right Down

4 18(c)
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afi][i] i
2 / H 4 19
4 4 4 i
i Right
Down 4  HD[i]
/
/ HD
max{ Rows, Cols} Rows Cols /
3 Head /
E
H Element
Right / 4 19
HD[O] HD[1] HD[2] HD[3]
. © © @ @
+ | | | |
El 3,4, 4| —=—H . H . H . H .
"H GHJ— > | | » | » |
HD[O] L
@ [ e E| (0,0, 15 15 0 0 O
Al s | o 0O 0 26 O
HD[1] r ] 91 0 O 33
@ I E[ (1, 2, 26
A [
HD[2] ™ — !
C [ . E[ (2, 0, o1 E[ (2, 3, 33
A [ [
HD[3] ™ — — !
C [~
s
4 19
C

Typedef struct linkedmatrix {
MNode * Head;
MNode *HD[MaxSize];
}LinkedMatrix;
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4.5.6*
A
stepl
step2:
U.Element.Row U.Element.Col  U.Element.Value A.Head
step3: /
step4: <row col vaue>
row col
HD[i] Next i
plast
Steps:
mx n t O(max{m,
n}) Next
0(1) t o(t)
O(max{m, n} +t) 4 13 MRead
4 13

{

LinkedMatrix M Read(void)

int rows, cols, nonzeros, heads;
int row, col, value, current_row, i;
MNodex ptemp, *plast, * pnode;
LinkedMatrix A;
printf("Enter the number of rows, columns and number of nonzero terms:");
scanf("%d%d%d", &rows, &cols, & nonzeros);
/% */
heads=(col s>rows)?col s;rows,
pnode=NewNode(); A.Head=pnode;
pnode->Tag=F;
pnode->U.Element.Row=rows; pnode->U.Element.Col=cols;
if('heads) pnode->Right=pnode;
else{ /% heads / heads
for (i=0; i<heads; i++){
ptemp=NewNode(); A.HD[i]=ptemp;
A.HD[i]->Tag=H; A.HDIi]->Right=ptemp;
A.HDJi]->U.Next=ptemp;
}
/% 0 */

current_row=0;

*/
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plast=A.HD[0]; % plast
for (i=0; i<nonzeros; i++){

printf("Enter row, col and value");

scanf("%d%d%d", &row, &col, &value);

if (row >current_row){

plast->Right=A.HD[current_row]; %
current_row=row; [+
plast=A.HD[row];

}

ptemp=NewNode(); ptemp->Tag=E; %

ptemp->U.Element.Row=row; ptemp->U.Element.Col=cal;
ptemp->U.Element.Value=value; plast->Right=ptemp;

plast=ptemp; I% plast
A.HD[col]->U.Next->Down=ptemp; A.HD[col]->U.Next=ptemp;

}

plast->Right=A.HD[current_row]; Ix

for(i=0; i<cols; i++) A.HD[i]->U.Next->Down=A.HD[i];
for(i=0; i<heads-1; i++) A.HDJ[i]->U.Next=A.HD[i+1];
A.HD[heads-1]->U.Next=pnode; pnode->Right=A.HD[0];

}
return A; [*
}
4.5.7*
MWrite
4 14

4 14

void MWrite(LinkedMatrix A)

{
inti;

MNodex ptemp, » phead=A.Head->Right;

printf("\n rows=%d, cols = %d \n", A.Head->U.Element.Row, A.Head->U.Element.Col);

printf(" The matrix by row, column, and value\n\n");
for (i=0; i<A.Head->U.Element.Row; i++){
for (ptemp=phead->Right; ptemp!=phead; ptemp=ptemp->Right)
printf("%5d%5d%5d \n", ptemp->U.Element.Row,
ptemp->U.Element.Col, ptemp->U.Element.Value);
phead=phead->U.Next;

*/

*/

*/

*/

*/

*/

*/
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4
)

(1) void Search_Insert(ListIst T x)

(2) void Search_Delete(List Ist, T x, Ty)

(1)
(2)

1

~

X<y

3.5

Insrt Remove
A B

Josephus

n=9, s=1, m=5

X X
y (
Josephus

(

X

y)
ADT4 1)

ADT4 1
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8
9 PolyAdd
10
1 - )
B a; <i, j>( 0 k(
0 )
12 Anxn B[3][n]
Blu, V]=A[][j] 0] u, v
13 4 20
14 4 20 num[]  K[]
15
16 4 20
0 6 0 O]
0O 0 o0 7
0O 0 0 O
0O 810 O
0O 0 0 9
4 20

17
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5.1.1

n=0

ADT
(string )
FORTRAN
C string.h

5.1

n(n= 0)
Fll% al

an 1"

(substring)

PASCAL C/C++

SNOBOL

B

(

ADT 5 1)
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ADTS5 1

ADT5 1 String

axstring
void CreateString(String * s, int maxsize);
int Length(String s)
: s
void Clear(String *s)
: *S
void Copy(Stringp ~ String =)
: *S p
BOOL Insert(String *s, String p, int pos)
0< poss< Length(*s) Length(xs)+Length(p)< maxsize *S
pos 1 pos p Length(xs)+Length(p) TRUE
FALSE
BOOL Remove(String *s, int pos  int len)
0< pos<Length(*s) Length(xs)—pos>len *S pos
len Length(xs)-len TRUE
FALSE
String SubString(String s, int pos  int len)
0< pos<Length(*s) Length(xs)—pos>len *S pos
len
int Index(String s, String p, int pos)
0< pos<Length(xs) pos k p
k Length(p) k 1

5.1.2



PASCAL

0 C \O
51
0O 1 2 3 4 5 6 7 8
Lalefafrlal | [ ]|
@
0O 1 2 3 4 5 6 7 8
[ofalrlafo] | [ ] ]
(b)
5 1 ( )
(a) PASCAL (b)C
2.
5 2(a)
5 2b)(@
)
First
OG- T,
@ -
First

O-alsfclo] g elFfofn] g ]el | |7

(b)

5 2
€Y 1 (b) 4
C string.h
ADTS5 1
5.1.3
s p S p (pattern matching)
S p (pattern)
WORD (Find) (Replace) (Locate)
C string.h strstr

5 1 C strstr
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pos+2

#include <stdio.h>

#include <string.h>

void main()

{
char p[10]="abc", §[10]="cdabcde", *t;
if (t=strstr(s, p)) printf("The string from strstr is :%s\n", t);
else printf("The pattern was not found with strstr\n”);

}
5 1 p S t p S
S t abcde C strstr
C
(KMP
S pos p 0
S
p S post+1
p S
P
p S
5 3 5 4
i 00— i 1
| Y
s: abcabcaabca s: abcabcaabca
# #
p: abcaab p abcaahb
} |
j 00— j o
€) (b)
i 2 i 3=
Y Y
s:abcabcaabca s:abcabcaabca
£
p: abcaab p: abcaab
} A
© (d)
5 3 ( )

@) (b) © ©



i 00— i 1

/ f

s: abcabcaabca s: abcabcaabca

# #
abbb p: abbb
j O— i O
@ (b)

p:

i 7>

s: abcabcaabca
...... #
abbb
i

O—>

(© (d)

5 4 ( )
@ (b) (© (©
5 2

#define MaxSize 256
typedef struct string{

char chsfMaxSize];

int Length, MaxString;
}String;

5 2

int Index(String s, String p, int pos)
{

int i=pos;

char *ps=s.chs+i, *pp=p.chs;

if (pos<0 || pos>=s.Length) {

printf("Out of bounds!"); return —1;
}
while (xpp!=\x0&& s.Length-i+1>=p.Length)
if (xpst+l=xppt+) {
ps=s.chs+(++i); pp=p.chs;
}
if (xpp=="X0") returni;

return —1;
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5 3(d) s =3
S p schs pchs pssschs i I=pos pp=p.chs
*pp==\x0' slength i 1<p.Length
while i
while (xpst+!=+pp++)  ps pp
ps pp
s +H ( ps=schst(++))  p ( pp=p.chs)
n m while n mtl
m (n Mm+tl)x m (n Mtl)x mg nx m
O(nx m)
n=14,m=4, s "aaaaaaaaaaaaab" p="aaab" while 14 4+1
4
5.1.4* KMP
ps
pp
D.EKnuth JH.Morris  V.R.Prait KMP
KMP ps
pp 5 5
=

s: a baabaabababbdb : :

* L=
p: abaababa =
z p: abaabahb
a L@—»‘
" L—@—
=
a b
p: abaabahb
a b aababa L@—A
(€]
©
s: abaabaaba .. s: abaabaaba ..
R L
= |
p: abaabab .. p:abaabab ..
R Lo~

(® (d)

(@ (b) (© p (d)



5 5(@) 5 5(b)
6 5 5(c) p “ PoPs...ps" = abaaba”
5 5(a)
5 5(d)
5 5(a) Po
p3 S6 p 7 7 =
Pz Se ps pp
p
s="S0S1  sn 1" p="poP1  Pm 1"
S P p
PoP1 Pk 1=DPj kPj k1 Pj 1
popr P11 " " popr Pk 1
Po P1 b 1 Pi kP ka1 D1 PoP1 P 1 S pj
Pi kP 2P 1=Si k S 28 1
Po Pk 2Pk 1=Si k  Si 28 1
Si Pk
1.
f(3) P
5 1 m P=pPoP1  Pm 1 f
1€ =0 )
()= JLmax{klo K J popr Pk =P kP k1 P 1} G D
0( )
Si P f(G)= 0 Si - PrG) fG)= 1 PoZsi,
Po Si+1
5 1 f(7)=4 PoP1.--Ps
4 p7 P4
5 1
j 0 1 2 3 4 5 6 7 8 10
P a b a c a b c
() 1 0 0 0 1 2 4 5 1
2. KMP C
p KMP
s#pj  KMP s Pig) =t S P
fG)= 1 s Po i=it+1,
7=0 ( i++  j++) 5 3
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5 3 KMP C
int Index_KMP(String s, String p, int pos)
{
int i=pos, j=0; int n=s.Length, m=p.Length;
while (i<n && j<m)
if (j==-1| s.chsfi]==p.chs[j]){
i++  j++
}
elsej=f[j];
return (j==m)?i m: 1);
}
5 6 KMP s="abcabcaabcabcabbach”
p="abcabcabbac"
s: abcabcaabcabcabbachb

p: ab

j o —
(b)
i O — -

(d)
) s
Index KMP

if
(1) i++; j++
(2 J=fil;

c abocabbac
(a)

i 7 i O — i 7

a ab s: abcabcaab ...

# #

a b p: abcab ...

i 7 i 4

©

i 7 i 7

aa b ... s: ... abcabcabbachb

z

a b p: abcabcabbac
i1 j o

(e
5 6 KMP
p (b =7 (©) j=f(7)=4

(d) j=f(4)=1 (e)

if (== 1| s.chdi]==p.chdj])
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if
D i pos(pos> 0) i<n D n (2
i 0 i=fli] flil<i (2 1) 1
20 2 2 D if
2n KMP O(n)
3.
() PoPr P2
KMP
()
f(0)= 1 fG)0<j m 1) f(j+1) ?
f(j+1) PoPr B
k max{kj0 k< j PoPr P« 1P k1P w2 P}
f(G)=h PoP1 Pn 1= BB B2
@D mp PoP1 Ph=P nB h1 B h>h PoPr  Pr
=P nB o B f(j+1)=h+1
(2 p*p PoPr  Pn#D h 1 B
f(h)=g Py B PoP1 Pg=Pj ¢f g1 B
f(j+1)=g+1 p
f()
-1( j=0 )
f(+D =0 ") +1( M Preg =P 5 2
Ho( )
FG)=10), MH)=A" ()
5 4 C
5 4 C
void Fail(String p, int =f)
{
int j=0, k=—1;
flo)= 1

while (j< p.Length)
if (k==-1| p.chsfj]==p.chs[k]){
jH+; k++;
flil=k;
}
else k=f[K];
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4, C
5 6 1
s=a p=b s pr j=f()=4 Pa S pa=pr="0
Ps# Sy j=4 =1
j=0 f4) k PR f()=k f(4)=f(k)
5 2 C 55
5 2
i 0 1 2 3 4 5 6 7 8 10
P a a b a c
() 1 0 0 1 0 0 1 0 5 1 1
5 5 C
void Fail2(String p, int =f)
{
intj=0, k= 1;
flo]= 1,
while (j<p.Length)
if (k== 1| p.chs[j]==p.chsk]){
jH+; k++;
if (p.chs[j]==p.chs[k]) f[j]=f[K];
else f[j]=k;
}
else k=f[K];
}
O(m) KMP O(ntm)
5.2*
521
(generalized lists) (lists )
(atom)
LS:(XO! X1, » Xn 1) Xi
LISP
( )

E=( )



G=B=( () )

L=(a b)

A=(x L)=(x (a b))

B=(A y)=((x,(a b)) V)

C=(A B)=((x (a b)) (x (a b) )
D=z D)=z (z (z ( )

F=((r s 1)

H=(A B C D)

1 L A BZC 2

(1)

(2)

3 A B C C

E( )

G(E( ))

L(a b)

A(x L(a b))

B(A(x,L(a b)) )

CAx L(a b) B(AKx L(a b) )
D(z. Dz D( ))

5.2.2 ADT

(head) (tail)

ADTS5
LISP

ADT5 2Lists{



void CreatelLists(Lists * Ist);

BOOL IsEmpty(Lists Ist)

: TRUE FALSE
int Size(Lists Ist)
int Depth(Lists Ist)
Lists Head(Lists Ist)
Lists Tail(Lists Ist)
void Clear(Lists » Ist);
}
5.2.3
Tag Tag=0
Tag Atom Tp Tag Hp Tp Tp
Atom
Hp 5 7
[ = A ()
= B (¢
- . . C (a(b,c,d)
- AR

Gl | LGl
o[ -ele -l

|1|_L|*H1|’|Jr‘|1|'|ﬁ
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GLNode
typedef struct glnode{
int Tag;
struct ginodex Tp;
unior{
char Atom;
struct glnode = Hp;
h
} GLNode;
typedef struct Lists{
GLNode* first;
}Lists;

5.24

L=(20, a0, a0 1) a@i=0,1, ,n 1)
L L g
g 1 L
1 5 6
5 6
int  Dept(GLNodex p)
{
int max=0, dep;
if (p->Tag && !p->Head) return 1;
for (p=p->Head; p; p=p->Link){
if (p->Tag==0) dep=0; el se dep=Dept(p);
if(dep>max) max=dep;
}
return max+1;
}
int Depth(Lists Ist)

{
return Dept(Ist.First);

SNOBOL
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PASCAL C/C++
LISP

5 1 ADT 5 1 Insert  SubString

5 4 m
5 2(b) C
5 5 5 2
Length Length ADT5 1
5 6 5 4 ADT 5 1 Insert
@
a="(XYZ2)+* " b=" (X+2)*Y" a b
Replace I ndex

~

9) p t
9 s="acabaabaabcacaabc" p="abaabcac"

g — 01 ;g
[00]

5 10

(1) Pl="aaab"

(2) P2="xyxxxyyxxy"

(3) P3="abcabaabaca"

(4) PA="aabaacaababa"

5 11 KMP

5 12 L=((() a ((b c () d ((e)))
(1)

) 5 7

5 13

5 14
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6.1.1

[0S

6.1

(hierarchical data) (genealogical data)

Proto Indo-European

Italic

JT

Latin

[ [ 1
Spanish French |[talian

N N

Hellenic Germanic
| { : w .
Greek

North Germanic West Germanic

| |
[ T ] [ I ]
IcelandidNorwegiarBwedish English Dutch German
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(tree) n(n= 1)
(root) m(me 0)
(subtree)
n>1 n
(recursive data structures)
6.1.2
(node)
(child) (sibling)
(descendent)
(ancestor)
(degree)
(branch)
(level) 1
(height)
(non-ordered)
(ordered tree)
(forest) (orchard)
6 23 T T2
E A F B A F
N F CLMND

6 1
m
m O
m
)
(path)
(parent)

(leaf)

(ordered forest)

6 2
T, A F B
E F C

E 3

T1 G M N J

Ty

L

B

E
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@

(21, 25, 28, 33, 36, 43)

36 36 28
28

6.2.1

(binary tree)

36

36

36
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6 4 6 5
( 6 6)
2
@ ® © @ ©
6 4
(A
(D) (B)
(B) (© o ©
© @® ©
@ (© ® ®
6 5 6 6
2.
1 i (i 1) 2!
i=1 i=k
s , i=k+1
k+1 2% 2k 1=k
2 h 21
=0 h>0 1 h
h .
Zz"lzzh—l 6 1)
1=
3 n b (n+1)0
h 2" n< 2", h> Ib(n+1) h
h>  [Ob(n+DO

4 ng 2 nz
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No=np+1
1 n n N=ng+ny+n,
n 1=m+2n, np=no+1
1 h 2" 1 (full binary
tree)
2 2
(complete binary tree)
6 7

@ ®
6 7
€) ; (b)
5 n b (n+1)0
h 2™
h 2h_1
2™ 1 2" 1 6 2
2™ i 2 (6 3
h 1 Ib(ntl)< h (6 4
h lb (n+1) h= b (n+1)0
6 n
1 n ( 6 7) i 1I<i<n
D i>1 azn =1 ;
(2 2i<n 2i
(3 2itl<n 2i+1
6.2.2 ADT
( ADT6 1)

ADT6 1BTree{
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void CreateBT(BTree xBt);
BOOL ISsEmpty(BTree bt)
: TRUE FALSE
void MakeBT(BTree* Bt K x, BTreexLt BTree=*Rt)
*Bt x *Bt *Lt *Bt *Rt
*Lt  *Rt
void BreskBT(BTree*Bt K xX, BTreexLt BTreexRt)
*Bt *X x|t *Bt *Rt
*Bt *Bt
BOOL Root(BTree Bt, K * X)
*X TRUE FALSE
void InOrder(BTree Bt, void(» Visit)(BTNodex u))
Bt Visit *U
void PreOrder(BTree Bt, void(Visit)(BTNodex u))
Bt Visit *U
void PostOrder(BTree Bt, void(=Visit)(BTNodex u))
Bt Visit *U
}
6.2.3
1.
6
6 8 1
1 0
6 8

0O 1 2 3 4 5 6 7 8 9 10
| [22]=2]4]s]ef7]e] o]

6 8 6 7(b
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. Lehild | Elemett |  Rehild

Lchild Element Rchild
6 9(b)

Lchild
6 9

Elment

)

Rchild

@ + (b)

BTree
typedef struct btnode
{

K Element;
struct btnodex Lchild, = Rchild;

}BTNode;

typedef  struct btree{
struct btnodex Root;

}BTree;

Parent

BTNode Element

2n n+1

BTNode
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K T
C
C++
ADT( 23 )
3.
6 1 ADT6 1 C
CreateBT MakeBT  BreakBT
CreateBT
Root Bt->Root=NULL,;
MakeBT BTreex Bt Tx BTreexLt BTreexRt
X *Lt  *Rt
*Lt *Rt *Bt
Lt->Root  Rt>Root MakeBT
Lt->Root Bt->Root
Rt->Root Bt->Root
Lt->Root
x|t *Bt
MakeBt Lt->Root=Rt->Root
=NULL;
BreakBT MakeBT
Bt->Root=NULL; free(p);
MakeBT BreakBT x|t
*Rt

6 1 C
BTNodex NewNode( )

{
BTNode+x p=(BTNodex)malloc(sizeof(BTNode));
if (IS_FULL(p)X{
fprintf(stderr, "The memeny is full\n");
exit(1);
}

return p;

}
void CreateBT(BTree x Bt)
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{
Bt->Root=NULL;
}
void MakeBT(BTreex Bt, T X, BTree «Lt, BTree «Rt)
{
BTNodex p NewNode( );
p->Element=x;
p->LChild=Lt->Root;
p->RChild=Rt->Root;
Lt->Root=Rt->Root=NULL;
Bt->Root=p;
}

void BreakBT(BTreex Bt, T xx, BTree xLt, BTree Rt)
{
BTNode * p=Bt->Root;
if(p){
*x=p->Element;
Lt->Root=p->L Child;
Rt->Root=p->RChild;
Bt->Root=NULL;
free(p);

}
6 2 6 1
PreOrder  InOrder

6 2

void main(void)

{
BTreea x,v,z K g
CreateBT(&d); CreateBT(&X);
CreateBT(&Y); CreateBT(&2);
MakeBT(&Y, E, &a, &3a); MakeBT(&z, F, &a, &d);
MakeBT(&X, 'C, &Y, &2);
MakeBT(&yY, D', &a, &4);
MakeBT(&z, B, &Y, &X);
PreOrder(z, Visit);
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InOrder(z, Visit);
BreakBT(&z, &€, &Y, &X);
PreOrder(z, Visit);
InOrder(z, Visit);

}
a xy z CreateBT
MakeBT main 6 10
6 10(e z a x y
BreakBT 6 10(e 6 10(c) (d)
BTree a X, Y, z; MakeBT(&y, 'E’, &a, @@
CreateBT (& a); CreateBT(&xPp, © © MakeBT(&z,'F, &a &®); z
CreateBT(&Y); CreateBT(&z)x y z ®
@ x MakeBT(&y, 'D’, &a, @y
MakeBT(&X, 'C', &Y, &2); @
©
MakeBT(&z, 'B’, &Y, &X);
®©
6 10
€Y (b) y z (9 “Cy z X
(d) y (¢ “B"y X
6.2.4
6.2.2 ADT6 1
(traverse)
6 3 K  char Visit *P
6 3
typedef char K;
void Visit(BTNode * p)
{

printf("%c ", p->Element);
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VLR LVR LRV VRL RVL VRL

vV R
VLR LVR LRV
VRL RVL RLV
oy (VLR)
(2 (LVR)
3) (LRV)

(A)
@ G A B DCEF
B DAETCE
@ e e D BETFCA
@ (o)

6 11
@ (b)
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e e A DEHFJGBC K
HEJFGDAUBK C
@ G @ HJGFEDTIKTCB A
@ ®
6 12
@ (b)
6 4
C
6 4 C
C
6 4 Visit
(* ) )
void (+Visit)(BTNode * u) Visit
( C ) Visit
6 3 Visit
PreOrd InOrd  PostOrd PreOrder InOrder
PostOrder
ADT6 1
PreOrd
Bt.Root PreOrd(Visit, Bt.Root) Bt.Root BTree
Preorder
Visit
6 4

void PreOrd(void (xVisit)(BTNode » u), BTNode *t)
{
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if (t{
(xVisit)(1);
PreOrd(Visit, t->L Child);
PreOrd(Visit, t->RChild);

}
}
void InOrd(void (Visit)(BTNode * u), BTNode t)
{
if (O
INOrd(Visit, t->LChild);
(xVisit)(t);
InOrd(Visit, t->RChild);
}
}
void PostOrd(void (Visit)(BTNode * u), BTNodext)
{
if (0
PostOrd(Visit, t->LChild);
PostOrd(Visit, t->RChild);
(xVisit)(t);
}
}
void PreOrder(BTree Bt, void (= Visit)(BTNodex u))
{
PreOrd(Visit, Bt.Root);
}
void InOrder(BTree Bt, void (xVisit)(BTNode * u))
{
InOrd(Visit, Bt.Root);
}
void PostOrder(BTree Bt, void (xVisit)(BTNodex u))
{
PostOrd(Visit, Bt.Root);
}
Bt
6 11(a) PreOrder(Bt  Visit)
Visit PreOrd(Visit, Bt.Root)
Bt.Root Bt

PreOrd (Visit, Bt.Root)
A
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PreOrd(A) 6 13
PreOrd(A)
VisitA
PreOrd(B)
Visit(B)
PreOrd(NULL)
PreOrd(D)
Visit(D)
PreOrd(NULL)
PreOrd(NULL)
PreOrd(C)
Visit(C)
PreOrd(E)
Visit(E)
PreOrd(NULL)
PreOrd(NULL)
PreOrd(F)
Visit(F)
PreOrd(NULL)
PreOrd(NULL)

6.2.5*

34

6 5 (iteration)
PreOrder

|PreOrder PreOrder
6 5
typedef BTNodex T;
void IPreOrder(BTree Bt, void (= Visit)(BTNodex u))

ADT6 1
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Stack s; BTNode *p=Bt.Root;
CreateStack(& s, maxStack);
Push(&s, NULL);
while(p){
(xVisit)(p);
if (p->RChild) Push(&s, p->RChild);
if (p->LChild) p=p->LChild;

ese{
StackTop(s, &p); Pop(&s);
}
}
IPreOrder BTNode *
NULL
p'=NULL p
(xVisit)(p) P
*Pp *Pp
if (p->RChild) Push(&s, p->RChild)
14 6 11(a) 6 5
O C D F
(BTNodex)
D
C C C
A A A A
@ (o) © )
F
A A A
C] ) ()
6 14
€) A C (b) B D (© D (d) D C

(e) CF ) E F Q) =
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6 6
void [InOrder(BTree Bt, void (*Visit)(BTNodex u))
{
Stack s; BTNode * p=Bt.Root;
CreateStack(& s, MaxStack);
while (p||!ISEmpty(s){
if (o}
StackTop(s, &p); Pop(&s);
(+Visit)(p);
p=p->RChild;
}
ese{
Push(&s, p);
p=p->LChild;

O(n)
O(n)

6.2.6*

Size
Size(p->LChild) Size(p->RChild)
Size(p->L Child)+Size(p->RChild)+1
6 7 Sizeof BT
Size Sizel
Size
6 7
int Size(BTNode * p)
{
ints, sl, s2;
if (Ip) return O ;
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else{
s1=Size(p->LChild);
s2=Size(p->RChild);
s=s1+s2+1;

return's;

}
int Sizeof BT(BTree Bt)

{
return Size(Bt.Root);

}
int Sizel(BTNode * p)
{
if (Ip) return O ;
else return Sizel(p->LChild)+Sizel(p->RChild)+1;

6 8
int Depth(BTNode * p)
{
if (p)return0;
else return 1+max(Depth(p->LChild), Depth(p->RChild));
}
int DepthofBT(BTree Bt)

{
return Depth(Bt.Root);

p *P Copy
*q *p *q
g->L Child=Copy(p->LChild); g->RChild=Copy(p->RChild);
*p g->LChild
g->Rchild *Q *P *P
6 9 NewNode 6.2.3 6 1
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6 9
BTNodex Copy(BTNodex p)

{
BTNodex q;

if (Ip) return NULL;
g=NewNode( );
g->Element=p->Element;
g->L Child=Copy(p->LChild);
g->RChild=Copy(p->RChild);
return g;

}
BTree Copyof BT(BTree Bt)

{
BTree a;

a.Root=Copy(Bt.Root);
return g

6.2.7*

n n+1
n+1

(thread)

6 15a@ 6 9(a) 6 15(b)

6 15
LTag RTag

| Lchild | LTag | Element | RTag | RChild |

LTag O LChild LTag 1 LChild
( ) ( ) RTag O RChild

RTag 1 RChild ( ) ( )
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’
s

NEEEE

[
//
FeTale[a] <1 [F 2] F[ 2] ¢]

@
6 15
@ (b)
2
6 15(b)
6 10
6 10 MakeThread
BuildThreadBT
MakeThread(t->RChild, ppr))
6 10
void MakeThread(BTNode *t, BTNodex ppr)
{
if(t) {

MakeThread(t->LChild, ppr);
if(xppr) if (!(xppr)->RChild) {

®

6 15
LTag RTag
Ltag 1
Rtag 1
BuildThreadBT MakeThread
MakeT hread

(MakeThread(t->LChild, ppr)

(*ppr)->RTag=1; (*ppr)->RChild=t;

}
else (x ppr)->RTag=0;
if("t->LChild) {
t->LTag=1; t->L Child=*ppr;
}
€lse t->LTag=0;
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* ppr:t;
MakeThread(t->RChild, ppr);

}
void BuildThreadBT(BTree Bt)

{
BTNode *pr=NULL;

if(Bt.Root){
pr=NULL;
MakeThread(Bt.Root, &pr);
pr->RTag=1,

BuildThreadBT pr NULL

MakeThread MakeThread ppr BTNodex *

*ppr NULL

*ppr
t
(1) *ppr *t
*t  Ltag=1

(2 *ppr *ppr *t
(*ppr)->RChild *ppr Rchild
(*ppr)->RChild=t  (*ppr)->Rtag=1 (*ppr)->RTag=0

(3) t->L Child *t  LChild Ltag
t->L Child=+ppr t->LTag=0

(4)  *ppr=t

5) MakeThread Rtag
BuildThreadBT 1
3
6 11
GoFirst

6 11
BTNodex GoFirst(BTree Bt)

{
BTNodex p Bt.Root;

t

&pr
*ppr

*ppr

*t  LChild

RTeg

t->L Tag=1
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if (p) while (p->LChild) p=p->LChild;

*p *p

p->Rchild
*p *p

return p;
}
4, *P
6 12
*p
Next
NULL
6 12 *Pp
BTNodex Next(BTNode * p)
{
BTNode = g=p->RChild;
if (!p->RTag)
while (!g->LTag) g=g->LChild;
return g;
}
5.
GoFirst  Next
TINOrder 6 13
6 13
void TInOrder(BTree Bt, void (*Visit)(BTNodex u))
{
BTNode *p;
p=GoFirst(Bt);
while (p){
(xVisit)(p);
p=Next(p);
}
}
16
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6.3

6.3.1
( )
6 17
6 17@ T, T
(»)
Q o © ®
® © 6 6 © © (&
OENGIG
. ®W 6B O
@ ©
@ (o)
6 17
(€Y F=(Ty, To); (b)) F B
1.
F=(Ty T Tn) F B(F)
(D] F B
2 F B F T1 Ri B
(Tll T12 Tlm) B (TZ Tn)
2.
B=(R LB RB) R LB RB

F=(Ty T Tn)

Ry



6 123

Q B F
2 B F Ty R T, B
LB F (T2 T) B RB
(divideand
conguer)
6.3.2
1.
m
‘ Element ‘ Child, ‘ Child, ‘ ‘ Childh, ‘
m n
m n=m n 1
mm (n 1)=n(m 1)+1
2.
LeftChild Element RightSibling
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Root
® ® -
(E) E -
17°6 & o
H O @ @ Y1
@ © _ BERIEIRNR RN
I L1 1
©
6 18
(€Y (b) (©
3.
Element Parent Parent
6 19(b) (¢ 6 19(a) 6 19(c
( c )
Parent 1 Parent
Root
Root = Element Pare
ol D 1
@ \ 1| E 0
o r E FM M st
4 H 1
@ o | H| . | | J | | 5 J 2
@ ® ©
6 19
(@ (b) ( ) (© (
4,
LeftChild Element RightSibling Parent
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5.
6 17(a) ( 6 17(b)
A B CK DEHFJG
6 20
LChild LTag LTag
0 ( ) LTag 1
( ) Sibling
LTag
Sibling IW—L ¥ {
Sibling sibling 4| 2| 1| 1| 1| 7| 2l o 1| 1
LTag ElementA | B| C| K|[D|E|H|F|J]| G
1 6 179 LT O| 1| 0| 1|0|0|1]|0]|1]|1
6 20 0O 1 2 3 4 5 6 7 8 9
6.3.3 6 20
1

(1)

(2)

3
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6 17(a)

ABCKDEHFJIG 6 17(b)

2
6 178 ADBCEFGKHJ
6.4*
( ) (priority queue) (FIFO)
( )
O(n)
O(nlbn)
6.4.1
1.
n (heap) n

(MinHeap) (MaxHeap)
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(k1! k2! ’ kn) n (k1! k2! ’ kn)
ki< Ky ki< ka1, (=1, 2, , /20 ( )
6 21 6 21(a) 6 21(b) 6 21(c
6 21(a)
1
@ ()
[ 8] 0] 24] 62[ 46| 2] 70] 75] 0]
1 2 3 4 5 6 7
©
6 21
@ (b) (© @
2.
1 MaxSize
1
typedef struct minheap{
int Size, MaxHeap;
T Elements[MaxSize];
}MinHeap;
3.

AdjustDown AdjustDown

void AdjustDown (T heap(], int r, int n)
(heap[r+1], , heap[n]) ~ n-r heap[i]< heap[2i]  heap[i]<
heap[2i+1] (i=r+1,2, , /20
heap[r] (hep[r], heap[r+1], ,heap[n]) n r+l

AdjustDown heap[r] temp heap[r] temp

( heap[2r] heap[2r+1] ) temp
temp temp
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6 22 AdjustDown
heap[3], heap(4], heap[9] heap[i] heap[2i]
heap[2i+1] i=3 4 heap[ 2] 6 22

© @
6 22
(a r=2 (b) 92 18 (¢ 92 50 (d) 92
CreateHeap
/20
1 AdjustDown 1
C 6 14
6 1 6 22 6 1
6 1
1 2 3 4 5 6 7 8
61 28 81 43 36 47 83 5
1 61 28 81 5 36 47 83 43
2 61 28 47 5 36 81 83 43
3 61 5 47 28 36 81 83 43
4 5 28 47 43 36 81 83 61
6 14

void AdjustDown (T heap(], int r, int n)
{
int child=2xr; T temp=heap[r];
while (child<=n) {
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if (child <n && heap[child] > heap[child+1]) chilc++:
if (temp<= heap[child]) bresk;
heap[child/2]=hesp[child];

child »=2;
}
heap[child/2]=temp;
}
void CreateHeap(MinHeap *hp)
{
int i, n=hp->Size;
for (i=n/2; i>0; i—)
AdjustDown(hp->Elements, i, n);
}
6.4.2
1. ADT

ADT6 2PQueue
ADT6 2 PQueug{

nz 0 MinHeap
void CreatePQ(PQueue = pg, int maxsize);

BOOL IsEmpty(PQueue pq)

: TRUE FALSE
BOOL IsFull(PQueue pq)
: TRUE FALSE
void Append(PQueue *pq, T X)
Overflow X
void Serve(PQueue *pg, T *X)
Underflow X
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typedef MinHeap PQueue;

2.
ADT6 2 AdjustDown
AdjustUp AdjustUp
AdjustDown
6 23
6 15 AdjustUp C
© @
6 23
(a) 24 (b) 24 62 (€ 24 30 (d) 24 18 24
6 15 heap[ n] temp heap[ n] i n
temp heap[i/2] temp heap[i/2] heap[i/2] heap[i]
temp temp=> heap[i/2]
6 15 AdjustUp
void AdjustUp (T heap[], int n)

{
int i=n; T temp=heap[i];
while (i'=1 && temp<heap][i/2]){
heap[i]=heap[i/2]; i/=2;
}
heap[i]=temp;
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AdjustDown  AdjustUp
Append  Serve 6 16 Append Serve C
ISEmpty  IsFull Pqueue MinHeap
MinHeap
Append X ( pg->Elements ++pg->Size]
=X) AdjustUp
Serve x( *X=pg->Elementg1])
1( pg->Elements 1] =pg->Elements] pg->
Size--];) AdjustDown
6 16 Append  Serve
void Append(PQueue *pqg, T X)
{
if (IsFull(*pq)) printf("Overflow");
ese{
pg->Elements[++pg->Size]=x;
AdjustUp (pg->Elements, pg->Size);
}
}
void Serve(PQueue =pg, T *X)
{
if (ISEmpty(pq))printf("Underflow");
ese{
*X=pg->Elements[1];
pg->Elements] 1]=pg->Elements[pg->Size--];
AdjustDown (pg->Elements, 1, pg->Size);
}
}
6 2 71
74 2 72 54 93 52 28
6 2
1 2 3 4 5 6 7 8
1 71
2 71 74
3 2 74 71
4 2 72 71 74
5 2 54 71 74 72
6 2 54 71 74 72 93
7 2 54 52 74 72 93 71
8 2 28 52 54 72 93 71 74
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6 2 2 28
52 54 71 74 72 93
n Ob(n+1)0
AdjustDown  AdjustUp
Append  Serve Append  Serve
O(lb n)
6.5
( )
6.5.1
1 &
(extended binary tree) 2 (2 treg) (23 (29

6 24
2 (8 ©

1 & G

(internal path length) 6 24
1 d(c> 1) e
d(c= 0) 2
¢ bkE1 de= [bkO n
I
n
> Z[bkm
2 (external path length)
E 1+2n n

ASCII

(6 5
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E> i[bk[-}- 2n (6 6)

= n
E=l+2n
n
n=1 1=0 E=2  E=0+2=2

n 1
% k %
Y n 1
Ik E 2(k+1)+k
E k 2= k+2(n 1) 6 7
E=1+2n (6 8
3
(weighted path length)
m
WR:ZW&
m Wy k Ik
6 24 [=0+2+2+3=7 E=6+3+8=17
6 24
WPL=(11+12+13)x2+9x3+(3+5)x4=131
6.5.2
1.
(Huffman agorithm) (Huffman
coding tree)

D {wgy, Wy, Wy} n F={T, T,
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To} Ti Wi ( )
@ F
(©)] F F
(4) 2 3 F
6 25 (3509 11 12 13 @
F (b) 3 5 (© 8 9 (d)
u 1 © 13 17 ) 23 30

eoea 8 00

©OBEOG® G) (5 (8 ©
©10
@ ® ©
O B 2
13 (19
(8) (9
Yo (8) (9)
©I10
@ C] (f)
6 25
(€Y F (b 3 5 (0 8 9
(d) 11 12 (e 13 17 (f) 23 30
2
6 25 n
BTree htffMaxSiz€];
6 17 C CreateHFM Tree
CreateHFM Tree Kw[] intn w[ ]

n CreateHFM Tree

BTree CreateBT MakeBT Fmin

6 17 C

BTree CreateHFM Tree(K w[ ], int n)
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BTree zero, ht{MaxSize];
inti, k, k1, k2;
CreateBT(&zero);
for (i=0; i<n; i++)MakeBT(&ht[i], w[i], &zero, & zero);
for (k=n 1; k>0; k—)
Fmin(ht, &k1, &k2, k);
MakeBT(&ht[k1], ht[k1].Root->Element+ht[k2].Root->Element,
&ht[k1], &ht[k2]);
ht[k2]=ht[k];
}
return ht[0];
}
CreateHFMTree  Fmin
BTree CreateHFM Tree(K w[ ], int n)

wl ] n K
BTree CreateBT  MakeBT Fmin
void Fmin(BTree ht[], intx k1, intxk2, int k)
ht[] k
ki1 k2 k1 k2 k
ht
CreateHFM Tree
D n ht[i] wli]
2 Fmin ht[O] h[K]
ki1 k2
3 ht[k1].Root->Element+ht[ k2] .Root->Element ht[k1] ht[k2]
ht[k1]
4 ht[K] ht[k2] ht k
©) 2 3 4 k 0 ht[O]
(6) ht[O]
6.5.3
ASCII ( ) EBCDIC ( )

ASCII 7
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A B E F
G DI K M
S:{ dl; d2; ’ dn} W:{WL WZ! ’ Wn} S
W
0 1
S{A B C D} W={4 2 1 1
6 26 ABACABDA W
01001100101110 14 A 0 B
00 C 10 D 11 16
s {A,B,C, D}
W {4, 2, 1, 1}
A O
B 10
C 110
D 111
@ ®
6 26
@ (b)
6 25 6 27

S {A,B,EC,D,F}
W {3,5,9, 11, 12, 13}

1100
1101
00
o1
111
10

mTmoO®m>

@

@ (b)
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0 1
, 6 26 , 01001100101110
0 A A
1 1
0 B B
6.6*
6.6.1
(Union Find set)
v={0,1, ,n 1} V3V, ,Vmn V Vi Vo V=V
VinVi=F(i# i,j=1, ,m) s {V,Vy ,Vm} V (partiton)
UFset
Find Union Find i
Union
V={0 1 2 3 4 5 6 s{Vi V. V3 V,={0} V,={1 2 3
4} Vs={5 6} S
ADT6 3UFsgt
ADT 6 3 UFset{
void CreateUFset(UFset s, int n)
UF S n

int Find(UFset *s, int i)
i

void Union( UFset =s, int x, int y)
Xy
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6.6.2
ADT6 3 ADT
(
)
Element Parent Parent
Parent Parent
1
Element 6 28
Parent ( )
s={V: V., V3} Parent 1
Parent 1
0] 1
1| 2 © @& @
-~ (2 @ G
3 1
a 3 ©
5 6
v, {0}, VY {1,2 3, 4}, Y5, 6},
6 1 s {4
Parent
6 28 UFset
«( )
CreateUFset n
Parent I( 6-29(a)) Union
6 29(b) Find
i i
Parent 1 i Find

6 18 ADT 6 28
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QOEOLOE

o 1 2 3 4 5 6
Lo o] o o o] 2] 2

@

0 1 2 3 4 5 6

[ 2] 2]=2fefa]oe] 2
®
6 29
(a) Create UFset (b) 6 28 Union(3, 6)
6 18 C
#define MaxSize 50
typedef struct ufset{
int Parent{fMaxSize];
int Size;
}UFset;
void CreateUFset(UFset s, int n)
{
inti;
s->Size=n;
for (i=0; i<n; i++) s->Parent[i]= 1,
}
int Find(UFset *s, int i)
{
for (; s>Parent[i]>=0; i=s->Parent[i]) ;
returni;
}
void Union( UFset #s, int x, int y)
{

s->Parent[x]=y;
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}
Find
Union
bnl+1 Parent
Find “ ”
| |
Union Find 6 19
6 19 Union Find
int Find2(UFset s, int i)
{
intr, t,1;
for (r=i; s>Parent [r]>=0; r=s->Parent[r]);
if (i!=r)
for (t=i; s->Parent [t]!=r; t=1){
|=s->Parent[t]; s->Parent[t]=r;
b
returnr;
}
void Union2(UFsetxs, int x, int y)
{
int temp=s->Parent[x]+s->Parent[y];
if (s>Parent[x]>s->Parent[y]) {
s->Parent[x]=y;
s->Parent[y]=temp;
}
ese{
s->Parent[y]=x;
s->Parent[x]=temp;
}
}

6.6.3

S={0 1 2 3 4 5 6}
{01 2330456 5
{4 5 6

Parent

R=
(012 3
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D i

2 Find(i) Find(j) i

3 xzy Union(x, y)
OOOEO®OEO

o PO0000

(©
0 P P000

. A @06
@9 G
©
6 30
@0 1 (2 3 (93 0
6 1 (
6 2 A B C
6 3 m 1 2

6 30 Union Find

A
A A

S {0,1,2 3, 4,5,6}
R {0 1,2 3,3 0,4 5,6 5}

@4 5 (&6 5

m n m Nm
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(1)
(2)

(1)
(2)

3)
(4)
6 9

6 13

6 14

(1) 10
(2) 80
(3) 80
6 16

(2)

(3

BDCEAFHG;
DECBHGFA

20 30
70 60
10 70

6

31

32

40
50
20

31

50 60 70 80
40 30 20 10
60 30 50 40

CreateHeap
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8}

6 18 S={A,B,C,D,E,F} W W={2,3,5,7,9, 12}

(1)

(2

(©)

6 19

6 20 K={1 2 8} R={1 232452055 6 7
R

6 21 8 {0 1 7

(1) Union(1 2) Union(3 4) Union(3 5) Union(1 7) Union(3 6)
(2) Union2(1 2) Union2(3 4) Union2(3 5) Union2(1 7) Union2(3 6) Find2(3)
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ENRS

7.1
7.1.1
(se)
(member) (multi-set)
{1,1,2,3} {1,231}
(ordered set)
( )
2 1 3
( )
typedef struct entry{

KeyType Key,
DataType Data ;

(collection)

{1,2,3}
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} Entry;
KeyType DataType KeyType Key
KeyType C
Data DataType
(key)
(primary key)
(secondary key)
“ i LI N1] ”
(table)
(file)
( ) 12
(search)
(
)
7.1.2 ADT
( ADT7 1)
ADT7 1Set{
MaxSet

void Createlist(Set » s int maxsize);

BOOL ISEmpty(Set s)
: TRUE FALSE

BOOL IsFull(Set 5)

: TRUE FALSE

BOOL Search(Sets KeyTypek, T #x)
: k
TRUE FALSE

*X
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BOOL Insert(Set *s T x)

: k
TRUE FALSE
BOOL Remove(Set s  KeyTypek, T #X)
: k
TRUE FALSE
}
7.1.3
B Trie
ADT
7.2
1.
(sequential search)
typedef int KeyType;
typedef struct entry{
KeyType Key,
DataType Data ;
}Entry;
typedef Entry T;
7 1 C
Ist k Ist.Elementd[i].Key
Ist.Elementd[i] *X TRUE
FALSE
7 1

BOOL SegSearch(List Ist, KeyTypek, T xX)
{
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inti;
for (i=0; i<lst.Size; i++)
if (Ist.Elements[i].Key==k) {
x=lst.Elementg]i]; return TRUE; [+

}
return FALSE; [

(@ a, a1

a.Key < a.Key (0<i n 1)
a.Key a
7 2 C
a.Key oo MaxList 1

Ist.Elementg[i]. Key = k for
Ist.Elementq[i].Key==k
7 2
#define MaxNum 1000
BOOL SegSearch2(List Ist, KeyTypek, T *Xx)
{
inti;
|st.Elementg[Ist.Size] . Key=MaxNum;
for (i=0; Ist.Elementd[i].Key<k; i++);
if (Ist.Elements[i].Key==k) {
*x=lst.Elementd]i]; return TRUE; [+

}
else return FALSE; [

ADT 7 1 St Search

SeqSearch  SeqSearch2 Search
Search

ASL (Average Search Length)

pi=1l/n 7 1

*/
*/
a,
for
*/
*/
n
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n-1 1 n n+1
ASL; == +)==Vi=—=
s 2 (i+1) N Z >
SeqSearch n
SeqSearch?2 SeqSearch
SeqSearch?2 SeqSearch
(B0, @, a0 1) a0 & @
& v @2 @na a1 n+l
1 2.
ASL, =1+——S (i +1)
n+1l&
1 & n
=l+—>HYi=—+2
n+1e& 2
4
ASLs Pz P12 2 pPna
5

(self-organizing list)
(count) (move-to-front) (transposition)

7 1

a1

7 2
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7
7.3
i a Ki Ki
tkey
(1) tkey<Ki;: tkey (G0, &, @& 1)
(2) tkey==K;:
(3) tkey>K;: tkey (B+1, 8420 80 1)
|
7.3.1
(Gow Aow+1,  » Bhigh),
i=(low+high)/2
7 3 C
bSch  BSearch bSch
BSearch
bSch mid low  high
mid mid
mid [low, mid 1],
[mid+1, high]; 1
BSearch bSch
7 3
int bSch(List Ist, KeyTypek, int low, int high)
{
int mid;
if (low<=high){
mid=(low-+high)/2;
if (k<lst.Elements[mid].Key) return bSch(lst, k, low, mid  1);
elseif (k>Ist.Elementsimid].Key) return bSch(lst, k, mid+1, high);
elsereturn mid; [ */
}
return  1; [+ */
}

BOOL BSearch(List Ist, KeyTypek, T *Xx)
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{

inti;

i=bSch(lst, k, 0, Ist.Size);

if (== 1)return FALSE;

else{

*x=lst.Elementg]i]; return TRUE;

}

}
7 4
7 4

BOOL BSearch2(List Ist, KeyTypek, T *Xx)
{

int mid, low=0, high=Ist.Size 1,

while (low<=high){

mid=(low-+high)/2;
if (k<lst.Elementg[mid].Key) high=mid 1;
elseif (k>Ist.Elementsmid].Key) low=mid+1;
ese{
*x=lst.Elements[mid]; return TRUE;
}
}
return FALSE;

}

BSearch BSearch2 Search

7.3.2

(1) key=66
[217 30 36 41 52 54 66
21 30 36 41 52 ([54 66
21 30 36 41 52 [54 66]
21 30 36 41 52 54 [66]

mid

key

72
72
72
72

83
83
83
83

97]
97]
97
97

[%

[%

BSearch2

[%

[*

Search

Ki

*/

*/

*/

*/
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(2) key=35

[21 30 36 41 52 54 66 72 83 97

[21 30 36 41 52 54 66 72 83 97

21 30 [36 41 52 54 66 72 83 97

21 30] [36 41 52 54 66 72 83 97

(binary decision tree)
D key Ki
i key Kij

2 key K; [
(©)] i key K; key

key K; key
4 key K key<K; i

i 1 key K; key Ki;
[ [
i 0O i nl1 Kij key Ki+1
i= key Ko i=n 1 key>K, 1
©)
1 10
71 (n=10)
n ( ) Obn31
(b n(#+1
bnO  Obn#1
n=2 1  k=lb(n+1)
1 1 2 2 , i 2't

(P

=1/n)
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_lk- i—1_1k- i _ i
ASLS—nZ|D? —nZ|(2 27

:i&imi—i(nn 2‘@
ﬁ%i@i—ii@i—i?@

=L -2+ +1)
n

:n:llb(n+1)—1

7 3

O(lbn)

7 4

Ib(n+1
“ib(n+p+ 20+ 4
<lb(n+) ( n
7.3.3*
(Fibonacci)
[h (n=0,1)
f,= %
n-1 +fn—2 (n2 2)
n fm+1 1( nifm+1 1 )
1 [1, fmea 1]
key
mid=fm [1, mid 1] [mid+1, n]
(
m fm+1 1 fm+1
Tm m
(1) m=0 m=l Te=T: 0
2 m>1 Thm fm Tm
Tm 1 m 2 Tm 2+fm Tm 2+fm Tm 2
fm
7 2 n=f; 1=12 6
u u 1
i fuo i+fy o
i u=2 3 fu 1:f1:1 fu 1:f2:1
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i u=2 fu =fo=0
Ki>key
726 (n=f; 1=12)
i key u p=fu1 q
fu 2 i u 1 i fu2 p fu 2 qg fus
i=l q t=p p=qg;g=t ¢ i u 2
i fu2 p fu 3 qg fuas i=i+q; p=p
. 9=q P
( (key<Ki&& g==0)  (key>K;&& p==1))
7 5 C i fm p fma
O=fm 2 k IstElementgi 1].Key
1 Elements 0 i
i 1 7 2
7 2
7 5
BOOL BFSearch(List Ist, KeyTypek, T xx)
{
intt, i=1, p=1, g=2, n=lst.Size;
while (g<=n){
p=q; o=i+q; i=p;
}
p=q i;0=i p; 1% i fmop fmo1 O=fm 2%/
for(; ;)
if(k==Ist.Elements[i 1].Key){
*»x=lst.Elements]i 1]; return TRUE; [+ */
}
else

if (k<Ist.Elementsi 1].Key)
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if (g==0) return FALSE; Ix */
ese{
i=i o t=p; p=g; o=t q;
}
dse if (p==1) return FALSE; I% */
else{
i=i+q p=p ¢;0=q p;
}
}
mid
7.4*
n
n
( ) bn+1
n
bnl+1
n
n
n 0 n1 i i
n L L O<jsn 1 i#
L(j)=L'(j)zkey L(i)=key L’(i)zkey key L@{i) L'®)
L L i i
L) L'(i) key L L
n n
2 h 2"-1 ns 2" *
h=> Obnl+1 Obn(+1 Ob(n+1)0

Obnl+1
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Obn3-1

~N NN N

~N NN N NN

mid
key

A W DN P

© 00 N O O

1

12
13

mid

12

(forgetful)

Obn3-1

o) O(lbn)

key
[low, mid] [mid+1, high]

C
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E08

8.1

(binary search tree) (binary sort tree)

8.1.1

(1)
(2)
3

Entry

typedef int KeyType;
typedef struct entry{
KeyType Key;
DataType Data ;
}Entry;
typedef Entry K;
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8.1.2

typedef  struct btnode{
K Element;
struct btnodex LChild, * RChild;
}BTNode;
typedef  struct btree{
BTNodex Root;
}BTree;

8 1
BTNode+ Find( BTNode *p, KeyType k)
{
if (!'p) return NULL; I%
if (k==p->Element.Key) return p; /%
if (k < p->Element.Key) return Find ( p->LChild, k );
return Find( p->RChild, k);
}
BOOL BtSearch(BTree Bt, KeyType k, K *Xx)
{
BTNode+ p= Find(Bt.Root, k);
if (p) {
*X=p->Element; return TRUE; %

}
dsereturn FALSE; /%

while

8 2
BOOL BtSearch2(BTree Bt, KeyType k, K *Xx)

{
BTNode *p=Bt.Root;

while (p){

*/
*/

*/

*/
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if ( k<p->Element.Key) p=p->LChild;
else if(k>p->Element.Key) p=p->RChild;
ese{
*X=p->Element; return TRUE;

}
}
return FALSE;
}
8.15
8.1.3
BtSearch2
q
“ Duplicate”
X q
X r
*I *(
*I *(
NewNode2 2 4 8 2
8 3
BOOL Insert(BTree =Bt, K x)
{
BTNodexr, »p=Bt->Root, *q;
KeyType k=x.Key;
while (p}{
q=p;

if (k<p->Element.Key) p=p->LChild;
else if(k>p->Element.Key) p=p->RChild;
else{

printf("Duplicate\n"); return FALSE;

}
r=NewNode2(x);
if(Bt->Root)

if(k<g->Element.Key) g->LChild=r; else g->RChild-=r;

else Bt->Root=r;
return TRUE;

[%
[*
*I
q

43
[%

[*
[*

*/

*/

*/

2 4/

*/
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© @
8 2 (x.Key=43)
(a) p=Bt->Rooat; (b) g=p; p=p->RChild; (c) g=p; p=p->RChild; (d) r=NewNode2(x); gq->RChild=r

8 3

8 3
@ (b) 28 () 21 (d) 25 () 36 (f) 33 (g 43

8.1.4

Insert
o} “ No element with key”
p *p
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1) *p *p
*S *S *P (replace) *S
*P *P
2 *p *p p->LChild
p p->Rchild p *P NULL
*P C C
( )
()
free *P
8 4 8 4
8 5
8 4
BOOL Remove(BTree »Bt, KeyType k, K *Xx)
{

BTNode ¢, r, *s, *p=Bt->Root, *(;
while (p && p->Element.Key I=k)

{
aq=p;
if ( k<p->Element.Key) p=p->LChild;
else if(k>p->Element.Key) p=p->RChild;
}
if('p){
printf("\nNo element with key k");
return FALSE;
}

*X=p->Element;
if (p->LChild && p->RChild){
s=p->RChild; r=p;
while (s->LChild){
r=s; s=s->LChild;
}
p->Element=s->Element; p=s, ¢-r;
}
if (p->LChild)c=p->LChild; else c=p->RChild;
if(p==Bt->Root) Bt->Root=c;
elseif (p==g->LChild)g->LChild=c;
else g->RChild=c;
free(p); return TRUE;

p->LChild

[*

[*

*/

/% replacex/

*/
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@ *p (b) *p

©

8 5
©) (b) 23 (¢ 21 (d) 28
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8.1.5*

n n
(20 30 40 50 60 70)
O(n)
O(lbn)
n(n> 1) i

ni 1 p(n)

p(n) n

g
p(m) = ; p; (n)

pi (n) =%(1+i @)+ +(n=i =D Wp(n—i-1)+1))

B 1 n-1
p(n) = n z pi(n)

n-1
:n*lz 2(1“ Qp@) +1) + (n—i - Qp(n—i -1 +1))

n-1
=142 3 (0p) + (n-i-Dp(n i 1)

n-1

=1+ 5 S0 (= 2)
n-1
p(n) =1+ % Zi ()< 1+4lbn (n= 2)
n® £

O(lbn)

8.2

n=6

@ 1

@8 2

@8 3

8 4
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8.2.1
(balanced binary tree) AVL (GM.Add’son-Vel’skii ~ E.M.Landis)
(1) 1
(2)
(balance factor)
1 0 1
1 8 6(a) AVL 8
6(b) AVL
@ ®
8 6
(@ AVL (b)) AVL
AVL AVL (AVL )
AVL
AVL
Bf
Element Ef

IChild EChild

typedef  struct avinode{

K Element;

int Bf;

struct avinodex LChild, *RChild;
}AVLNode;

8.2.2
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14 25
D
2
subtree)
©)
1
s)
56
D
@)
©)
q
1.

AVL

44

—0°C
8 7
7
25 25
0 25
14 14 12
0 14 12
14 12 g 7
(the left subtree of the right
44 44 43 56 0 56 44
44 56 44
(the left subtree of the left subtree)
1
0
1 (
0 0
s 8 7 12
s
S (spectial node)
s q ( )
q s
s q ( 9
q s
q
1 AVL 1

56
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39

} gk
h h —
Y f
®
8 8

(€Y (b)
S (s

Bf O

8 9
@

®

(b)

[ o
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3.
q s
S q
(@) LL
q s s
Bf 1 S Bf 1 r
q s
LL LL s
s r
s
8 10(a) apr LL
LL r(aug)
may LL r

@

LL Y

11—

(e T —

[—

®

@ (b)
LL
):
r=(xs)->LChild;
if (r->Bf==1){

( (9

I+ LL

*/
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LL

(2)

1

jun

(x¥s)->LChild=r->RChild; r->RChild=+s;

(x9)->Bf=0; xs=r;

r

(r->RChild==s; )

0

8 1(a)

LR

LR
S

jun
LR

1)s
nk
B
Sk
Y f
8 11(b)

q

jun

u

LR

(+s)

LR(a)

(u

11

@

Bf

(b)

(b)

((+9)->LChild=r->RChild; )
0((+9)->Bf=0;) r

0

r

S

a A v[A %
LR
LR
q
12 LR
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LR(b)
(3 (u Bf 0
u
1)° 0)"
r r 0)S
u
a:] 6?’1 LR(c) alt Iﬁlylilal
+ B A v A + (u Bf 1) ¢ + + ¢
h 1 h 1
| |
8 12 LR
LR s r u
u=r->RChild; r->RChild=u->LChild; u->LChild=r; (*s)->LChild=u->RChild; u->Rchild
=%, switch u->Bf
S r u 0 u
(rs=u;)
else{ I+ LR x/
u=r->RChild;
r->RChild=u->LChild; u->LChild=r;
(xs)->LChild=u->RChild; u->RChild=+s;
switch(u->Bf){
case 1:(x9)->Bf= 1; r->Bf=0; break;
case 0:(x9)->Bf=r->Bf=0; break;
case  1:(xs)->Bf=0; r->Bf=1,;
}
*S=U;
}
S LL LR
8 5 C (LeftRotation)
S LL LR
S
LL RR LR RL
unbalanced
8 5

void LeftRotation(AVLNode *s, int * unbal anced)
{
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AVLNode* u, *r;
r=(xs)->LChild,
if (r->Bf==1){ /% LL */
(xs)->LChild=r->RChild; r->RChild=+s;
(x9)->Bf=0; »s=r,
}
ese{ /* LR */
u=r->RChild;
r->RChild=u->LChild; u->LChild=r;
(xs)->LChild=u->RChild; u->RChild=+s;
switch(u->Bf){
case 1:(x9)->Bf= 1; r->Bf=0; break;
case 0:(x9)->Bf=r->Bf=0; break;
case  1:(xs)->Bf=0; r->Bf=1,;

}
*S=U;
}
(xs)->Bf=0; * unbalanced=FALSE;
}
8.2.3
Insert AVLIst
X
AVLIst
D X
@) s
3 LeftRotation RightRotation
S
AVLIst
o (P )
unbal anced TRUE
*P LChild
Rchild AVLIst(& (*p)->LChild, x , unbalanced);

AVLIst(&(xp)
->RChild, x, unbalanced);

AVLIS{(& (*p)->LChild, x ,
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unbalanced ) ( ) * unbalanced TRUE

switch ((+p)->Bf){
case  1:(xp)->Bf=0; »unbalanced=FAL SE; break;
case 0:(x p)->Bf=1; break;
case 1L eftRotation(p, unbal anced);

}
( *p ) 0 (*p)->Bf=1
1 (xp)->Bf=0 *Unbalanced FALSE
+1
LeftRotation LL LR LeftRotation
8 6 Insert AVLIst AVLIst
LeftRotation  RightRotation LL RR LR RL
RightRotation 8 7
8 6
BOOL AVLIst(AVLNodex * p, K x, BOOL *unbal anced)
{

BOOL result=TURE;
if (! +p)Y{
*unbalanced=TRUE; » p=NewNode2(x);
}
elseif (x.Key<(xp)->Element.Key){ /xx.Key < (*p)->Element.Key/
result=AVLIst(& (*p)->LChild, x, unbalanced);
if (+ unbalanced)
switch ((xp)->Bf){
case  1:(xp)->Bf=0; »unbalanced=FAL SE; break;
case 0:(x p)->Bf=1; break;
case 1L eftRotation(p, unbalanced);

}
elseif (x.Key==(xp)->Element.Key){ [xx.Key==(xp)->Element.Keyx/

*Unbal anced =FAL SE;
printf("\nThe key is already in the tree\n");
result=FALSE;

}
else{ [+x.Key >(xp)->Element.Keyx/

result=AVLIst(&(xp)->RChild, x, unbalanced);
if (xunbal anced)
switch ((*p)->Bf){



171

case 1:(*p)->Bf=0; »unbalanced=FALSE;
case 0:(xp)->Bf=-1; break;
case  l:RightRotation(p, unbal anced);

}

return result;

BOOL Insert(BTree *Bt, K x)
{
BOOL unbalanced;
return AV LIst(&Bt->Root, x, & unbalanced);

8 7 RightRotation
void RightRotation(AVLNoder s, int * unbalanced)

{
AVLNode* u, *r;
r=(xs)->RChild;
if (r->Bf==1){
(*s)->RChild=r->LChild; r->LChild=x*s;
(xs)->Bf=0; *s=r;
}
else{
u=r->LChild; r->LChild=u->RChild;
u->RChild=r; (*s)->RChild=u->LChild;
u->LChild=*s;
switch(u->Bf){
case 1:(x9)->Bf=0; r->Bf= 1, break;
case 0:(x9)->Bf=r->Bf=0; break;
case  1:(xs)->Bf=1; r->Bf=0;

*S=U;
}

(*s)->Bf=0; *unbal anced=FAL SE;

13

break;
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8 13
(@ 45 (b) 28; (0) 15 (d) LL (e 12
(f) 14 (g) LR (h) 23 (i) LR
8.2.4
k
k
( )d q q k
q
q q p q q
p q
q q p
shorter shorter FALSE

shorter TRUE
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p p
p shorter  FALSE

h h h
a1t : .
8 14
8 15 15 15
( ) 16 16 15 16
q( 16) p 0
(shorter
8 15
2 p
p p
p 0 p
p
o] P
1 (0]
p
shorter TRUE
0 o ﬁ B4 alk BIA
h h 1 —— h 1 h 1
p ¢ Y | '

8 16 d
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8 17 20 25 25
25 25 30 qg p
q Y
Y Y
Y P 0
0 1 p

8 17
3 p
p p
r p r
@ r 0 p r
shorter FALSE
8 18
4\ To) P
o Y
f B ? y ﬁ — [a]} B f h
h h h 1 h
‘* P -l
8 18 ( )
2 r p p
0 shorter TRUE p
8 19
3 r p u r
p u Op r
u shorter TRUE
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8
P o) "
T 73
o % Y T
h AL y T = [a]XA B[A h
h 1 h 1 h 1 ¢
o< § Lol ; +
8 19 ( )
P 5 u
/—\ r
1 r
u Y
o 3] A
L L [P [
2 2
+ P Ir? ; Y hA ; + Y Y Y +
VLD
8 20 ( )
O(lbn)
8.2.5
AVL
Np h AVL
h 1 h 1 h 2
(
)
No=0 N;=1 N;=N; 1+Nj »+1 (8 5)
Np
FOZO F1:1 Fh:Fh 1+Fh 2 (8 6)
Ni=Fnz 1 (h= 0) 8 7

F= 0"+/5 d=(1++/5)/2 Nv= 6™45 1

n
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(8 9

logg(v/5 (n+1)) 2 O(lbn)

O(lbn)

8.3

(internal search)

AVL

(external search)

8.3.1

N 10°
Ib N Ib 10°% 20

20

21

\\\\\\\\

\\\\\\\\\\\\\

\\\\\\\\\\\\

21

Pn)

(K

P2)

P) (K2

n P (Kl
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P Ki I<isn m
(2) Ki<Kjsg, I=i n
P Ki Ki+1 0 i n
PO K1 Pn Kn
P 0O<i<n m
m 1 m
8 22 8 23
(failure node) X
8 23
4
(712 30 45 56_77_ 84 92 )
B B B
@
(npoKllesz...Ian... )
®)
8 22
@ (b)
8 23 53
53 35 35

8 9



178 —cC

m 1 m m' 1 h
h  m' 1 N m
logm(N+1) N 5 200 3210 1
5 32+10° 1 200 5
32+10° 1 m
B
832 B
1970 R.Bayer E.Mereight B
( ) B
m B m
(1
(2) /20
()
B
( )
8 24 4 B
o200 1=1 8 24 4 B
m 1=3
833 B
B B S B N
B 1 N=s 1
B
1 n B N
t n N=t n t
t=n s 1 n s 1=N n N=s 1 B
B 1
B N m B
B
200 2«20
h+1 2+ (/20" h+1

m B N N+1
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N+1> 2«(mnv20™! (8 10)
N+1
he 1+Iog@,2EE?E @ 11)
N B
1 logmwan ((N+1)/2) B (
)
834 B
B m
1+|Ogﬁn/2D((N+l)/2) B B
835 B
B B
8 24 4 B 59
53 64
59 53 64
m 1 59 q 4
4 B ( 8 25(a)) B q
8 25(a) q
o} /200 53 q (
8 25(h)) q V20
8 25(c)

@ ®
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(9)

1

C

(1)

(2)

3

—0°C
47 64 q 47 64 53
8 26(b) (o q 53
53 o}
q q q
53 q o} r 8 26(d) (e
r 53 r r t 8 26(f)

@

@3

(53, 0)

B

(@]

8 26 B
® q (© 53 (d 253
rMr (@ 371 t (h)

B

) q

) q
/20 Ko

( q) Koo
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@ @
(4) ©) q q
q q Konzn

q( m, B(K, B), (5 P, ... (KP,) )

@

q
(Tm/z LoPde B), 8 B). ... (|3 1 Fua 2)
®)

q

( m [0/2 By Kuvz w1 vz wd - G B )
©

(Kryz 97 )
@

8 27 B
@ B (b)
(c) (d)

=h+2(h 1)+3 3h+l (8 12
N m B p B

P m B 1+(@20 1)(p
p s p2 )
s(p 2)/N
< (p 2Q{1+(w20 1)(p 1)}
1(0w20 1) (8 13
m=200 1/99
ht2stl h+2/99+1= h+1 (8 14)
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836 B
B
“ ” B
8 28 8 24 4 B-
35 39 35 8 28(a)
r 39 ( 8 28(b) r
( 20 1 )
p 43 rr
p a7 r 43

(o2 )

35

® @
8 28 8 24 B 35
) 39 35 (b) r (39, )
(© (d) 35 B

B w20 1

8 29 8 28 B 27 S 27
S s S
18 s 18
s S u 18



8 183

® ©
8 29 8 28 B 27
(€Y 27 h s s (0 27 B
B
1)
( )
(2 mv2o 1
©) mv20 1
20 1
8 28(c)

(4) mv20 1
2 3 @
(5
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8.4*

8.4.1

13

{a, and, are, be, but, by, for, from, had, have, he, her, here}

30
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()
8 31 “ ha” @ o
{ had, have}
Trie 9 G
(®
8.4.2 8 31
8 30
a (o)
8 32 8 30
(& ()
C ORCRONORE
® ® (®
8 32
age $
rqg p q p
{0,e$} 8 33
r
(a)
q P
ORO=0
(@) (e)
® ®
@ ®
8 33 {g,e$}
(€Y (b)
8.4.3 Trie
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d=27

Trie

Trie

Trie

6.5

(Ibn)

Trie(retrieval )
Trie
$abcdefgh
|||"||||T||T|| |
r e u y o r

o Lol | DL Lol Lol Lol JULT Tol lo]
@ ) 3

(are) Jros

Trie

Trie

(AVL

AVL
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AVL
(splay)
m(m= n)
O(n) m
O(lbn)
(
(rotation)
D
q (b)
@) (
q
q
©) (
q
q
q
8 35 8 36 8 37
(»)

8 35

@

O(Ibn)
n
O(m Ibn)
O(m Ibn)
( )
8 35
q
q
8 36
g g
q
q
8 37
q
()

JENRAN

®
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@
8 37
@
q
D
@)
©)
O(mlbn)
8 38

(b)

®

8 38(a

89
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8 38
@) 89 ¢ (b)
© (d)
(
B )
AVL B
8
8 1 37 45 91 25 14 76 56 65
76 45
8 2
3 28 25 36 33 35 34 43

0 00
[o2 BN &2 IF SN
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8 7 AVL
8 8 AVL
MDA z B Y C X
@A VvV L TREI SOK
8 9
mar may nov aug apr jan dec jul feb jun oct sep

10 h AVL

1 AVL

12 AVL

13

14 B

15 5 B 2

16 agf b kdhmjes:.

0 00 00 0 00 00 0

14 B

(295 B

8 17 4 B aef h

8 18

{cai, cao, li, lan, cha, chang, wen, chao, yun, yang, long, wang, zhao, liu, wu, chen}
8 19 Trie
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ERUS

9.1
(dictionary)
(key)
ADT7 1
(dictionary with
duplicates)
( ) k
AVL
B-
9.2*
William Pugh 1989
AVL

AVL
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9.21

9 1(c)
(skip list)
9 1(a)

on) 9 1(b) 4

9 10

0 9 1)
n 1 2 2 4 . i
! 0 i i1 ( )
9 19 2 2 7 48 1 3 19 43 70
0

2t ot a3t
1 2 22 32 2 N
b nO Obnd 1
head tail

- ]

@

head

E»I ke 7|+>|19|+>|22€»|43|*|»|48|+>I70|+§

®

£AMA#AWHéawHw¥w+]

©

(3@ (b) (©
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0
9 1(c) 43 2
22 43 22<43 o 43 0> 43 1
48 43 48> 43 0 43 43 43>
43 0
43 22 o 48 43 43
9 1(c) 46 46 22
o 48 43 48 48
3.
9 o) 1
2 3 n/2 i
56 1 56 48 70 0 1
9 2
head tail
2[e [
1fe [ o [ o] o
o[l [l
9 2
1 12
2 14
int lev=0;
while (rand( )<= RAND_MAX/2) lev++;
rand( ) RAND_MAX
b nI( n )
lev MaxLevel (b nO
lev=(lev<=MaxLevel)Aev:MaxLevel;
3
0 2 9
10 3 8

Leve
if (lev>Levd) lev=t++Leve;
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1(c) i

Link Link[i]

MaxLevel+1
SkipNode
Link

Link
typedef int KeyType;
typedef struct entry{
KeyType Key,
DataType Data ;
}Entry;
typedef Entry T;
typedef struct skipnode{
T Element;
struct skipnodex Link[1];
} SkipNode;
SkipNodex NewSkipNode(int lev)

{
SkipNodex p;

9-2 56 9

C
struct skipnodex Link[1]
SkipNodex NewSkipNode(int lev)

¢ )

p=(SkipNodex )mall oc(si zeof (SkipNode)-+(1ev) si zeof (SkipNodex ));

return p;

6. C

typedef struct skiplist{
int MaxLevel, Level;
KeyType TailKey;

SkipNodex Head, *Tail, = Last;

} SkipList;
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9 1
9 1
void CreateSkipList(SkipList * sl, KeyType maxnum, int maxlev)
{

inti;
sl->MaxLevel=maxlev; sl->Level=0; sl->TailKey=maxnum;
sl->Head= NewSkipNode(maxlev);
sl->Tail= NewSkipNode(0);
sl->L ast=(SkipNodex * )mall oc((max| ev+1)* sizeof (SkipNodex));
sl->Tail->Element.Key=maxnum;
for (i=0; i<=maxlev; i++)
sl->Head->Link[i]=dl->Tall;

}
9 1 MaxLevel bnO TailKey
Leve Head
Last
CreateSkipList Last
MaxLevel+1
9.2.2
Search SaveSearch
Search
Last
Search ADT7 1 SaveSearch
SkipNodex SaveSearch(SkipList xsl, KeyType k)
k
k sl->Last[i](0< i< Level)
9 2
p
0
p->Link[0]
SaveSearch s->Lasl[i]=p;
Last
9 2

BOOL Search(SkipList sl, KeyType k, T *x)

Tail

sl.Head

( )
SaveSearch
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9.2.3

SkipNodex p; int i;

if (k>=9l.TailKey) return FALSE;

p=sl.Head;

for(i=dl.Level; i>=0; i—)

while(p->Link[i]->Element.Key<k)

p=p->Link[i];

*X=p->Link[0]->Element;

return (x->Key==Kk);

SkipNodex SaveSearch(SkipList xsl, KeyType k)
{
SkipNodex p;inti;
if (k>=9->TailKey) return NULL;
p=sl->Head;
for(i=dl->Level; i>=0; i—){
while(p->Link[i]->Element.Key< k)
p=p->Link[il;
sl->Last[i]=p;
}
return (p->Link[Q]);

9 3

TailKey

SaveSearch Level

Lev+l

9 3

int Level(SkipList )
{

int lev=0;

while (rand()<= RAND_MAX/2)

lev++;

return (lev<=sl.MaxLevel)Aev:s.MaxLevel;
}
BOOL Insert(SkipList xsl, T x)

{
SkipNode #p, *y; int lev, i;

Badlnput
Lev
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Last[i]

9.24

KeyType k=x.Key;

if (k>=d->TailKey) {
printf("Badinput"); return FALSE;

}

p=SaveSearch(d, k);

if (p->Element.Key==k) {
printf("Duplicate"); return FALSE;

}

lev=Level (x4);

if(lev>dl->Level ){
lev=++gl->Level;
sl->Last[lev]=sl->Head;

}

y= NewSkipNode(lev); y->Element=x;

for(i=0; i<=lev; i++){
y->Link[i]=dl->Last[i]->Link[i];
sl->Last[i]->Link[i]=y;

}
return TRUE;
SaveSearch
Last[0]
Last
Badl nput
( k i )
Level
9 4

BOOL Delete(SkipList xsl, KeyTypek, T* x)

{

SkipNodex p;int i;
if (k>=sl->TailKey) {
printf("Badinput"); return FALSE;

}
p=SaveSearch(d, k);

Last

*X
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if (p->Element.Key!=k) {
printf("Badinput"); return FALSE;

}

for(i=0; i<=d->Level && d->Last[i]->Link[i]==p; i++)
sl->Last[i]->Link[i]=p->Link][i];

while (s->Level >0& & sl->Head->Link[sl->Level]==d->Tail)
sl->Level—;

*X=p->Element;

free(p); return TRUE;

}
n
O(lbn)
MaxLevel
O(nMaxLevel) n
1 m(2) i (
9.3
(
Trie )
9.3.1
Loc(key)=h(key)(L oc(key)
) key

h (hash function)

O(ntMaxLevd),
maxLevel+1

/2
)

(CIY

2n

key

h(key)

(hash list)
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( A Z 1 26)
h
h(Hebei)=h(Henan)=h(Hubei)=h(Hunan)
h(Shandong)= h(Shanxi)= h(Shanghai)= h(Sichuan)
(collision)
Ki  K; KizK; h(Ki)=h(Kj)
(synonym)
31 40
0 39 31
40 40 Cat 31
=401/9! 40°= 4%10% 401/9'= 10%
23
23
365 0.4927
h(key)
8 26T g<i<736
1000 1000
9.3.2
h
(1)
(2
M 0< h(key) M
key h(key)

[0 M 1]
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1. (Division)

h(key)=key % M

key M M M
M=2"  h(key)=key % M
k key M 10
M P h(key)=key % P
2. (Mid-square)
key (key)?
h(key) ( ) M
3 9 1
9 1
0100 0010000 010
1100 1210000 210
1200 1440000 440
3. (Folding)
1) (shift folding)
2 (folding at the boudaries)

key=12320324111220

3 key 4
123203 241 112 20
9 3@ 9 3(b)
3
123 123
203 302
241 241
112 211
+ 20 + 20
699 897

@ (b)

@ (b)
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4, (Digit Ananlysis)

9.3.3

(collision resolution)

“

942148
942356
942572
942664
943395
942472
942731
941287
942345

9 4

(chaining) (open addressing)
(opening hashing) (closed hashing)
9 5
11
[y e o O = e |
°l (23] 33| ~F—{ 55[ - o] 3
1| e—
11
2| o
A
| |
3 (35 =+ 9] ]
4] e— )
[ e N ey e N P
° ] 26 ot 40|~} #2] 3
9 5
k
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N
N/M
9.34
M
0 M 1
key h(key)
h(key) h(key)
(probing sequence)
(linear probing) (pseudo-random
probing) (quafratic probing) (double hashing)
1.
h(key), h(key)+1, ,M 1,0, ,h(key) 1
h(key)
h(key)+1
h=(h(x)+i) modM ( i=0,1,2, M 1)
9 6 1
9 6( 58 h(58)=58
%11=3 9 6(a 3 4
58 4 24 24
2 9 6(b) 35 9 6(c)
0 1 2 3 4 5 6 7 8 9 10
| | feo] [ [ [4of | |e
@
0 1 2 3 4 5 6 7 8 9 10
i | |2a[so[ss| | |ao] | [es]
®
0 1 2 3 4 5 6 7 8 9 10
o | |ze[s0]ss[zs] [ao] | o9
©
9 6
€) 3 (b) 58 24 (o) 35

h(key)
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key
h(key)(
9 6(c
47 3 80
47 58
47

58 4

TRUE
FALSE

( NeverUsed)

TRUE
( key)

9 5
Element  Empty Empty
M t
HsNode CreateHashTable
9 5

key
)
47
35
( Empty)
h(key)

#define NewArray(k) (HsNodex)malloc((k)+ sizeof (HsNode))

typedef struct hsnode{
T Element;
BOOL Empty;

} HsNode;

typedef struct hashtable{
int M;
HsNode- t;

} HashTable;

void CreateHashTable(HashTable xhtb , int divitor)

{

h47) 47%11 3

35

9 6(c)

h(key)
NeverUsed

FALSE

HsNode
HashTable
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inti;

htb->M=divitor;

htb->t=NewArray(htb->M);

for (i=0; i<htb->M; i++){
htb->t[i].Empty=TRUE;
htb->t[i].Element.Key=NeverUsed;

C
#define NewArray(k) (HsNoder)malloc((k)+*sizeof(HsNode))

9 6 Search hSearch

9 6
int hSearch(HashTable htb, KeyType k)
{
inti, j;
i=k % htb.M; j=i;
dof
if (htb.t[j].Empty || htb.t[j].Element.Key ==k) return j;
i=(+1) % htb.M;
Ywhile (j!=i);
return j;
}
BOOL Search(HashTable htb, KeyTypek, T xX)
{
int b=hSearch(htb, k);
if(htb.t[b].Element.Key!=k) return FALSE;
*x=htb.t[b].Element;
return TRUE;

}
hSearch

int hSearch(HashTable htb, KeyType k)

Empty TRUE k h(key)

Search hSearch hSearch

k FALSE k
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*X TRUE

9 7
NeverUsed

NeverUsed
9 7
BOOL Insert(HashTable htb, T x)

{
int i=x.Key % htb->M;
intj=i;

dof

if (htb->t[j].Element.Key ==x.Key) {
printf("Duplicate\n"); return FALSE;

}

else if(htb->t[j].Element.Key ==NeverUsed){
htb->t[j].Empty =FALSE; htb->t[j].Element =x;

return TRUE;
}
j=(+1) % htb->M;
Ywhile (j!=i);
printf("OverFlow\n");
return FALSE;

9 8
hSearch

NeverUsed
9 8

BOOL Delete(HashTable »htb, KeyType k, T* x)

{
int b=hSearch(xhtb, k);
if(htb->t[b].Element.Key!=k){

printf("No element"); return FALSE;

*X
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*x= htb->t[b].Element;
htb->t[b].Element.Key =NeverUsed;
return TRUE;
}
9.35
(primary clustering)
1.
Yo h(key)
Yir (yitp) %M (i=0,1,2, )
Yo M p M
12 24 9 20 15 6 5 M 8 h(key)
9 2
9 2
key 12 24 20 15 6 5
h(key) 4 6 4 7 6 5
p 7 12 24 9
D 20
yi (4 %8 3 3 20 3
2 15
15 7
(©)] 6
yi (6 7)%8 5 5 6 5
(4) 5
yvi 6 7N"%8 4 vy, 4 %8 3 y3 (3 7)%8 2 5
9 3
9 3
0 2 3 4 5 6 7
5 20 12 6 24 15
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ha a(key)=(h(key)+)% M  hs(key)=(h(key) )%M i=1,2,3, ,(M 1)
M 4k+3 k
503, 1019
h(key), hu(key), ho(key), , ha a(key), hai(key),
9 7
(Burke Ekers Broad Blum Attlee Alton Hecht Ederly)
h(k) ( 0 25 A Z )
9 7(a 23
9 7(b)
k| Burkd Ekerd Broad Blum| Attles Hechll Altor| Ederly
hk) 1 4 1 1 0 7 0 4
@
0 1 2 3 4 5 6 7 8 9
| BIurr'{ Burkei Broaci | Ekersi Ederl4 | Hech1 | |
13 14 15 16 17 18 19 20 21 22
I I O T I I R R I
®
9 7
(3@ b @
(secondary
clustering)
3.
M Ho Hi H:

hu(key), (hu(key)+hy(key))% M, (hu(key)+2xha(key))% M,

Hi=(hu(key)+iBi(key))% M ,i=0,1, M 1
M key ha(key) M M
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M
M hy(key)=key % (M 2)+1
9 8 hi(key)=key % 11 hy(key)=key % 9+1
0 1 2 3 4 5 6 7 8 9 10
| | feo] [ [ [4of | |e

@
0O 1. 2 3 4 5 6 7 8 9 10
i | |2a[s0] | | |ao|ss| |es]

®
0O 1 2 3 4 5 6 7 8 9 10
mi3s| |2a[s0] | | |ao|ss| |es]

©

9 8
@ 3 (b) 58 24 () 35

9.3.6

M n oa=n/M
(loading density) S
Un
( ) 9
Knuth * TheArt of Computer Programming: Sorting and Searching”
9 4

S Un

(U2)(1+U(1  a)) (U2)(1+U(1 a)d

(+a)in(1 a) U@ a)

( ) 1+a/2 ate %= a

O(n)

O(n)
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o ©O© ©
w N -

9 4
key % 9+1
9 5
9 6
9 7

SkipList

ht[11] h(key)=key % 11
70 25 80 35 60 45 50 55

hi(key)=key%1l hy(key)=

1000 0 999 200
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EFN0E

(CAD)
o 10 1(b)
- T
11
R,
C=+ G=F R,
Vl
ny
? ®
10 1
@ ®) @
10.1
10.1.1
(orepr) (v B V0O G
(edge) E(G) G

(vertices)
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(directed graph) V1, Vo (1)
1 ( tal) v

( head) vy, Ve Va2, V1 @‘e

"

(undirected graph)  (Vi, V) (4) (3) (3) ()
(v, v2) (V2 V1) ®@ ®
u v OE v, u
0OE E (u, v) 10 2
u v @ G,
10 2 G, G,
V(G1)=V(G2)={ Vo, V1, V2, V3, Va}
E(G)={(vo, V1), (Vo, V2), (Vo, V), (V1, V2), (V2, V3), (V2, Va), (Va, Va)}
E(G2)={ <V, V1>, <V1, Vo>, <Vp, Vo>, <Vo, V4>, <V3, Vo>, <V3, Vo>, <V3, Vs>}
(Vi, Vi) <vj, vi> (self loop) 10 3(a)
(multigraph) 10 3(b)

@ ®
10 3 4
@ (b)
(complete graph) nin 1)/2
nn 1) 10 4
(V1, Vo) Vi V2 (adjacent) Vi, V2
1 (adjacent to) V2, Vs (adjacent from)vy
(V1, Vo) V1, Vo Vi Vs (incident) 10 2(a) Vi Vo
10 2(b) G, \Z1 Vo Vo Vi Vs Vi, Vo Vo, Vo
Va, Vg V3, V2
G (subgraph) G=(V’, E) V'(G)OV(G), E(G)OE(G)
10 5@ (b) 10 2 G G

G Vo Vg (path)

Vp, Vl! V2! ) Vn ) Vq
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(Vo V1), (V1, V2), , (Vns Vq) G G Vp, V1 Vi,
Vs Vi, Vq G (path length)
@ ® ©
10 5 10 2
@ G b G © G
(smple path) (cycle)
10 2 G Vo, V1, V2, Vs ,
3 Vo, V1, V2, V4, Vo Vo, V1, V2, Vo, Va
Vo V1 Vo Vi1 Vo V1
(connected graph)
Vo Vi Vo Vi Vi Vo
(strongly connected graph) 10 2 G G,
(connected component)
(strongly connected component) 10 6
A A
°v° °“
©, © ©, ©
@ ®
10 6
@ G (b Gs
(degree) v
(in-degree) % % (out-degree) %
10 6(a) 0 4 3 1
(spanning tree)
n 1 ( 10 5(c)
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0 1
(directed acyclic graph
DAG) (freetree)
(weight)
(cost) (weighted graph or network) 10 4
10.1.2 ADT
( ADT10 1)
(u v) <y, v> <v,u>
ADT 10 1 Graph{
\ E \Y <u, v>
void CreateGraph( Graph g, int n, T noedge )
. n
BOOL Add( Graph =g, intu, intv, T w)
: w( w 0) <u v
TRUE FALSE
BOOL Delete( Graph *g, int u, int v)
<u v> TRUE FALSE
BOOL Exist( Graph g, int u, int v)
<u v> TRUE FALSE
int Vertices Graph g)
}
ADT10 1
D void DFS(Graph g)
2 void BFS(Graph g)
(©)] void TopoSort(Graph g)
4 void Critical Path(Graph g)
5) void Prim(Graph g int k)
(6) void Kruskal (Graph g  int edges)
@) void Dijkstra(Graphg intk, Td[], int p[])
(8 void Floyd(Graph g T**&d, int

& path)
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10.2
10.2.1
1.
n G=(V,E)
(adjacency matrix) nxn A A 0 1
G A
A(u,v):D' (uv)OE (v,u)OE
G A
A(uv)—é <u,v>0E
G () A
Ow(u,v) <uv>0E
A(u,v):B) u v
w(u, V) <u, v>
10 7 10 7d) (& G
10 7(f) (o Gs
0 <u, v> Ay, v) <u, v> A(u, v)
o0
@ ® ©
0 1 2 3 0 1 2 3 0 1 2 3
00 1 0 V1 00 0 00 00w ®
11 0 1 1 11 o 1 |0 14 0 5
2l0 1 0 1 2/0 0 0 1 2lw o O
31 1 170 31 1 0 -0 31 1 » /0
(C) C ®
10 7
@ G (b) G (9 Gs
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2.
CAD (incidence
matrix) 10 1
Ogy +iy =0 ( n)
catico =i =0 ( ny)
Oz tico —ics=0 (1 ng)
BRZ_iLZ ( n,)
Huf
L, G L, Ry C C3 R, OO
n, 1.0 0 1 0 0 0 {H.,p
n, 0 -1 1 0 0 1 0 Hap
n, 0 0 -1 0 0 0 1 OO
Hea P
A Ip
A 1,=0
G=(V E) nxm
1 \ j
Av.)=H 1 v
&L v
3.
C
Graph Vertices A
T
0 1 0 o T
10 7(f) 0 A[ll] w <u, v>OE
w1 ) w () <u,v>OE  w 0O( ) w oo )
Graph NoEdge NoEdge O NoEdge

00
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typedef struct graph{
T NoEdge;
int Vertices;
TxxA;
} Graph;
4
CreateGraph n
10 1 CreateGraph A
NoEdge ATl NoEdge O
o A[i][i]=0
10 1
void CreateGraph(Graph= g, int n, T noedge )
{
inti, j;
g->NoEdge=noedge;
g->Vertices=n;
g->A=(T**)malloc(nx sizeof(Tx));
for(i=0; i<n; i++){
g->A[i]=(T+)malloc(n sizeof(T));
for (j=0; j<n; j++)
g->A[i][j]=noedge;
g->A[i][i]=0;
}
}
5
10 2
(1) Add u<O v<O uwn 1 wv>n 1 u==v
g->A[u][v]!=g->NoEdge <u v>
<u, v> g->A[u][v]=w;
w <u, v> w=1
(2) Deete : u v o->A[u][v]==g->NoEdge
<u, v> g->A[u][v]=g->NoEdge
(3) Exist u v g->A[u][v]==g->NoEdge
<u, v> FALSE TRUE
10 2

BOOL Add(Graph =g, int u, int v, T w)
{

NoEdge
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int n=g->Vertices,
if(u<0 || v<O || u>n-1 || v>n-1 || u==v || g->A[u][v]!=g->NoEdge){
printf("Badlnput\n"); return FALSE;

}
g->A[u][v]=w; return TRUE;

}

BOOL Delete(Graph *g, int u, int v)

{
int n=g->Vertices,
if(u<0 || v<0 || u>n-1 || v>n-1 || u==v || g->A[u][v]==g->NoEdge){

printf("Badlnput\n"); return FALSE;

}
g->A[u][v]=g->NoEdge; return TRUE;

}

BOOL Exist(Graph g, int u, int v)

{
intn; n=g.\Vertices,
if(u<0 || v<O || u>n-1 || v>n-1 || u==v || g.A[u][v]==g.NOEdge)
return FALSE;
return TRUE;
}
10.2.2
1
u u % <u, v>
u u ( u)
10 8(a)
AdjVex u NextArc u
W 10 8(b)
u 10 8(c¢) Element
FirstArc u
10 8(d) 10 7(b) G,
Element 10 8(e 10 7(a) G

10 8(f) 10 700 G, Gs
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|AdjVex| NextAr+ |AdjVe wW |NextAr+ |Elemen* FirstAr4
@ ® ©
0 o LI
2 I S I S oy o a1 B g N K g S K
2 Bl o 2 [ G
3 S e EH S I K e ) s e R I o B
) i ® )
0
AL
2 ela] 45 '
| e F
® i
10 8
(a) (b) (© 0 G
e G ®  Gs
2 C
C
ENode AdiVex W  NextArc Graph Vertices
10 8(e) () A
typedef struct enode{
int AdjVex;
TW,
struct enode * NextArc;
}ENode;
typedef struct graph{
int Vertices;
ENodex* A;
} Graph;
3.
CreateGraph n
10 3
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10
A
10 3
void CreateGraph(Graph+ g, int n)
{
inti;
g->Vertices=n;
g->A=(ENodex )mall oc(nx sizeof (ENodex));
for(i=0; i<n; i++) g->A[i]=NULL;
}
4,
10 4
(1) Exist u
Exist Aluy] u
TRUE FALSE
(2) Add Add
Alul

weight, ENodex nextarc)

NULL
u % Aluy]
AdjVex %
w u, v
ENoder NewENode( int vex, T
NextArc NULL
Aluy] AdjVex

(3) Deete Delete
\'%
10 4

ENodex NewENode( int vex, T weight, ENodex nextarc)

{
ENodex p;
p=(ENodex)malloc(si zeof (ENode));
p->AdjVex=vex; p->W=weight;
p->NextArc=nextarc;
return p;

}

BOOL Exist(Graph g, int u, int v)

{
intn; ENodex p;
n=g.\Vertices,

if(u<0 || u>n—1) return FALSE;

for(p=g.A[u]; p& & p->AdjVex!=v; )p=p->NextArc;

if (!p) return FALSE;
return TRUE;
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}
BOOL Add(Graph =g, int u, int v, T w)
{
int n; ENode =p;
n=g->Vertices;
if (U<O||v<O|lu>n-1||v>n-1|| u==v || Exist(*xg, u, v)){
printf("Badlnput\n"); return FALSE;
}
p=NewENode(v, w, g->A[u]); g->A[u]=p;
return TRUE;
}
BOOL Delete(Graph *g, int u, int v)
{
int n=g->Vertices; ENodex p, *q;
if(u>-1&& u<n) {
p=g->A[u]; g=NULL;
while (p& & p->AdjVex!=v){
g=p; p=p->NextArc;
}
if (p) {
if () g->NextArc=p->NextArc;
else g->A[u]=p->NextArc;
free(p); return TRUE;
}
}
printf("Badlnput\n"); return FALSE;
}
10.2.3*
(10 8@) (uwv) (vu)
10 9(a)
Mark Vertexl  Vertex2
Pathl Vertex1 Path2

Vertex2
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v v 10 9(d)
1 1 (0,1) Path?
1,2 Pathl 1,3 Pathl
0,1 (1,2 (1,3
| Mark | Vertex]l Vertex?l Path1| Path2| | Elemeni FirstAr4
@ ®

ElementFirstArc
PHOBNES

1 o]

of |et-lolz[1]

L el
EERnE
HEEN
L l2]3[r]nl=

© C)
10 9
@ (b) © (d) ( NULL)
10.3
10.3.1
v v G
(graph traversal)

(depth first search)
(breadth first search)

(mark bit)
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1
G
DFS
(D] % %
2 % G
10 10(a) G A DFS A
B D C B C D D A
A A B B B
D C D D A
C C A D D
B A DFS
A A
DFS
DFS
F G G
E E
( )
(dfs spanning tree)(
2.
10 5 DFS
Traversal_DFS 10 10(b)
DFS 10 10(c)
10 5 DFS
void DFS(Graph g, int v, BOOL *visited)
{
ENode *w;

visited[v]=TRUE; printf("%d ", v);
for (w=g.A[v]; w; w=w->NextArc)

if (Ivisited[w->AdjVex] ) DFS(g, w->AdjVex, visited);

}
void Traversal_DFS(Graph g)

{
BOOL visited[MaxSize]; int i, n=g.Vertices,

for(i=0; i<n; i++) visited[i]=FALSE;

for (i=0; i<n; i++)
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if (visited[i]) DFS(g, i, visited);

(® ©. ()
e N o[ A
‘ 1Bl o3[ F=2][A]
(© (D (© o[ c| e ~{0]A]
€] 3[D| et 0] 2]A]
® 6—0O A F [
® 5/G|et={4[t=3[A]
6| E| e—={ 5[ =4[]
© © ©
© ®
10 10
€) G (b G ( NULL) (9 G
\'
v DFS DFS
DFS n e
O(n+e) o(n?)
10.3.2
1.
G v
BFS v v

10 11(a) G 0
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1 11 10
2 56 9 01 11 10 2 5 6 9 3 4 7 8
( )
( )
2.
10 6 BFS Traversal_BFS
v ( )
Vv
#include'queue.h”
10 11(a) G BFS
10 11(b)
10 6 BFS

#include'queue.h"
void BFS(Graph g, T v, BOOL *visited)
{
ENode *w; T u; Queue (;
CreateQueue(& g, MaxNumVertices);
visited[V]=TRUE; printf("%d ", v);
Append(&d, v);
while (! ISEmpty(q))
{
QueueFront(q, &u); Serve(&Q);
for (w=g.A[u]; w; w=w->NextArc)
if (Ivisited[w->AdjVex]){
printf("%d ", w->AdjVex);
visited[w->AdjVex]=TRUE;
Append(&q, w->AdjVex);

}
void Traversal_BFS(Graph g)

{
BOOL visited[MaxSize]; int i, n=g.Vertices,
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for(i=0; i<n; i++) visited[i]=FALSE;
for (i=0; i<n; i++)
if (visited[i]) BF(g, i, visited);

}
v % BFS
BFS n
e O(nte)
o(n’)
10.4
10.4.1
1. (AoOV )
(topological sort)
PERT (Performance Evaluation And Review Technique) CPM(Critical Path Method)
(activity)
10 12(a)

Co

c1 C

c2 Cco c1

Cc3 Cc1 c2

ca c1

cs C3 c4

ce6 C3 c8

c7 Co

cs8 c7

@ ®
10 12 AOV
@ (b)
G G 10 12(b)
1 G

(activity on vertex network) AQOV
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10 12(b) AOV
AOV
(irreflexive)
AOV
2.
2 (topological order) AOV
[ T [
AOV
10 12
10 12
Co, C1, C2, C3, C4, C5, C7, C8, C6
Co, C7, C8, C1, C4, C2, C3, C6, C5
3.
D
@) (
(©) o @
D
InDgred|i] i (0]
(n )
4. C
10 7 C
InDegredi] i
CreateGraph Add
InDegree ( 10 8) MaxVertices
order[MaxVertices|
10 7 C

void TopoSort(Graph g int =order)

(transitive)

AOV

(DAG)

(2

InDgree

(2)

10 1

10 2
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10
{
inti, j, k, count=—1, top=—1, n=g.Vertices;
ENode = p;
for (I=0; i<n; i++) %
if (InDegreefi])}{
InDegreeli]=top; top=i;
}
for (iI=0; i<n; i++) { %
if (top==—1)
printf("Network has a cycle. Toposort terminated.");
return;
}
ese{
j=top; top=InDegree[top]; Ix
order[++count]=j; %
for ( p=g.A[j]; p; p=p->NextArc){
k=p->AdjVex; InDegreelk] —; Ix ]
if (InDegreefk]){
InDegree[k]=top; top=k; %
H+EndIf«/
}/xEndForx/
}*EndElsex/
}/*EndForx/
}/*EndTopoSortx/
10 8

int InDegree[MaxVertices];
void CreateGraph(Graph+ g, int n)
{
inti; g->Vertices=n;
g->A=(ENodex)mall oc(nx sizeof (ENodex));
for(i=0; i<n; i++){
g->A[i]=NULL;
InDegree|i]=0;

}
BOOL Add(Graph =g, int u, intv, T w)

{
int n; ENode *p; n=g->Vertices,

*/

*/

*/
*/

1/

*/
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if (U<O||v<O|lu>n-1||v>n-1|| u==v || Exist(*xg, u, v)){
printf("Badlnput\n"); return FALSE;
}
p=NewENode(v, w, g->A[u]); g->A[u]=p;
InDegree[v]++; return TRUE;

}
10 8
InDegree k
k k top
InDegreg[K]=top top=k
O(n)
InDegree
O(nte) n e
10.4.2*
1. (AOE )
AOV
AOV
AQV AOE (activity on edge)
(event) (activity) (duration)
10 13(a) <i, j> k a=w(i, j)
a 10 13(b) AOE u
Vo Vg
vi(i=1, ,7)
Vs & & % & =6 2y
=4 )

10 13 AOE
@ a  <i,j> (b) ACE
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( )
(source) (sink)
2.
AOE
AOE (minimun
time) (longest path) (
) 10 13
(Vo, V1, Va4, V7, Ve) 19 (aot+ agtartayn=19)
19( )
(critical activity)
( )
n e AOE Vo Vh 1
D \ earliest(i) Vo \
2 \ latest(i) vi earliest(n 1)
Vi Vi
earliest(n 1) Vi Vin 1 Vi Vi 1
Vi ( ) Vh 1
3 & early(k) \ earliest(i)
a <Vj, V>
(4) & | ate(k) latest(i) - w(i, j) w(i, j) &
a <Vj, V>
early(k)=late(k) & &
earliest(n 1)
a
3.
earliest  latest
D earliest:
liest(0) =0
perhiest(0) (10 1)

éearlieq(j) = max{earliest(i) + w(i,j)} (0<j<n)
iOP(j)

10 1

earliest(0)=0



230 —cC

earliesi(j) () j ]

10 1 earliest())
earliest(i) i0P()
(2 |atest
gate;t(n -1) =earliest(n -1)
Eatest(i): min{latest(j) -w(i,j)}  C<i<n-1 (10 2
j0s(i) ' -

10 2 latest(n
D=earliest(n 1) latest(i) (i) [
i, ] ] latest(i)
latest(j) jOS(i) AOE
(reverse topological order) 10 2
(3) early(k) late(k)
a= 1] early(k)= earliest(i) late(k)= latest(i) w(i, j) w(i, j) a

10 13(b) AOE 10 14

earliest (il O | 6

N
o0
~
~

16| 15| 19

latest (i) O| 6| 6| 9| 7| 11| 17| 15| 19

early (k) 16| 15

late (k) 11| 17| 15

~|lo|o|p
o
o
~lo|lo|
D
o
~
Rl BN BENT
<

10 14 10 13(b)AOE

10 9 earliest latest C Earliest Lastest
(@) Earliest

Earliest Toposort earliest earliest

0 for ( p=g.A[j]; p; p=p->NextArc)

earliest[K]

if (earliest[k]< earliest[j]+p->W) earliest[K]=earliest[j]+p->W;

] ] k earliest[K]
2 Latest
order Latest latest
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latest earliestin 1] latest[]]
if (latest[j]>latest[k] p->W) latest[j]=latest[k] p->W
10 9 C
void Earliest(Graph g, int =order, int xearliest)
{
inti,j, k, count="1,top= 1, n=g.Vertices;
ENode * p;

for (i=0; i<n; i++) earliest[i]=0;

~
*

earliest[] */
for (i=0; i<n; i++)
if (InDegreefi])}{
InDegreeli]=top; top=i;
}
for (i=0; i<n; i++) {
if (top==1){
printf("Network has a cycle. Toposort termonated.");
return;
}
else{
j=top; top=InDegree[top];
order[++count]=j;
for ( p=g.A[j]; p; p=p->NextArc){
k=p->AdjVex; InDegree[k]—;
if (InDegree[k]){
InDegree[k]=top; top=k;
}
if (earliest[k]< earliest[j]+p->W)
earliest[k]=earliest[j]+p->W;,

}
void Latest(Graph g, int xorder, int «earliest, int latest)

{
inti, j, k, n=g.Vertices;
ENode * p;
for (i=0; i<n; i++)
latest[i]=earliest[n 1]; [*  latest[] */
for (i=n-2;i> 1;i—){
j=orderfi];
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for ( p=g.Alj]; p; p=p->NextArc){

k=p->AdjVex;
if (latest[j]>latest[K]-p->W)

latest]j]=l atest[k]-p->W:

}
}
}
earliest  latest early late
TopoSort
earliest[i]=0 0
earliest 0
10.5
n
n
n
(cost)
(minimum-cost spanning tree)
(Prim)
(Kruskal)
G=(V E) U Vv V)
uou vov U (u, v)
G (u, v) T
(u, v) T T (U, v)
T T (v, V) WOU VOV U
u v Vv u, v)
Ty (wv) T TT (wy
Prim Kruskal

G

u
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10.5.1
1
G=(V, E) T=(V', E)
Vi={u} E={} w
(u, v) (u, v) u ( uov)
% ( vOv V) (u,v) (u,
V) ( v V',  (u,V) E) V=V’ E n 1

C ®
10 15
2 C
nearest lowcost
nearest[v] Up lowcost[v] oo %
nearest[v] (u, v) u (uv) uav’
lowcost[v]
(nearest[V], v, lowcost[Vv])
lowcost[v] nearest[v] v %
mark
mark[v]=FALSE % %
MaxNum T
10 10 C 10 10
nearest  lowcost 10 15(a) 0

v(0 v n) (nearest[v], v, lowcaost[v])
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(0,0,0)(2,1,5)0, 2, 1)(5,3,2(1,4,3)(2,5, 4
10 10 C
void Prim(Graph g, int k, int xnearest, T+ lowcost)
{
inti,j, min, n=g.Vertices;
BOOL mark[MaxVertices]; ENode = p;
if (k<O|[k>n 1){
printf("Badlnput\n"); return ;
}
for (i=0; i<n; i++){/* */
nearest[i]= 1; mark[i]=FALSE;
lowcost[i]=MaxNum;
}
lowcost[k]=0; nearest[k]=k; mark[k]=TRUE;
for (i=1; i<n; i++){
for(" p=g.A[K]; p; p=p->NextArc){
j= p->AdjVex;
if (('mark(j] )&& ( lowcost[j]> p->W )){
lowcost[j]=p->W; nearest[j]=k;
}
}
min=MaxNum;
for (j=0; j<n; j++)
if ((*mark[j])& & (lowcost[jl<min)){
min=lowcost[j]; k=j;
}
mark[K]=TRUE;

n o(m)

10.5.2*

G=(V, E) T=(V', E)
V=V E={}

T (u,v)
(u,v)

[%

[%

[%

[%

lowcost

nearest

*/

*/

*/
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n 1 T=(V,E) G
10 16 10 15(a)
© ©
©) @ ® O > ® O

@ © @ ©

@ ()
(9 ©
® U ® L @
?'3 ® . T.Q@. &
4
© @ G
© ®

10 16
C
E
G
typedef struct edgenode{
intu,v;
EW,
} EdgeNode;
EdgeNode
Append
Serve
(u,v) (U, v) T
( u v )
Find
(u, v)
(u, v) T (u, v) T
Union
10 11 C

10 15(a) 10 11
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(0,2,1)(5,3 2(1,4,3(2,5 4(21,5)
10 11 C
typedef struct edgenode{
intu,v;
EW;
}EdgeNode;
void Kruskal (PQueue pg, int n)
{ I+ pa n
UFset s; EdgeNode  x; int u, v, k=0;
CreateUFset(&s, n); [
while (k<n 1 && 'ISEmpty(* pg)){

*/

*/

Serve(pg, &X); I% pq x=(u, v, W) */

u=Find(&s, x.u); v=Find(&s, X.v);

if (ul=v{ I
Union(&s, u, v); k++; [
printf("(%d, %d, %d )\n", X.u, X.v, X.W); [*

}
if (k<n 2) printf("The graph is not connected!");

e while Serve O(lbe)
O(lbn)  Union o e n
O(elbe) O(elbe)

10.6*

(shortest path)

*/

X */

while
Find
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(Djikstra)
(Floyd)
10.6.1
1.
G=(V, E) vV v V
10 17(a) 0
10 17(b)

Vo Vi M % % ) 45
A My W 10
v o bww 25
Vi | (%% VY 55
V5 e [

@ (o)
10 17
(3@ G (0@ G 0
S S
Vo (Vo, Vi, , V) Vi S
S
d d[l] Vo Vi
Vi d[i] “
" Vo Vi § d[i]
Vo S Vi
S Vo S={vo}
il =SN(O,I) <v,,v, >0E (10 3)
[ <v,,v, >0E
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w(0, i) <V, Vi>

Vo (Vo, Vi) k
dk] =Min{d[i]|v; OV —={vy}} (10 9
Vo

10 17(a) 0 <Vo, V1>  <Vg, Vo>

<Vp, V4> 0 <Vp, Vo>

(Vo, V2) Vo V> 10
( Kk S d[i]
Vo Vi
vV S

dli]=Min{d[i], d[K]+w(k, i)} (10 5
wi(k, i) Vi, Vi 10 18 d[i]>d[Kk]+w(k, i) d[i]=d[k]+w(k, i),

d[i]

@ (o)
10 18 d
@ (b)  d[i]>d[K]+w(k,i); (c)  d[i]l< d[K]+w(k, i)
Vo Vi Vi
k (Vo, W) dik]
dk] =Min{d[i] |v; OV -S} (10 6)
(Vo, s Vk) (VO!
(VO! ’ Vk)
(VO! ’ VI)
S Vp
10 19 Vo, 5 Vp V)
Vo, ,Vp) (Vo, +Vp, V) dp]+w(p, t)
> dp| dKk]= dp] Vo, W)

10 19

path path[i] Vo
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\ Vi 10 17(9) Vo Vi
(Vo, V2, V3, V1) path[1]=3 path[3]=2 path[2]=0 Vo Vi
path
2 C
C 10 12
Choose d MaxNum
Dijkstra
(D] n S S
2 9i] FALSE d[i] g.A[V][i] i'=v  d[i]<g.NoEdge
path[i]=v path[i]= 1
©) v S(s[VI=TRUE; d[v]=0; )
4 for n 1
? d[u] (u=Choose(d, n, s, g.NoEdge); )
? u S(qUul=TRUE )
? for d path
10 12 C
int Choose(T d[], int n, BOOL *s, T MaxNumber )
{

inti, minpos; T min;
min=MaxNumber; minpos= 1,
for (i=1; i<n; i++)
if (d[i]<min &&!i]){
min=d[i]; minpos=i;
}
return minpos;
}
void Dijkstra(Graph g, int v, T d[], int path[])
{
inti, u, w, n=g.Vertices;
BOOL *s=(BOOL*)malloc(n+sizeof (BOOL));
if (v<O||v>n 21){
printf("Badlnput"); return ;
}
for (i=0; i<n; i++){ 1* */
§[i]=FALSE;
dlil=g.A[V][i];
if (i'=v && d[i]<g.NoEdge) path[i]=v;
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else path[i]= 1;

}
9v]=TRUE; d[Vv]=0;

for (iI=1;i<n 1;i++){ I* n 1 */
u=Choose(d, n, s, g.NoEdge);
g u]=TRUE;
for (w=0; w<n; w++)
if (Iw] && d[u]+g.A[u][w]< d[w]){
d{w]=d[u]+g.A[u][w]; path[w]=u;
}
}
}
o(n°)
10 20 10 17(a)
d path
g | dlol | d[1] | d[2] | d[3] | d[4] | d[5]
path [O] path [1] path [2] path [3]| path [4] path [5
0| 0, 1| 50,0| 10,0 1| 70,0 | 1
2|10, 1| 50,0| 10,0| 25,2 | 70,0 1
3|0, 1| 45,3| 10,0| 25,2 | 60,3 | 1
1|0 1| 453| 10,0| 25,2| 55,1| o, 1
4|0, 1| 453| 10,0| 25,2| 55/1|«w, 1
10 20
10.6.2
1.
n
o(n’)
o(n’)
S S
Vo, Vi,  , Vn1 d
d[i]{j] Vi Vi d[ili]
ViV S ( ViV
S dlilfjl MaxNum)
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di][j] vi v © " S di][j]
S=Vv di][j] ViV
S diil[j]=AL[]ALT] )
Vi Vi S Vo dofi]j]
Vi Y, Vo dofi]j]
do[i][j]= min{d[i][j]. d[i][O]+d[QI[j]}
dk a[i][j] ViV {vo,vi, ,w 1}
s Vi d (10 21)
d{i][j]= min{dc 4[i][i], d a[i][K]+dk 1[K][j]}

d. [il[k]

alilil min{dfi][i], d {il[k] @ [KI[i1}

10 21 deofijil  ddill]

path path(i][j] Vi
\ 10 22(a) Vo V2
(Vo, V1, V3, Vo) path[0][2]=3 path[0][3]=1 path[0][1]=0 Vo
V2 path j k=path[i][j]
k=path[i][k] i (i
path(i][ path(i][j1], path[i][i]. j)
2 C
10 13 C 10 22(a)
10 22(c)
10 13 C
void Floyd(Graph g, T d[][MaxVertices], int path[][MaxVertices])
{

inti,j, k, n=g.Vertices;
for(i=0; i<n; i++)
for (j=0; j<n; j++)
{
dlillil=g.Al][1;
if (i'5) && g.A[i][j]<g.NoEdge) path[i][j]=i;
elsepathfi](j]= 1;
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}
for ( k=0; k<n; k++) {
for (1=0; i<n; i++)
for (- j=0; j<n; j++)
if (d[i][k]+d[K][] < d[ili] X{
di][]=d[i][K]+d[K][i];
path(i][j]=path[K](j];

}
}
}
o path
O| 1| | 4 1
o | O] 9] 2 1
4|1 0|7 2
o) 6| O 1
o pathy
0| 1|10| 3 1
0|9 2 1
3|14|0]| 6 2
@ o |0 | 6| O 1
d d path
O| 1| | 4 0| 1|10| 3 1
o | O] 9| 2 12| 0| 9| 2 2
3| 5| 0| 8 314|106 2
o |0 | 6|0 9|10, 6| O 2
path d, path
1 O 1| O O|1|9]3 1
11 1|1 11, 0| 8| 2 2
2| 2 1 2 314|106 2
1 1| 3 1 9|10, 6| O 2
® ©
10 22
@ G ( ©
o(n’) n
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ADT
10 1 Graph
10

10 1 10 23

D

@)

(©)

10 23 10 24

10 2 10 24 6

<l 0> <1 3> <2 1> <2 4> <3 2> <3 4> <4 0> <4 1> <4 5>
<5 0> 10 4 Add

10 3 10 24

10 4

10 5

10 6 10 24 2

( )
10 7 10 5 10 6
( )
10 8 (DAG) R
DAG

10 9
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10 10 n

10 11 10 25 (

moowD>»
o

A,C,D

10 25
(@) AOV
2
A B B A

A B
10 12 <0 1> <1 2> <4 1> <4 5> <5 3 <2 3>
D
2 10 8

(TopoSort)
10 13 AOE 10 26

10 17
10 18 10 28 A
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10 19 10 28

d path
10 20 path
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=gl S

(sorting)
C )
( )
(internal sorting) (external sorting)
11.1
== (sortable list)
n (R, R, Ry Ki R
01 ,n 1 (permutation) (p(0), p(1), ,p(n 1)) Kpos Kpa
< < Kp(n 1)( )
(Ruo» Rpwy 5 Ron 1)
(Ko, K1, Ko, Kg)=(25 16 71 30)
(P(0), p(1), p(2), P(3)) (Kpo= Kpw= K= Kya)
(p(0), p(1), p(2), P(3)=(1, O, 3, 2) (K1 Ko Kz K2)=(16, 25,
30, 71)
(sorted sequence)
R R(<) K=K pi)<p() R R;

(stable)
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1 1
typedef int T;
typedef struct list{
int Size, MaxList;
T Elements[MaxSize];
}List;
typedef struct node{
T Element;
struct nodex Link;
} Node;
typedef struct list{
Node * First;
int Size;
} List;

11.2

(insertion sorting)

11 2
55
55 83 55
37 55 37

(pass)

83
55

1

(Shell)

1

55

55

72

55

72
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°© 1t 2 3 4 ¢ (55 (28 37 64 72 83F5
(64) 37 8364 72 28 ¢ ,
(28 37 64 72 8
® (37 6483 64 72 28 ¢ N
() (37 64 8B 72 28 E (28 37 64 72 8
(3 (37 6464 83)72 28 5t (28 37 64 64 72 83
4 (37 6464 72 83p8 55 N 4
(28 37 684 72 83
(5 (28 37 664 72 83K5
(6) (28 37 55 @& 72 & (6) (28 37 55 68472 83
1 1 11
1
1 2 C
x<Ist->Elementqj] X
x= |st->Elements]j] X jt1
X Ist->Elements[j] X 1 1
1 1 64 64
1 2
void InsertSort(List *|st)
{
inti,j; Tx;
for (i=1; i<lst->Size; i++){
x= |st->Elementd]i];
for (j=i—-1; j>=0 && x< Ist->Elements]j]; j—)
|st->Elements[j+1]= Ist->Elementd]j];
|st->Elements[j+1]=x;
}
}
for n 1
n 1 i
( )
i 1 0O i1
i (
X X ) i+2
Wc(n):nz_(i+1):w:o(n2) 11 1
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n-1 _
WM(n):Z(i 2):—(”+4)2(n Yo’ 1w 2
=
Elementd[i] i . Elementg[Q]
Elementg 0], , Elementgi 1] Elementd[i] i 1
Irowdtdidi 1, 1 14 1 3
i+1 2 i+1 2
Elementd]i]
0+1+...+|+2=|(|+1) =L+2 (11 4)
i+1 2i+y) 2
i p nin -1
AM=SH+1E-Si+n-1= +(n-1)=0(n’ (15
c()2[2[22()4()()
A (n)—n_lﬂi—+25—1n_1i+2(n—1)—”(”'1)+2(n—1)—0(n2> (11 6)
OB :
2
11 3 C
111
11 3
11 55 26 26 12
21 33 26 33 26 21 33
11 3(b)
11 3
void InsertSort(Listx Ist)
{
Node =+unsorted, *sorted, *p, *Q;
if (Ist->First = NULL) { I+ x]
sorted = Ist->First;
while (sorted->Link != NULL){ [ */

unsorted = sorted->Link;
if (unsorted->Element< Ist->First->Element) {
sorted->Link = unsorted->Link;
unsorted->Link= Ist->First;
|st->First = unsorted;
}
else{
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o= Ist->First; p= g->Link;
while (unsorted->Element>p->Element) {

g=p; p = p->Link;
}
if (unsorted == p) sorted = unsorted;
else{
sorted->Link= unsorted->Link;
unsorted->Link= p; g->Link= unsorted;
} [xelsex/
} [xelsex/
} [xwhilex/
} [xifx]
} /xend InsertSortx/
First q \ P \ sorte unsorted
O === =
@
First q } P \ sorte unsorted
cBENE) di| R @'/42 [~
®)
11 3
@ 26 (b) 26
1 3 p q p sorted
unsorted sorted
11 3(a)
while
while (unsorted->Element>p->Element) {
g=p; p = p->Link;
}
unsorted->Element unsorted->Element
p->Element p unsorted

(sentingl) while unsorted p
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*unsorted *Q  *p 1 3
11.2.2*
Donard L.Shell 1959
1
11 4 16
8 4 21 8 8 (503 653) (087 426)
------ (275 703) 2
4 4 (503 612 653
908) (087 170 426 677) (154 765 512 897) (061 275 509
703) 4 2
2 1

—— r \ | |
503 087 512 061 908 170 897 275 653 426 154 509 612 677 7t
1 1 J

|
T T T
T
T

T

[ T T ]

I T T 1
503 087 154 061 612 170 765 275 653 426 512 509 908 677 8¢
L % 1 ] 1 % ] J

T

f T T T T l T |
503 087 154 061 612 170 512 275 653 426 765 509 908 6774'8
L I | I | I | J

154 061 503 087 512 170 612 275 653 426 765 509 908 677 8¢

1 1 1

061 087 154 170 275 426 503 509 512 612 653 677 703 7651 8¢

11 4
n>hohy >--->h>h=1 (1 7
1 4 C ShellSort
InsSort InsSort for
h( ) lts>Size 1
i j h
incr incr/3+1; 1 4

11 4

void InsSort(List *Ist, int h)
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{
inti,j; Tx;
for (i=h; i<lst->Size; i+=h){
x= |st->Elementd]i];
for (j=i—h; j>=0 && x< Ist->Elements]j]; j—=h)
|st->Elements[j+h]= I st->Elementd]j];
|st->Elements[j+h]=x;
}
}

void ShellSort(List *Ist)

{
inti incr=lst->Size;
dof
incr=incr/3+1;
for (i=0; i<incr; i++) InsSort(Ist, incr);
}while (incr>1);
}
1
2*3 n
O(n(lbn)?
11.3

(exchange sort)
(bubble sort) (quick sort)

(

{2°32P3%n})
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11.3.1
n " Ko, Ky, K1
Ko Kl ( K0>K1)
K1 Kg Kn 2 Kn 1
n 1
11 5 6
0 1 2 3 4 5 6 7 8
35 56 72 49 49 28 39 65 82
1 35 56 49 49 28 39 65 72 82
(2 35 49 49 28 39 56 65 72 82
3 35 49 28 39 49 56 65 72 82
4 35 28 39 49 49 56 65 72 82
(5) 28 35 39 49 49 56 65 72 82
(6) 28 35 39 49 49 56 65 72 82
11 5
11 5 C Swap(x, v, t) X y t
sorted
sorted TRUE
11 5

#define Swap(x, y, 1)((1)=(x), (X)=(¥), (¥)=(1))
void BubbleSort(List =Ist)
{
intj, i=lst->Size-1; T temp;
BOOL sorted=FALSE;
while (i>0 && !sorted){
sorted=TRUE;
for (j=0; j<i; j++)
if (Ist->Elementd[j+1]<Ist->Elements[j]){
Swap(Ist->Elements]j], Ist->Elements[j+1], temp);
sorted=FALSE;
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Ko, K Ks Ken s<i
Ko, , Ki1
Ko, ,Ks 11 6 Ke
11 6

65 86 36 42 26 48 56 62 74
(1) 65 36 42 26 48 56 62 74 86

(2 36 42 26 48 56 62 65 74 86
3 36 26 42 48 56 62 65 74 86
4 26 36 42 48 56 62 65 74 86
11 6
11 6
void BubbleSort1(List *Ist)
{
inti,j, last; T temp;
i=lst->Size-1;
while (i>0){
last=0;
for (j=0; j<i; j++)
if (Ist->Elements{j+1]<Ist->Elementsj]){
Swap(Ist->Elements]j], Ist->Elements[j+1], temp);
last=j;
}
i=last;
}
}
O(n)
n 1 i (n 1)
_ i | 3
(n-i) Zl(n -i) —En(n -1) En(n—l)
o(n?) 1 5 1 6

11.3.2
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(quick sort)
(KO! Kl! !Kn 1) (p'VOt)
k
0 k 1
k 1 n 1
(Keor + Ko 9)Kpgo (Kpen,  Kpn )
Kpw K
(Kpor Ko ) (Kpeny, 5 Kpn )
(partition)
1
1
1
| eft 1 7 72
i i | eft j right+1 1 7 i
j i left+1 i
i i
i 11 7(1)
3( 89 j j
j j
j 1 7(1) j
8( 60) 60 88 i
Jo] )
i i> ] 11 7(3)
J 1 7 48 72
(48 26 57 60 42)72 (73 80 88)
11 8 00
i
1 7 Partition QSort
QuickSort Partition QSort QuickSort

QSort
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@
@
©)
(4)
©)
(6)

@

@

3

left

(72 26

i ——

72 26

72 26

72 26

48 72 (48 26

1 7

88
60
(60
60
(57)
57
57

11 8

right

57 88 42 80 73 48

560 42 80 73 &8

) !
i —— -
580 42 48 73 80 88

b~ 1
i -
580 42 48 73 80 88

b
i i

57 60 42 (73 80 88)

42 80 73 48
42) 72 (73 80
57) 72 73 80
57 72 73 80
60 72 73 80
60 72 73 (80
60 72 73 80

do i++; while (Ist->Elements[i]< pivot);
do j—; while (Ist->Elements[j]> pivot);
if (i<)) Swap(Ist->Elementd]i], Ist->Elements]j], temp);

Swap(Ist->Elementd[left], Ist->Elements][j], temp);

(72 26 57
(48 26 57
(42 26) 48
(26) 42 48
26 42 48
26 42 48
26 42 48
1 7
int Partition(List *Ist, int left , int right)
{
char c;
int i=left, j=right+1; T temp;
T pivot=Ist->Elements]l eft];
do{
} while (i<j);
return j;
}

void QSort (List «Ist, int left , int right)

{
intk;

60)
88)
88
88
88
88)
(88)
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if (left<right){
k=Partition(Ist, left, right);
QSort(lst, left, k  1);
QSort(lst, k+1, right);

}
}
void QuickSort(List *Ist)
{
QSort(lst, O, Ist->Size  1);
}
O(nlbn)
o(n’)
O(nlbn)
We(n) n
Wce(0) Wc(1)=0
n+1
We(n)  (n+1)+We(n 1)
(mt1)+n+We(n  2)
(nt1)+n+---3+Wc(1)
(n+4)(n /2 O
Ac(n) n
D
@) () ()
n
k n k 1
n+1
Ac(k) Ac(n k 1) 0 n1

_ 1 - _
Ac(n)_n+1+5;(Ac(k)+Ac(n k 1)

2n—1
=n+1+—Z§AC(k)
n =l

(11 8)
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n 11 8
nA,(n) =n(n+1) +25 A, (K) 11 9
k=0
n 1 1 9 n
n 1A (n-1=n(n D+25 A (K) (11 10)
k=0
11 9 11 10
nA.(nN)-(n-DA_.(n-1 =2n+2A_.(n-1) (11 11)
A.(n)_A.n 1 2
n+1 n n+1
_A.n 2 2 2
n 1 n+l n
_A.n 3 2 2 2
n 2 n+l n n1
AL 2 2 2 2
n+2]1 n+1dxn nl 3 1 12)
=2% =< 2" = <2 In(n+1
; < 2, < (n+1)
Ac(n)<2(n+1)In(n+1) =O(nlbn) (11 13)
O(nlbn)
O(n)
D
2 Keftighy2 Kieit
? left right j KJ‘ Kiett
? Kt Kgetrigyz — Kiigt Kieit
(2
(
10)

3



11 259
O(lbn)
1 7
11.4
11.4.1
(merge sort)
(5 25 55 (10 20 30) (5 10 20 25 30 55
11 9
(5 25 55) (25 55) (25 55) (25 55)
{(10 20 30) (5){ (10 20 30) ® 10{ (20 30) (5 10 2q§ (30)
@ ® © ©
(55) (55)
(5 10 20 2%)(30) (5 10 20 25 )() (5 10 20 25 30 55)
© Q) (@
11 9
1 ( ) n
1
n/2 2 n/4 4
n
11 10
[56] [25] [35] [42] [73] [66] [46] [30]
[25 56] [35 42] [66 73] [30  46]
~ —~
[25 35 42 56] [30 46 66 73]
~ —~
[25 30 35 42 46 56 66 73
[25 30 35 42 46 52 56 66

11 10
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11.4.2
1141 11 10
1
Merge
(Kis, Kizer, 5 Kjr) - (Kiz, Kizsg,  Kjo)
j1 i1+2 i2+k (Temp[k], , Temp[j1 i1+j2 i2+K])
Merge C
11 8 Merge C
void Merge(List *Ist, T Temp[], intil, intj1,inti2, intj2, int xk)
{
inti=il, j=i2;
while ((i<51)&& (j<=j2))}
if (Ist->Elements[i]<=lst->Elements]j])
Temp[(*Kk)++]=Ist->Elements[i++];
el se Temp[ (k) ++]=lst->Elements[j++];
}
while (i<=j1) Temp[(+K)++]=Ist->Elements]i++];
while (j<=j2) Temp[(+K)++]=Ist->Elements[j++];
}
n Merge
n 1 O(n)
2
1 9 MergeSort Merge
size 1
size

1 9 MergeSort
void MergeSort(List =Ist)
{
T Temp[MaxSize];
intil,j1,i2,j2,i, Kk, size=1;
while (size<Ist->Size) {
i1=0; k=0;
while (i1+size<Ist->Size){
i2=il+size; j1=i2 1;
if (i2tsize 1>lst->Size-1) j2=Ist->Size 1,
elsej2=i2+size 1,
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Merge(Ist, Temp, i1, j1,i2, j2, &K);

i1=j2+1;
}
for (i=0; i<k; i++) |Ist->Elements[i]=Temp][i];
Sizex=2;
}
}
MergeSort  size (bn b size
n MergeSort O(nlbn)
Temp O(n) 1 9
11.4.3*
1.
1141 1142
(KO! Kl !Kn 1)
Merge
11 1
(26 33 35 29 19 12 22)(12 19 22 26 29 33
(26 33 35 29) (19 12 22)(26 29 33 35 (12 19
(26 33) (35 29) (19 12) (22)(26 33) (29 35) (12 19)
/N
(26) (33) (39) (29) (19) (12 (26) (33) (35 (29) (19 (12
@ ®
11 11
@ (b)
11 1
2.
Node *Merge(Node *p, Nodex q) p qg
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11 10 (dummy node)
p g
rear
head.Link
11 12 Merge 11 10 head
rear
P (O~ 28 =y
: OB =
@ -
rear
»O—{=[1
head =
L [zl aG 2[4y
® -
rear
»O{=[
head =

head
B EIE R IC NI
@
rear
head
BEN L S EIE S
©
1 12
@ (b) 26 (0 29; (d) 33 (9 q
11 10

Node » Merge(Node *p, Nodex q)

{
Node *rear , head;
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rear= & head;
while (p!= NULL && q!=NULL) {
if (p->Element <= g->Element) {

rear->Link = p; rear = p;

p = p->Link;

}

ese{
rear->Link = q; rear=q;
g=g->Link;

}

}

if (p ==NULL) rear->Link = q;
elserear->Link = p;

return head.Link;

3.
Divide
pos mid
pos

11 11 Divide C
11 11 Divide
Node » Divide(Node * p)
{
Node *pos, *mid , *q;
if ((mid =p)==NULL) return NULL;
pos =mid ->Link;
while (pos !'= NULL) {
pos= pos->Link;
if (pos!= NULL) {
mid = mid ->Link; pos = pos ->Link;

}

o= mid->Link; mid->Link = NULL;
return g;

Divide Merge

mid

Divide

mid
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Divide

Merge

C 11 12
11 12
void RM Sort(Nodex» sublst)
{
if (+sublst != NULL && (xsublst)->Link != NULL) {
Node * second = Divide(*subl st);

RM Sort(subl st);
RM Sort(& second);
*sublst = Merge(» sublst, second);
}
}
void RMergeSort(List *Ist)
{
RM Sort(&Ist->First);
}
11 13 11 11(a) (b)

/

26 33 35 29 19 12 22

12 19 22 26 29 33 35

12 19 22

O(n 1bn) O(bn)
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11.5
(selection sort) n (
) n 1 ( )
11.5.1
11 14 8
29 36 7
30 1 47 7
86 11 13
0 1 2 3 4 5 6 7
36 47 86 39 47 55 29 30
v 29 (47 86 39 47 55 36 30
2 29 30 (86 39 47 55 36 47)
3 29 30 36 (39 (47 55 86 47)
4 29 30 36 39 47 55 86 47)
(5) 29 30 36 39 47 (55 86 47)
(6) 29 30 36 39 47 a7 (86 55)
(7 29 30 36 39 47 47 55 (86)
11 14
11 13
#define Swap(x, y, 1)((1)=(x), ()=(¥), (¥)=(1))
void SelectSort(List *|st)
{
int small, i, j; T temp;
for (i=0; i<Ist->Size-1; i++){
small=i;
for (j=i+1; j<lst->Size; j++)
if (Ist->Elements]j]<Ist->Elements[small])
small=j;
Swap(lst->Elementd[i], Ist->Elements[small], temp);
}
n I
n i n i i1
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n Te(n)=n(n 1)/2
Te(n)=n 1
T.()=5 (n-i-1
:n(n—l)
2
Ta(m=n-1 (11 14)
11 14
11.5.2*
( )
6.4.1 AdjustDown
11 15(a) n 8 11 15(b)
11 15(c)
7 19

@ ®

1 15
©) (b) 19 (0 35

11 16 11 14 C

Adjustbown 6.4.1 6 14
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1 2 3 4 5 6 7 8
32 21 43 19 28 76 43 35
19 21 43 32 28 76 43 35
(0] 21 28 43 32 35 76 43 19
2 28 32 43 43 35 76 21 19
3 32 35 43 43 76 28 21 19
4 35 43 43 76 32 28 21 19
5) 43 76 43 35 32 28 21 19
(6) 43 76 43 35 32 28 21 19
@) 76 43 43 35 32 28 21 19
11 16
11 14
typedef struct minheap{
int Size, MaxHeap;
T Elements[MaxSize];
}MinHeap;
void HeapSort(MinHeap * hp)
{
inti; Ttemp;
for (i=hp->Size/2; i>0;i—) % */
AdjustDown(hp->Elements, i, hp->Size);
for (i=hp->Size; i>1; i—) % */
Swap(hp->Elements[1], hp->Elementg][i], temp);
AdjustDown(hp->Elements, 1, i-1);
}
}
O(lbn) O(nlbn)
O(n)
AdjustDown O(nlbn) O(nlbn)

temp

1 17

11.6*
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o(n) o(m) o(m)
O(n) o(n) o(n)
O(n) o(n) o(n)
O(nlbn) O(nlbn) o)

O(nlbn) O(nlbn) O(nlbn)
O(nlbn) O(nlbn) O(nlbn)

11 17

O(n 1bn)
(n/4) 1bn

7.3.2

“
© .n 1) n (p(0), ., p(n 1)

11 18 3
(15 19 17) 11 18
01 (12) (0:2) 0,2, 1)

[0.24 [204 [103 [12(

1 18 (n=3)

6.2.1 4
n n 1
3 N b(N+1)0
N=n 1
(b (N+1)EFdbn! O
n>1 n=zn(n 1)(n 2)---(@m20)= (n2)"?
n> 4
Te(n)= ObniZ lbnl> (0V2) Ib(n/2)= (n/4) lbn
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Ibn

(1)
(2)

(K K,
K, K,

Xt:yt

kd—2

n=> 4 (n/4)
nlbn

11.7~%

(radix sort)

Ko(stit) <o <v<a
k'(facevalue) 2<3< <10<J<Q<K<A

&2, SA 02 eA Y2 YA 42 | aA

4
4 13 13
13 13
4 4
n (RO, Rl, ’ Rn 1) d
, kd—l) kO kd—l
, kK R R (0<i<jgn 1)
kio, kil, ,kid—ls kjo, kjl, ,kjd 1
o x  xEY<eA Y, Ly m<d, t=1,2, ,m 1
X"<y™
MSD(Most Significant Digit first)
LSD(Least Significant Digit first)
kO, kl, , kd—l
kd_l,
kO
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ki k! radix radix ( 614
radix=10 d=3 )
1 19 d=3 radix=10 10
L - 080 362 012 -, 543 -, 054 . 745 ., 885 . 565 . 786 - 957
0 9 10

[0] - 080 [5] - 745 . 885 . 565
[1]- [6] - 786
[2] - 362012 (7] - 957
[3] - 543 (8] -
[4] - 054 [9] -

10 ( 10 ):

L 080 362 012 -, 543 -, 054 . 745 , 885 . 565 . 786 - 957

0 9 10

[0] - [5] - 054 957
[1] - 012 [6] - 362 565
[21- [71-
[3]- [8] - 080 885 - 786
[4] - 543745 [9] -

10

L 012,543, 745, 054 -, 957 - 362 - 565 - 080 - 885 . 786

0 9 10

[0] -~ 012 054 . 080 [5] - 543 - 565
[1]- (6] -
[2] - [7] - 745786
[3] - 362 (8] - 885
[4] - [9] - 957

10

L - 012, 054 -, 080 - 362 - 543 -, 565 . 745 . 786 - 885 . 957

1 19
kd—l n w »
0 radix 1 “ " 1
2 K 2 n “ "0 radix 1
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11
d T
T radix radix
f r radix
1 20
n
typedef struct rnode{
T Keyd];
int Link;
}RNode;
Key[d] Link Key[d] d
Link
typedef struct slist{
int Size, Head;
RNode Nodes|MaxSize];
} SList;
11 20 11 19
SList Nodes Head
Head O Head
0 1 2 3 4 5 6 7 8 9
080 362 012 543 054 745 885 565 786 957
1 2 3 4 5 6 7 8 9 1
A
Head=0
@
0 1 2 3 4 5 6 7 8 9
080 362 012 543 054 745 885 565 786 957
1 3 4 7 0 8 9 5 6 1
1
Head=2
(b)
11 20
@ (b)
11 15 C for
i d 1 O i

flil ]
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if (flj]==_ 1) f[j]=k; dselst->Nodeg[r[j]].Link=k;

k j flil== 1 k
k Nodes{r[j]]
|st->Nodes{r[j]].Link=k Mil=k ] radix
11 15
void RadixSort(SList *Ist)
{

inti,j, k, tail flradix], r[radix];
for (i=d 1;i>=0; i—)
for (j=0; j<radix; j++) f[j]= 1, [* */
for ( k=Ist->Head; k> 1; k=Ist->Nodes[k].Link){
j=Ist->Nodes[k].Key[i];
if (fli1== 1) fli]=k;
else Ist->Nodeg[r[j]].Link=k;
ril=k;
}
for (=0; f[j]== 1;j++); Ix o«
Ist->Head=f[j]; tail=r[j];
while (j<radix){
for (j++; j<radix; j++) if (f[j]> 1){
Ist->Nodes[tail].Link=f[j]; tail=r[j];
}

}
Ist->Nodestail].Link=  1;

n d “ " radix
n “ oo " O(radix+n)
O(dx (radix+n)) (n+2x radix)
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11

1
n 2 61, 87, 12, 03, 08, 70, 97, 75, 53, 26

D)
(2)
3)
(4)
()
(6)
(")
1 3 165 993 278 756 643 853 697 503 972 229

1 4 1 2
(1)

(2

(©) ( )

(4) 1

1 5 n=3

1 6

1 7 “ o

11 8
1 9

1 10 o(n)
1 1

O(lbn)
1 12 n
O(n)
11 13
1 14 n 2
1 15 n
k(k<n)
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1 16 n A
Cli] Ali] Cli]=0  AJi] Cli]

1 17 n< 20



274

=il

(direct access)

12.1*
12.1.1
(primary memory)
access memory)
)
8
12.1.2
access)
/ (read/write head)

(track)

12

1

(secondry storage peripheral storage)

(random
CPU
C ) (
20

(sequential

(disk) (platter)

(spindle)

(arm) (boom)
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12 1
(cylinder)
(sector)
(intersector gap)
CD ROM
110
/
(seek time)
/ /
(lantency time)
/ /
/
/
/ /
/
(buffering)

(caching)

(page)
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(buffer pooal)
12.2
12.2.1
(logical file)
(cluster) (file manager)
UNIX
(block)
(physical file) ( ) /
12.2.2
(file structure)
( )
1.
(sequential file)
1)

(

12 2)
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100 | 1231
140 | 2011
180 | 0567
220 | 1089
260 | 2133
300 | 1055
340 | 2313
380 | 1002
420 | 1611
12 2

S=1p+2po+. . .+npy
2 pn prtp+ +p=l Sp

7
(coun
npo on
n 0o 1 n-1
Kot Ko Ka-1 n
K
m
i
I=1+I{(K Ko)/(Kn1 Ko))(m  1)00
Ly H; i
K<L; [4,i 1];
Li< K< H; I
K>H; [i+1, m|

i=1+(K L)/(H L)) (u 1O

ki

o

on

pi pi2

KO!

(12 1)

12 2
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K<L; [i 1] H L
Li< K< H; i K
K>H,; [i+1, u] L H;
2.
(hash file)
(bucket)
k k
k+1 “ ”
13 ” k+1 “ ”
k “ ”
16 23 05 26 01 18 02
27 16 09 07 04 19 06 12 33 24 k=3 b=7
h(key)=key % 7 12 3
0| 07 AN
1|01 AN
2| 23| 02| 09 F—>| 16| | | A\ |
3| 24 AN
4( 18| 04 AN
5| O5( 26| 12 F—>| 19| 33| | A\ |
6| 27| 06 AN
12 3

h(K)
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3.
(index table)
( )
12 4
100 1231 0576 180
140 2011 1002 380
180 0576 1055 300
220 1089 1089 220
260 2133 1231 100
300 1055 1611 420
340 2313 2011 140
380 1002 2133 260
420 1611 2313 340
@ (b)
12 4
€Y (b)
ISAM(Indexed Sequential Access
Method) B IBM
B 12.3
4.
12 2
113 ” 12 5

220

180 260

140 300 340

380

100 420

12 5 12 2
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1223 C

(stream) “ " (3

2. /
C stdin
stdout  stderr stdin  stdout
/ stderr

/ / /
() |/ stdio.h
12 1 C 10
test.dat 10
12 1 C
#include <stdio.h>
#include <stdlib.h>
void main()
{
inti, k; FILE *f;
printf("Create afile\n");
if (f=fopen("C:\\test.dat", "wb+"))
for (i=0; i<10; i++){
scanf("%d", &Kk); fprintf(f, "%d ", k);
}
felose(f);
printf("\nDisplay the file just created.\n");
if (f=fopen("C:\\test.dat", "rb+") )
for (i=0; i<10; i++){
fscanf(f, "%d", &Kk); printf("%d ", k);
}
printf("\n\n");
fclose(f);
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12
12.3
12.3.1
12.2.2
2 3 m
m m
ISAM ( 12 6)
ISAM
e}
—=! 50 ﬁ\
R4| R | Ris| Rir| Reo
o ] I
33Q
G,
620 o] 128 ﬂ |
o R4
110 Lglc 5
CnEE N ——
415 Fj : ' -
4150 e 3848 ﬁ\
| [Res
415+ M | Rus

12 6 ISAM
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12.3.2
B B
B B+ B+
12 7 B+
B"
~>|T 10T 15~|—>| T20 T37T 44 HT 51T 59~|—>|T63T 72~|—>| T85 Tng 97 |
11
12
10 15
12 7 B
B+ B B+
( )
m
B+
m B+
(1) m
(2 V20
(©)] n n
(4)
(5
B+
n (P, Ko) (P1 Ky (Pn1 Ky
P Kij P O<i n m Ki Kis, 0< i
B+ B
B+
B+

B+ B

n



12 283

12.4*

12.4.1

(run)

12.4.2

p (replacement
selection) 2p

(1) p p
(2)

(1)
(2)

p/20]

3 (2)

(1)
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2
12 8
O—__ FHrm—_ 0O
12 8
12 2
h HeapSize "C:\\filein.dat"
fin BOOL
AnotherDiskFile(int i) i
fout count AdjustDown(h, 1,i) 6.4.1
6 14
12 2 C p=5

(503, 87, 512, 61, 908, 170, 275, 154, 509, 426, 523, 289, 456, 329, 77, 135)
RunsGeneration
(1) 61,87, 170, 275, 503, 509, 512, 523, 908
(2) 154, 289, 329, 426, 456
3 77,135
12 2

#define MaxSize 6

#define HeapSize 5

FILE * fin, =fout;

int count=0;

typedef int T;

T h[MaxSize];

void RunsGeneration()

{
intr,i p=HeapSize, ph=HeapSize/2; T k;
i=p;
if (! (fin=fopen("C:\\filein.dat", "rb+")) )return;
%1, */
while (i'=ph ){
fscanf(fin, "%d", &Kk); h[i——]=k;

/x MaxSize HeapSize+1x/

}
while (i'=0){
fscanf(fin, "%d", &K); hli]=k; AdjustDown(h, i—, p);
}
Ix 2. */
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i=p;  if('AnotherDiskFile(count++))return;
fscanf(fin, "%d", &k);
while ('feof(fin)){
fprintf(fout, "%d ", h[1]); printf("%d ", h[1]);
if (h[1]<=k){
h[1]=k; AdjustDown(h, 1, i);
}
else
h[1]=h[i]; AdjustDown(h, 1, i 1); hi]=k;
if (i<=ph) AdjustDown(h, i, p); i—;
if(i==0){
i=p; fclose(fout);
if(!AnotherDiskFile(count++))return;

}
fscanf(fin, "%d", &k);
}
/% 3. :
@ *l
r=p;
while (i>0){
fprintf(fout, "%d ", h[1]);
h[1]=h[i]; AdjustDown(h, 1,i 1);
h[i]=h[r]; r—;
if(i<=ph) AdjustDown(h, i, r); i—;
}
Ix (2) */
fclose(fout); if(! AnotherDiskFile(count++))return;
while(r>0){
fprintf(fout, "%d ", h[1]);
h[1]=h[r]; AdjustDown(h, i, r 1);
=

}

fclose(fin); fclose(fout);

p E.EMoore 1961
2p
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12.4.3
1
« )
b m31 m 12 9 8
b mE3 8
12 9
/
K(K>2) K
K 1
n n (K 1) ogk mCl
n- (K 1)- OogimEFn(K 1)- ObrmlbKO
m K (K 1)/ ObKDO
K
K
2
12 10(a) 8
4 6 15
4

15

12 10(b)
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12

@

12 11(a)

12 11(b)

12 11

(b)

(1)
(2)
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(€©) /
/
K
K K
/ K
12.4.4
9 ( ) 9,30, 12,18, 3,17, 2,6, 24
12 12(a)
/
(9+30+12+18+3+17+2+6+24)x2=242
242
( )
6 m
m K
K K /
9
12 12(b) 223 223 /

@ ®

12 12
(3@ (b)
m 1 K 1
(m 1)%K 1)z0
(K 1) (m 1D%K 1) 12 13 8
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12
12
12
12
12
12

12

12
12

o Ok WODN P

B+

a>b

100

12

20, 40, 30, 50, 24, 26, 42, 60

8

47,9, 39,18,4, 12,23, 7
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Epgs

1
20 60
70
( )
2.
(software engineering)
(system life cycle)
(analysis) (design) (coding or programming)
(testing) (maintenance)5 4
3.
(methodol ogy)
(Structured approach) (Object-Oriented approach)
SA SO SP

OOA OOD OOP
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(1)

(functional requirements)
(running requirements)

(performance requirements)

(Data requirement)
(future requirements)

(specification of user interfaces)

(requirement specification)

(rapid prototype approach )

(prototype)
2
(module)
(top-down design)
(hierarchy)
(loosely coupled)
©)
(repetition)
(4)

(subprogram)

(structure chart)
(highly cohesive)

(structured program )
(sequence) (selection)
(top-down refinement)
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(preliminary
specification) (analysis) (design) (implementati on)
(testing)
1.
3
D (unit testing )
2 (integrated testing )
(stub)
(driver)
3 (validation testing )
2.

(black-box
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testing) (white-box testing)
D ( )

(2) C )
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(pgs B

(1)
(2)

3
(4)
()
(6)
(7)

(1)
(2)

3

(4)

ADT
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(5)

(6)

(7)

(8) C

(9) ¢ )
(10)

(11)

(1)
(2)
3

(1) ( )
(2) ( )

3

(4)

1 cC
(2 C
(©)

4 C
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(1)
(2)
3
(4)

(1)
(2)
3

codefile
codefile

textfile  result

B 512

textfile
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(4)
(5)

(1) ( )
(2)
3
(4)
()
(6)

(1)

)
3 u v

(1)
(2)

TC timeh clock()
” * CLK_TCK

(key)
(1)
(2)
3
(4) K
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(interface)
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e ©
1 (functions)

(data) (client)
(data structures) (array)
(numerical data) (structure)

(non-numerical data) (datatype)
(data element) ADT(Abstract Data Type)
(dataitem) (class)
(logical structure) (specification)
(storage structure) (implementation)
(sets) (function prototype)
(linear) (segquences) (precondition)
(tree structure) (postcondition)
(graph structure) (generic ADT)
(non-linear structure) (input)

(sequential) (output)

(linked) (definite)

(index) (effective)

(hash) (terminate)

(node) (correctness)

(operation) (simplicity)

(algorithm) (robustness)

(abstraction) (effeciency)
(data abstraction) (space complexity)
(procedual abstraction) (instance)

(encapsul ation) (characteristics)
(information hiding) (time compl exity)

(module) (fixed space requirement)

(variable space requirement)
(program step)
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(priori analysis)

(posterori testing)
(successor)

2
(record)
(collection)
(structure)
(union)
(static data structures)
(dynamic data structures)
(one-dimensional array)
(two-dimensional array)
(base address)
(row major order)
(column mgjor order)
(random access storage structure)
(sequential access storage structure)
(pointer)
(link)
(reference)
(address operator)
(dereferencing operator)
(self-referentia structure)
(static variable)
(dynamic variable)
(heap)
(standard element type)
(pointer to function)
(garbage)
(singly linked list)
(driver)
(debug)
(test)
(circular linked list)
(doubly linked list)
(predecessor)
(index)
(value)

(pair)

(matrix)
(band matrix)
(sparse matrix)
(triangular matrix)

(fill-in)

3
(stack)
(queue)
LIFO(Last-In-First-Out)
FIFO(First-In-First-Out)
(top)
(bottom)
(seguentia stack)
(linked stack)
(rear)
(front)
(sequential queue)
(linked queue)
(expression evalution)
(binary operator)
(infix expression)
(unary operator)
(ternary operator)
(postfix expression)
(reverse Polish form)
ISP(In-Stack Precedence)
ICP(InComing Precedence)
(template)
(menu-driven demonstration

program)

(calling function)

(called function)
(recursive)

(recursive calling)

(actual parameter)

(formal parameter)
(stack frame)
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(activation record) (forest)
(system stack) (orchard)
(recursive tree) (ordered forest)

(tail recursion) (full binary tree)

(iteration function) (complete binary tree)

(non-ordered tree)
(ordered tree)

(traverse)
4 (iterateion)
(polynomial) / (threaded binary tree)
(divide and conquer)
5 (internal path length)
(string) (external path length)
(pattern) (weighted path length)
(generalized lists) (Huffman algorithm)
(lists) (Huffman coding tree)
(atom) (Union-Find set)
(head)
(tail) 7
(set)
6 (collection)
(hierarchical data) (member)
(genealogical data) (multi-set)
(tree) (ordered set)
(root) (key)
(subtree) (primary key)
(recursive data structures) (secondary key)
(node) (search)
(path) (table)
(parent) (sequential search)
(child) ASL (Average Search Length)
(sibling) (move-to-front)
(descendent) (transposition)
(ancestor) (binary decision tree)
(degree) (self-organizing list)
(leaf)
(branch) 8
(level) (replace)
(height) (binary search tree)

(binary sort tree)
(balanced binary tree)
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(balance factor)
(internal search)
(external search)

(failure node)

(zigzag rotation)
(splay tree)

9
(skip list)
(hash function)
(hash table)
(collision)
(synonym)
(chaining)
(collision resolution)
(open addressing)
(probing sequence)
(linear probing)
(pseudo-random probing)
(quafratic probing)
(double hashing)
(opening hashing)
(closed hashing)
(primary clustering)
(secondary clustering)
(loading density)

10
(graph)
(edge)
(vertices)
(directed graph)
( tail)
( head)
(aro)
(undirected graph)
(directed graph)
(self loops)
(multigraph)

(complete graph)
(adjacent)
(adjacent to)
(adjacent from)
(incident)
(subgraph )
(path)
(path length)
(simple path)
(cycle)
(connected graph)
(strongly connected graph)
(weakly connected graph)
(connected component)
(acyclic graph)
(strongly connected component)
(degree)
(in-degree)
(out-degree)
(spanning tree)
(spanning forest)
(weight)
(cost)
(network)
(adjacency matrix)
(graph traversal)
(depth first search)
(breadth first search)
(mark bit)
(dfs spanning tree)
(topological sort)

PERT (Performance Evaluation and

Review Technique)
(critical path method CPM)
(activity)

(AoV )(activity on vertex

network)
(transitive)
(irreflexive)
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(topological order)
AOE (Activity On Edge)
(event)
(duration)
(source)
(sink)
(longest path)
(minimun time)
(critical activity)
(reverse topological order)

11
(internal sorting)
(external sorting)
(sortable list)
(stable)
(permutation)
(insertion sorting)
(pass)
(sentinel)
(exchange sort)
(bubble sort)
(quick sort)
(pivot)
(partition)
(merge sort)
(heap sort)
(selection sort)

MSD(Most Significant Digit first)
LSD(Least Significant Digit first)

12
(primary memory)

(secondary storage peripheral storage)
(random access memory)

(direct access)
(sequential access)
(disk)
(platter)

/ (read/write head)
(spindle)
(arm)
(boom)
(track)
(cylinder)
(sector)
(intersector gap)
(seek time)
(lantency time)
(buffering)
(caching)
(page)
(buffer pool)
(logical file)
(file manager)
(physical file)
(cluster)
(block)
(sequentia file)
(hash file)
(bucket)
(replacement selection)
(run)

(software engineering)
(system life cycle)
(analysis)
(design)
(coding or programming)
(testing)
(maintenance)
(methodol ogy)
(structured approach)
(object-oriented approach)
(functional reguirements)
(data requirement)
(performance requirements)



303

(running requirements)
(future requirements)
(specification of user interfaces)
(prototype)
(requirement specification)
(rapid prototype approach )
(subprogram)
(module)
(top-down design)
(hierarchy)
(structure chart)
(loosely coupled)
(highly cohesive)
(structured program)

(sequence)
(selection)
(repetition)
(top-down refinement)
(preliminary specification)
(unit testing )
(integrated testing )
(stub)
(driver)
(validation testing)

(black-box testing)
(white-box testing)
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